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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(ii)

(iii)

(iv)

v)

(vi)

Question paper comprises four sections — A, B, C and D. There are 35
questions in the question paper. All questions are compulsory.

Section A — Question No. 1 to 20 are very short answer type questions,
carrying 1 mark each.

Section B — Question No. 21 to 28 are short answer type questions,
carrying 3 marks each. Answer to each question should not exceed 80
words.

Section C — Question No. 29 to 34 are long answer type questions,
carrying 5 marks each. Answer to each question should not exceed 120
words.

Section D — Question No. 35 is map based carrying 6 marks with two
parts 35(a) from History (2 marks) and 35(b) from Geography
(4 marks).

Answer should be brief and to the point also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal

choice has been provided in few questions. Only one of the choices in
such questions have to be attempted.

(viii) Attach MAP along with your answer-book.
(ix)

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION - A

Which of the following revolutions is called as the first expression of
‘Nationalism’?

A. French Revolution

B. Russian Revolution

C. Glorious Revolution

D. The Revolution of the liberals

Why was the Inland Emigration Act of 1859 troublesome for plantation
workers?

3 P.T.O.
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Why was the Vernacular Press Act passed in 1878?

Or

Why was ‘Gulamgiri’ book written by Jyotiba Phule in 18717

Define the term ‘Veto.’

Or

Define the term ‘Carding.’

Fill in the blank.

Buddhist missionaries from China introduced hand-printing technology

nto around A.D. 768-770.

Or

By 1448, Gutenberg perfected the system of printing. The first book he

printed was the

Why was reading of manuscript not easy in India? Choose the appropriate

reason from the following options :

A.

B
C.
D

Manuscripts were highly cheap.
Manuscripts were widely spread out.

Manuscripts were written in English and Hindi.

. Manuscripts were fragile.

Who were called ‘Chapmen’?

A.
B.
C.

D.

Book seller
Paper seller
Workers of printing press

Seller of ‘penny chap books’

P.T.O.
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8. Fill in the blanks. Vot=1

Types of Resources Examples

A-? Biotic and Abiotic

B-? Renewable and non-renewable
9.  Which is the oldest artificial sea port of India? 1

Or
Which is the deepest, landlocked and well protected sea port of India? 1

10. In which of the following States is Kalpakkam Nuclear Power Plant

located? 1
A. Gujarat
B. Odisha
C. Kerala
D. Tamil Nadu
11. Choose the correct option from columns A and B. 1
A B
(a) Chandrapur thermal power plant (1) Odisha
(b) Mayurbhanj iron ore mines (1) Amarkantak
(c) Kalol oil fields (iii) Gujarat
(d) Bauxite mines (iv) Jharkhand

12. Fill in the blank :

industry is used for manufacturing aircraft, utensils and wires. 1

32/1/1. 7 P.T.O.
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15.

16.

17.
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Which one of the following is a major caste group of Sri Lanka :

A. Christian and Tamil
B. Buddhist and Hindu
C. Sinhali and Tamil

D. Sinhali and Christian

State any one step taken in Belgium to rule out the problem of regional

differences and cultural diversities.

Modern democracies maintain check and balance system. Identify the

correct option based on the horizontal power sharing arrangement.

A. Central government, state government, local bodies.
B. Legislature, executive, judiciary.

C. Among different social groups.

D. Among different pressure groups.

Suggest any one way to protect women from domestic oppression.

Or

Suggest any one way to create communal harmony among various

communities of India.

Choose the incorrect option from column A and column B.

Column A
Category of person

Column B
Developmental goals/Aspirations

(a) Landless rural labourers

(i) More days of work and better
wages

(b) Prosperous farmers from

Punjab

(i) Awvailability of other sources
of irrigation

(¢) Farmers who depend only on
rain for growing crops

(iii)) Assured a higher support

prices for their crops

(d) A rural woman from a land

owning family

(iv) Regular job and high wages
to increase her income

32/1/1.
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18. Study the table and answer the question given below. 1

Some comparative data on Haryana, Kerala and Bihar

State Infant Mortality | Literacy Net Attendance Ratio
Rate per 1,000 | Rate % (per 100 persons) secondary
live births (2016) | 2011 stage (age 14 and 15 years)

2013-14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43

Sources : Economic Survey, 2017-18 Vol. 2, Government of India;
National Sample Survey Organisation (Report No. 575)

Question : In comparison to Kerala which state has the highest infant
mortality rate.

19. Suggest any one way to create employment in semi-rural areas. 1
20. How is GDP calculated? 1
Or
How is Public sector different from Private sector? 1
Section-B

21. Read the source given below and answer the questions that follows:
Source : The Movement in the Towns

The movement started with middle-class participation in the cities.
Thousands of students left government-controlled schools and colleges,
headmasters and teachers resigned, and lawyers gave up their legal
practices. The council elections were boycotted in most provinces except
Madras, where the Justice Party, the party of the non-Brahmans, felt that
entering the council was one way of gaining some power—something that

usually only Brahmans had access to.

11 P.T.O.
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22.

23.

24.

The effects of non-cooperation on the economic frontweremore
dramatic. Foreign goods were boycotted, liquor shops picketed, and
foreign cloth burnt in huge bonfires. The import of foreign cloth halved
between 1921 and 1922, its value dropping from Rs. 102 crore to Rs. 57
crore. In many places merchants and traders refused to trade in foreign
goods or finance foreign trade. As the boycott movement spread, and
people began discarding imported clothes and wearing only Indian ones,

production of Indian textile mills and handlooms went up.

21.1 Explain the role of ‘Justice Party’ in boycotting of council

elections. 1

21.2 How was the effects of ‘non-cooperation on the economic front’

dramatic? 1

21.3 Explain the effect of ‘Boycott’ movement on ‘foreign textile

trade.’ 1

Explain any three effects of population growth in England in the late

eighteenth century. 1x3=3
Or

Why did the export of Indian textile decline at the beginning of the

nineteenth century? Explain any three reasons. 1x3=3

Describe the importance of judicious use of resources. 3
Or

Describe the different steps of ‘resource planning.’ 3

“Efficient means of transport are pre-requisites for fast development of

the country.” Support the statement with examples. 3

13 P.T.O.
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29.

30.
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26.

27.

28.

29.

30.

Describe any three features of ‘federal government.’
Or

Describe any three features of ‘unitary government.’

Mention any three features of ‘secularism’ described in the Indian

Constitution.
Or

Mention the problem of ‘Casteism’ in Indian politics.

Suggest any three ways to maintain Body Mass Index (BMI).

“Tertiary sector activities help in the development of the primary and

secondary sectors.” Evaluate the statement.
Or

“ ‘Primary sector’ was the most important sector of economic activity at

initial stages of development.” Evaluate the statement.
Section-C

How did ideas of national unity in early nineteenth century Europe allied

to the ideology of liberalism? Explain.
Or

How did Greek war of independence mobilise nationalist feelings among

the educated elite across Europe? Explain.

Why is agriculture called the backbone of Indian economy? Explain.

15

1x3=3

1x3=3

1x3=3

1x3=3

P.T.O.
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31.

32.

33.

34.
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33.

34.

Describe any five functions of political party. - 15

‘Democratic system is better than any other form of governments.’

Support the statement with examples.

“Bank plays an important role in the economic development of the
country.” Support the statement with examples.

Or

“Credit sometimes pushes the borrower into a situation from which
recovery is very painful.” Support the statement with examples.

Read the sources given below and answer the questions that follow :
Source A - Production across countries

Until the middle of the twentieth century, production was largely
organised within countries. What crossed the boundaries of these
countries were raw material, food stuff and finished products. Colonies
such as India exported raw materials and food stuff and imported finished
goods. Trade was the main channel connecting distant countries. This was
before large companies called multinational corporations (MNCs)

emerged on the scene.
Source B - Foreign trade and integration of markets

Foreign trade creates an opportunity for the producers to reach beyond the
domestic markets, 1.e., markets of their own countries. Producers can sell
their produce not only in markets located within the country but can also
compete in markets located in other countries of the world. Similarly, for
the buyers, import of goods produced in another country is one way of

expanding the choice of goods beyond what is domestically produced.

17 P.T.O.
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Source C - Impact of globalisation in India

Globalisation and greater competition among producers — both local and
foreign producers — has been of advantage to consumers, particularly the
well-off sections in the urban areas. There is greater choice before these
consumers who now enjoy improved quality and lower prices for several
products. As a result, these people today, enjoy much higher standards of

living than was possible earlier.

Source A - Production across countries

34.1 How are MNCs a major force in connecting the countries of the

world? 1
Source B - Foreign trade and integration of markets
34.2 How does foreign trade become a main channel in connecting
countries? 2
Source C - Impact of globalisation in India
34.3 How is globalisation beneficial for consumers? 2
Section-D
Map Skill Based Question
(a) Two features ‘A’ and ‘B’ are marked on the given political outline
map of India. Identify these features with the help of the following
informations and write their correct names on the lines marked near
them. [x2=2

(A) The place where the Indian National Congress Session was
held.

(B) The place where the movement of Indigo planters was started.

19 P.T.O.
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(b) et FRw Tu R ¥ T Y- 3 Sefifad 3 & el R

I9gh TGl § SRsy 37 3k A T Ix4=4
(i) TER T EIR)

(i) firers AT 3R LT HI

(i) gOI TTFAIL SIS qTeh

(iv) hif=d Y@ g g9

(v) @R Tt = A

(vi) T AT St TIA

Are : FefcTiad we shaer giganfea et o forg v dewn 35 & wm w
2| Torl ©: Tl % I fore 2

35.1 39 T o1 T fefau, Stet Wi TgiE e 3 319 SAfREYE 1920 0

SIDIIEGREDI] 1
35.2 39 U9 1 AW fafau, SEf € i il @t & arct fmam1 i ST

TR g1 1
35.3 36 U4 w1 W faflaw, St stferararen sm e wied g3l 1
35.4 39 TS o1 AW fefay, STeT Tier Jla o fod g | 1
35.5 38 U= 1 A foifgu, Siet fies aen o s w9 fed B 1
35.6 38 U= 1 419 fafau, Sref qor afeed=n et areh feurd 21 1
35.7 39 TSI &l AW fafau, Sl shifa |gg aoq e 2| 1
35.8 38 TST o1 A1 faRaw, SteT seR gt a= e e 2| 1
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(b) Locate and label any four of the following with apprébﬁa e sym

ols

on the same given political outline map of India.

(i) Sardar Sarovar

Dam

(ii) Bhilai

Iron and Steel Plant

(i11) Pune Software Technology Park
(iv) Kochi Major Sea Port
(v) Indore Cotton Textile Industry

(vi) Naraura

Nuclear Power Plant

Note : The following questions are for Visually Impaired Candidates only in

lieu of Q. No. 35. Attempt any six questions.

35.1 Name the State where the session of Indian National Congress was

held in 1920.

35.2 Name the State where the movement of Indigo planters was started.

35.3 Name the State where the Jallianwala Bagh massacre occured.

35.4 Name the State where Sardar Sarovar Dam is located.

35.5 Name the State where Bhilai Iron and Steel plant is located.

35.6 Name the State where Pune Software Technology Park is located.

35.7 Name the State where Kochi ‘Sea Port’ is located.

35.8 Name the State where Indore cotton textile industry is located.

P.T.O.
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four sections — A, B, C and D. There are 35
questions in the question paper. All questions are compulsory.

(ii) Section A — Question No. I to 20 are very short answer type questions,
carrying 1 mark each.

(iii) Section B — Question No. 21 to 28 are short answer type questions,
carrying 3 marks each. Answer to each question should not exceed 80

words.

(iv) Section C — Question No. 29 to 34 are long answer type questions,
carrying 5 marks each. Answer to each question should not exceed 120

words.

(v) Section D — Question No. 35 is map based carrying 6 marks with two
parts 35(a) from History (2 marks) and 35(b) from Geography
(4 marks).

(vi) Answer should be brief and to the point also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in
such questions have to be attempted.

(viii) Attach MAP along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION - A
1. How is GDP calculated?
Or
How is Public sector different from Private sector?
2.  Why did Gandhiji decide to withdraw the Non-Cooperation Movement in

19227

P.T.O.
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Why was the Vernacular Press Act passed in 1878?

Why was ‘Gulamgiri’ book written by Jyotiba Phule in 18717

4.  Study the table and answer the question given below.

Some comparative data on Haryana, Kerala and Bihar

State Infant Mortality
Rate per 1,000
live births (2016)

Literacy
Rate %
2011

Net Attendance Ratio
(per 100 persons) secondary

stage (age 14 and 15 years)
2013-14

Haryana 33

82

61

Kerala 10

94

83

Bihar 38

62

43

Sources : Economic Survey, 2017-18 Vol. 2, Government of India;

National Sample Survey Organisation (Report No. 575)

Question : In comparison to Kerala which state has the highest infant

mortality rate.

5.  Choose the incorrect option from column A and column B.

Column A
Category of person

Column B

Developmental goals/Aspirations

(a) Landless rural labourers

(1) More days of work and better

wages

(b) Prosperous farmers
Punjab

from | (i) Availability of other sources

of irrigation

rain for growing crops

(¢) Farmers who depend only on

(i11)) Assured a higher support

prices for their crops

owning family

(d) A rural woman from a land

(iv) Regular job and high wages

to increase her income

‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘

P.T.O.
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reason from the following options :

A.

B
C.
D

Manuscripts were highly cheap.
Manuscripts were widely spread out.

Manuscripts were written in English and Hindi.

. Manuscripts were fragile.

7.  Who among the following published ‘Punjab Kesri’?

A.

O 0w

Balgangadhar Tilak
Mahatma Gandhi
Bhagat Singh

B.R. Ambedkar

8.  Suggest any one way to protect women from domestic oppression.

Or

Suggest any one way to create communal harmony among various

communities of India.

9. Modern democracies maintain check and balance system. Identify the

correct option based on the horizontal power sharing arrangement.

A.
B.
C.
D.

Central government, state government, local bodies.
Legislature, executive, judiciary.
Among different social groups.

Among different pressure groups.

10. In which one of the following States is Rawatbhata Nuclear Energy Plant

located?

A. Gujarat
B. Kerala

C. Punjab
D. Rajasthan

P.T.O.



1. 3 & dft i T e R £ awen & @ i e
et T hew o1 Ieoig iU 1

12. TR T i gfd it

— UeEd 9 Uy Fffd g w1 ged o1 3Iceeh § 99T ARyl %

SRR SR ERIREDR 1

13.  ‘Terferrr’ sree =t uftTivg s 1
YT

IS 3158 I TRATING HIfSTU| 1

14. i T 1 gfd ifsy
At g TR 768-770 3. F JAH-UME Y hHl DU hl dohdlch ol

ATy 1

AT

TS 3 1448 Toh U1 BUA T TF TR L fordm| 38 51 Tgelt Forame

EIRICE | R— 1
15. Tk Tt ot qui hifs) Vot lo=1
THTYAT o THR 3TET
A-? EERCRECEC]
B-? TR AT T AR A
16. T 1 T8 TTEAaH T T 00 i a1 27 1
reran
T T Tl el T | Tor o qefera st o sl | 27 1

32172, 3



11. State any one step taken in Belgium to rule out the probiéfﬂ 0 r‘rrégﬂiona “
differences and cultural diversities. 1
12. Fill in the blank :
...................... is the largest producer of raw jute and jute goods and stands
at second place as an exporter after Bangladesh. 1
13. Define the term ‘Veto.’ 1
Or
Define the term ‘Carding.’ 1
14. Fill in the blank.
Buddhist missionaries from China introduced hand-printing technology
into around A.D. 768-770. 1
Or
By 1448, Gutenberg perfected the system of printing. The first book he
printed was the 1
15. Fill in the blanks. Votva=1
Types of Resources Examples
A-? Biotic and Abiotic
B-? Renewable and non-renewable
16. Which is the oldest artificial sea port of India? 1
Or
Which is the deepest, landlocked and well protected sea port of India? 1
320172, 9 PT.0.
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17. Which one of the following is a major caste group of Sri Lanka.

A.

B
C.
D

Christian and Tamil
Buddhist and Hindu
Sinhali and Tamil

Sinhali and Christian

18. Fill in the blank :

industry is used for manufacturing aircraft, utensils and wires.

19. Suggest any one way to create employment in rural areas.

20. Choose the correct option from columns A and B.

A B

(a) Chandrapur thermal power plant (i) Odisha

21. “Tertiary sector activities help in the development of the primary and

(b) Mayurbhanj iron ore mines (i1)) Amarkantak

(c) Kalol oil fields (i11) Gujarat

(d) Bauxite mines (iv) Jharkhand
Section-B

secondary sectors.” Evaluate the statement.

“ ‘Primary sector’ was the most important sector of economic activity at

Or

initial stages of development.” Evaluate the statement.

1.32/1/2. 11
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22. Mention any three features of ‘secularism’ described in the India

Constitution. 1x3=3
Or

Mention the problem of ‘Casteism’ in Indian politics. 1x3=3

23. Describe any three features of ‘federal government.’ 1x3=3
Or

Describe any three features of ‘unitary government.’ 1x3=3

24. “Efficient means of transport are pre-requisites for fast development of

the country.” Support the statement with examples. 3

25. Explain any three effects of population growth in England in the late
eighteenth century. 1x3=3
Or
Why did the export of Indian textile decline at the beginning of the

nineteenth century? Explain any three reasons. 1x3=3

26. Read the source given below and answer the questions that follows:

Source : The Movement in the Towns

The movement started with middle-class participation in the cities.
Thousands of students left government-controlled schools and colleges,
headmasters and teachers resigned, and lawyers gave up their legal
practices. The council elections were boycotted in most provinces except
Madras, where the Justice Party, the party of the non-Brahmans, felt that
entering the council was one way of gaining some power—something that

usually only Brahmans had access to.

:32/172.] 13 PT.O.
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27.

28.

29.

The effects of non-cooperation on the economic front were more
dramatic. Foreign goods were boycotted, liquor shops picketed, and
foreign cloth burnt in huge bonfires. The import of foreign cloth halved
between 1921 and 1922, its value dropping from Rs. 102 crore to Rs. 57
crore. In many places merchants and traders refused to trade in foreign
goods or finance foreign trade. As the boycott movement spread, and
people began discarding imported clothes and wearing only Indian ones,
production of Indian textile mills and handlooms went up.

26.1 Explain the role of ‘Justice Party’ in boycotting of council

elections.

26.2 How was the effects of ‘non-cooperation on the economic front’

dramatic?

26.3 Explain the effect of ‘Boycott’” movement on ‘foreign textile

trade’.

Suggest any three ways to improve health and nutritional status of people
in India.

Describe the importance of judicious use of resources.
Or

Describe the different steps of ‘resource planning’.

Section-C

Read the sources given below and answer the questions that follow :
Source A - Production across countries

Until the middle of the twentieth century, production was largely
organised within countries. What crossed the boundaries of these
countries were raw material, food stuff and finished products. Colonies
such as India exported raw materials and food stuff and imported finished
goods. Trade was the main channel connecting distant countries. This was
before large companies called multinational corporations (MNCs)

emerged on the scene.

:32/172.] 15
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Source B - Foreign trade and integration of markets

Foreign trade creates an opportunity for the producers to reach beyond the
domestic markets i.e., markets of their own countries. Producers can sell
their produce not only in markets located within the country but can also
compete in markets located in other countries of the world. Similarly, for
the buyers, import of goods produced in another country is one way of

expanding the choice of goods beyond what is domestically produced.
Source C - Impact of globalisation in India

Globalisation and greater competition among producers — both local and
foreign producers - has been of advantage to consumers, particularly the
well-off sections in the urban areas. There is greater choice before these
consumers who now enjoy improved quality and lower prices for several
products. As a result, these people today, enjoy much higher standards of

living than was possible earlier.

Source A - Production across countries

29.1 How are MNCs a major force in connecting the countries of the

world?
Source B - Foreign trade and integration of markets

29.2 How does foreign trade become a main channel in connecting

countries?
Source C - Impact of globalisation in India

29.3 How is globalisation beneficial for consumers?

/1/2. 17 P.T.O.
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30. Explain any five features of plantation farming. - 1><5=5‘
31. Describe the role of political parties in modern democracy. 5

32. “Democracy plays an important role to accommodate social diversity.”

Support the statement with examples. 5

33. How did ideas of national unity in early nineteenth century Europe allied

to the ideology of liberalism? Explain. 5
Or

How did Greek war of independence mobilise nationalist feelings among

the educated elite across Europe? Explain. 5

34. “Bank plays an important role in the economic development of the

country.” Support the statement with examples. 5
Or
“Credit sometimes pushes the borrower into a situation from which
recovery is very painful.” Support the statement with examples. 5
Section-D

Map Skill Based Question

35. (a) Two features ‘A’ and ‘B’ are marked on the given political outline
map of India. Identify these features with the help of the following
informations and write their correct names on the lines marked near

them. 1x2=2

(A) The place where the Indian National Congress Session was
held.

(B) The place where the movement of Indigo planters was started.

:32/172.] 19 PT.O.
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(b) Locate and label any four of the following with apprébﬁa e sym

ols

on the same given political outline map of India.

(i) Sardar Sarovar

Dam

(ii) Bhilai

Iron and Steel Plant

(i11) Pune Software Technology Park
(iv) Kochi Major Sea Port
(v) Indore Cotton Textile Industry

(vi) Naraura

Nuclear Power Plant

Note : The following questions are for Visually Impaired Candidates only in

lieu of Q. No. 35. Attempt any six questions.

35.1 Name the State where the session of Indian National Congress was

held in 1920.

35.2 Name the State where the movement of Indigo planters was started.

35.3 Name the State where the Jallianwala Bagh massacre occured.

35.4 Name the State where Sardar Sarovar Dam is located.

35.5 Name the State where Bhilai Iron and Steel plant is located.

35.6 Name the State where Pune Software Technology Park is located.

35.7 Name the State where Kochi ‘Sea Port’ is located.

35.8 Name the State where Indore cotton textile industry is located.

/1/2.

P.T.O.




oot OB Aoty .

32172

N C5LACOSECNEICSLAICOSECNEICSLAICOSEC

22




mmemmemmmmmooo-3< Cut Here TE @ WBE —---n-mn----=-==-=-3< Cut Here F& # FF ---mmnmmmmmmmmmmmemmee

Map for Q. No. 35
TR T G&AT 35 o foTu

[k Scale 1115000000 km
/100500 100 200 300 4C0 500
i —]

POLITICAL MAP OF

INDIA

o3 /

5, 1 /
o Ny

[ |
5 .

7

ONEICSLAGOSECNEICSLAGOSECNEIGSLAGOSECNE

FecneicsLac

F
Lae .
Ton osumcoseonecatscasecne csuncoseo

23

P.T.O.



[OFA O]
o
=iy

Series JBB/1/
IOF0]
o (=

A 4.
Roll No

[
i
i

00
=

HIS .

Code No. 32/1 l3
wiegrefl s i IT-YETH o JE-I8
T Ay ford |
Candidates must write the Code on
the title page of the answer-book.

e

Note

() Foa S & o fF 39 yw-u A
ga s 228 |

(I) Please check that this question
paper contains 22 printed pages.

(I) J-93 | 3rfe 719 A 1 fau My
IS TR ! BT IT-YETHT & J@-
gy W o |

(I) Code number given on the right
hand side of the question paper
should be written on the title page
of the answer-book by the

candidate.

(II1) 9= Sie o S foh 38 J99-79 | 35
T &

(IIT) Please check that this question
paper contains 35 questions.

(IV) FuaT I99 &1 I foreqT & &
¥ UgA, IW-YEaeht ¥ T &7
HUTH AT foret |

(IV) Please write down the Serial
Number of the question in the
answer-book before attempting
it.

(V) 39 J%-95 ol TG o 1T 15 fie @
gug fen w21 yH-u 1 o
qatg | 10.15 &1 foRam Sm@ml 10.15
9 ¥ 10.30 S dF D had T -
T @l U IR 39 @MY %k ERH I
ITR-Yfeent § hig I T2 forai|

15 minute time has been allotted to
read this question paper. The
question paper will be distributed at
10.15 am. From 10.15 am. to
10.30 a.m., the students will read
the question paper only and will not
write any answer on the answer-
book during this period.

V)

I ISCRCRIC

ECNEICSLACOSECNEICSLACOSECNECSLACOSECNEICSLACOSECNEISLACOSECNEICSLACOSECNEICSLAIDOSECHEICSLACOSECHEKCSLAICS

Time allowed : 3 hours

STeIHTH 3% : 80
Maximum marks : 80

SECNEICSLAICOSECNECSLAIOSECNE CSLAICOSECNE CSLACOSECHE CSLAICOSECHE CSLACOSECHE RS ACOSECHE N

P.T.O.



B =
o - .

AT (397
HETICTRIT 43T %1 Tga Gradi1 & 916T 371X I7H G177 H1o7T:

(i) ¥o7-97 AR @S] 7 [a91fsa #9171 8 - &, @, 7T d g/ 39 Y-
JvT1 #1 G&IT 35 81 G I97 371 8/

(ii) TS & HIJo7 &I 1 T 20 TF SaTTRIT TFR & J97 &, IA% Jo7 1 3%
F7 &1

(iii) @S @ 8 J97 G&IT 21 G 28 7% TLTIT FHR & T3 & I 4% J97 3 3%
F1 8| Jedeh J97 HT IT TTHT 80 37551  folaa)
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(ix) 3G STANRE, SFTTHATIR, TF GE K 7 & T JI=rd 14337 1a7
7Y &

L32/13.] 2



[l =

i

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four sections — A, B, C and D. There are 35

questions in the question paper. All questions are compulsory.

(ii) Section A — Question No. I to 20 are very short answer type questions,

carrying 1 mark each.

(iii) Section B — Question No. 21 to 28 are short answer type questions,
carrying 3 marks each. Answer to each question should not exceed 80

words.

(iv) Section C — Question No. 29 to 34 are long answer type questions,
carrying 5 marks each. Answer to each question should not exceed 120

words.

(v) Section D — Question No. 35 is map based carrying 6 marks with two
parts 35(a) from History (2 marks) and 35(b) from Geography
(4 marks).

(vi) Answer should be brief and to the point also the above word limit be

adhered to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in

such questions have to be attempted.
(viii) Attach MAP along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.

3| 3 P.T.O.
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SECTION - A

1.  Study the table and answer the question given below. 1

Some comparative data on Haryana, Kerala and Bihar

State Infant Mortality | Literacy Net Attendance Ratio
Rate per 1,000 | Rate % (per 100 persons) secondary
live births (2016) | 2011 stage (age 14 and 15 years)

2013-14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43

Sources : Economic Survey, 2017-18 Vol. 2, Government of India;
National Sample Survey Organisation (Report No. 575)

Question : In comparison to Kerala which state has the highest infant

mortality rate.
2.  Why did Indians oppose the ‘Simon Commission’? 1
3.  Why was the Vernacular Press Act passed in 1878? 1
Or
Why was ‘Gulamgiri’ book written by Jyotiba Phule in 18717 1

4. Which of the following revolutions is called as the first expression of
‘Nationalism’? 1

A. French Revolution
B. Russian Revolution
C. Glorious Revolution
D.

The Revolution of the liberals
5. How is GDP calculated? 1

Or

How is Public sector different from Private sector? 1
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ST ToEE T | feferfad # @ form o1 wepree feran? 1
A. GaTE FIE
B. Y AR
C. USTS hEl
D. wfsH
7. ‘Suna’ foheRT et Srar an? 1
A. T sieH aTal i
B. ISl o9 ATl
C. BUEH H T FHA JTeAl i
D. Tl =u g’ s=H Tl
8. T AQUATEAFT BH ¥ Teid forshed i =¥ Shifsu| 1
@ A @ B
ek <kl STott Torerta o T1em / srTeRTaITd
(a) SIfHE TTEfior Tey () M A 5 fees {1 qon
e g
(b) USTTel o Y fordm (i) To=mE & fau efafes wnemt
sl JueTsUdl
(c) Toram St @t & e shaer i | (iii) forami =61 39t 3us & fore
w i g SATET THH oo
(d) syt ufEr & wh A | (iv) T S ot sem aeigd
Higa I AT g & oI
9. WAl Tl B e ¥ 59 o 7T IS Toh ikt GEsu| 1
AT
A H ToIere GYaTl o s AT9aTRIeh HgHTd ST % %his Teh Aol G| 1
10. T ATOTTeR et we freferfad § 9 form T=ar o fedra 27 1
A. TR
B. AlCH
C. W&
D. ¥
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Which one of the following was published by Raja Ram Mohan Roy?

A. Sambad Kaumudi
B. Shamsul Akhbar
C. Punjab Kesri

D. Chandrika

Who were called ‘Chapmen’?

A. Book seller
Paper seller
Workers of printing press

ocaw

Seller of ‘penny chap books’

Choose the incorrect option from column A and column B.

Column A
Category of person

Column B
Developmental goals/Aspirations

(a) Landless rural labourers

(1) More days of work and better
wages

(b) Prosperous farmers from

Punjab

(i) Awvailability of other sources
of irrigation

(¢) Farmers who depend only on
rain for growing crops

(iii)) Assured a higher
prices for their crops

support

(d) A rural woman from a land
owning family

(iv) Regular job and high wages
to increase her income

Suggest any one way to protect women from domestic oppression.

Or

Suggest any one way to create communal harmony among various

communities of India.

In which one of the following States is Kaiga Nuclear Energy Plant

located?

A. Gujarat
B. Karnataka
C. Punjab

D. Kerala

..32/1/3.
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12.

13.

14.

15.

16.

Modern democracies maintain check and balance system. Identify th
correct option based on the horizontal power sharing arrangement.

A. Central government, state government, local bodies.
B. Legislature, executive, judiciary.
C. Among different social groups.

D. Among different pressure groups.
Fill in the blank :

...................... Industry is the basic industry since all the other industries
heavy, medium and light, depend on it for machinery.

Define the term ‘Veto.’

Define the term ‘Carding.’

Fill in the blank :
Buddhist missionaries from China introduced hand-printing technology
into  around A.D. 768-770.
Or
By 1448, Gutenberg perfected the system of printing. The first book he

printed was the

State any one step taken in Belgium to rule out the problem of regional
differences and cultural diversities.

Which one of the following is a major caste group of Sri Lanka :

A. Christian and Tamil

B. Buddhist and Hindu

C. Sinhali and Tamil

D. Sinhali and Christian

P.T.O.
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17. Fill in the blank :

industry is used for manufacturing aircraft, utensils and wires. 1
18. Choose the correct option from columns A and B. 1
A B
(a) Chandrapur thermal power plant (1) Odisha
(b) Mayurbhanj iron ore mines (i) Amarkantak
(c) Kalol oil fields (iii) Gujarat
(d) Bauxite mines (iv) Jharkhand
19. Suggest any one way to create employment in urban areas. 1
20. Which is the oldest artificial sea port of India? 1
Or
Which is the deepest, landlocked and well protected sea port of India? 1
Section-B
21. Describe any three features of ‘federal government.’ 1x3=3
Or
Describe any three features of ‘unitary government.’ 1x3=3

22. “Tertiary sector activities help in the development of the primary and
secondary sectors.” Evaluate the statement. 3
Or
“ ‘Primary sector’ was the most important sector of economic activity at

initial stages of development.” Evaluate the statement. 3

.32/1/3. 11 P.T.O.
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23. Mention any three features of ‘secularism’ described 1ntheInd1a kkkkkk
Constitution. 1x3=3
Or

Mention the problem of ‘Casteism’ in Indian politics. 1x3=3

24. “Efficient means of transport are pre-requisites for fast development of

the country.” Support the statement with examples. 3

25. Describe the importance of judicious use of resources. 3
Or

Describe the different steps of ‘resource planning.’ 3

26. Explain any three effects of population growth in England in the late

eighteenth century. 1x3=3
Or
Why did the export of Indian textile decline at the beginning of the
nineteenth century? Explain any three reasons. 1x3=3
27. Suggest any three ways to improve public facilities in India. 1x3=3

28. Read the source given below and answer the questions that follows:

Source : The Movement in the Towns

The movement started with middle-class participation in the cities.
Thousands of students left government-controlled schools and colleges,
headmasters and teachers resigned, and lawyers gave up their legal
practices. The council elections were boycotted in most provinces except
Madras, where the Justice Party, the party of the non-Brahmans, felt that
entering the council was one way of gaining some power—something that

usually only Brahmans had access to.

] 13 P.T.O.
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29.

30.

31.

32.

&

The effects of non-cooperation on the economic frontweremore
dramatic. Foreign goods were boycotted, liquor shops picketed, and
foreign cloth burnt in huge bonfires. The import of foreign cloth halved
between 1921 and 1922, its value dropping from Rs. 102 crore to Rs. 57
crore. In many places merchants and traders refused to trade in foreign
goods or finance foreign trade. As the boycott movement spread, and
people began discarding imported clothes and wearing only Indian ones,

production of Indian textile mills and handlooms went up.

28.1 Explain the role of ‘Justice Party’ in boycotting of council

elections.

28.2 How was the effects of ‘non-cooperation on the economic front’

dramatic?

28.3 Explain the effect of ‘Boycott’” movement on ‘foreign textile

trade’.

Section-C

“Bank plays an important role in the economic development of the

country.” Support the statement with examples.

Or

“Credit sometimes pushes the borrower into a situation from which
recovery is very painful.” Support the statement with examples.

Describe any five features of primitive subsistence farming.

Describe the role of opposition party in democracy.

“Democracies lead to peaceful and harmonious life among citizens.”
Support the statement with examples.

15

]
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Read the sources given below and answer the questions thatfollow .
Source A - Production across countries

Until the middle of the twentieth century, production was largely
organised within countries. What crossed the boundaries of these
countries were raw material, food stuff and finished products. Colonies
such as India exported raw materials and food stuff and imported finished
goods. Trade was the main channel connecting distant countries. This was
before large companies called multinational corporations (MNCs)

emerged on the scene.
Source B - Foreign trade and integration of markets

Foreign trade creates an opportunity for the producers to reach beyond the
domestic markets, 1.e., markets of their own countries. Producers can sell
their produce not only in markets located within the country but can also
compete in markets located in other countries of the world. Similarly, for
the buyers, import of goods produced in another country is one way of
expanding the choice of goods beyond what is domestically produced.
Source C - Impact of globalisation in India

Globalisation and greater competition among producers — both local and
foreign producers - has been of advantage to consumers, particularly the
well-off sections in the urban areas. There is greater choice before these
consumers who now enjoy improved quality and lower prices for several
products. As a result, these people today, enjoy much higher standards of

living than was possible earlier.

Source A - Production across countries

33.1 How are MNCs a major force in connecting the countries of the
world?

32173 17 PTO.
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Source B - Foreign trade and integration of markets

33.2 How does foreign trade become a main channel in connecting
countries? 2

Source C - Impact of globalisation in India

33.3 How is globalisation beneficial for consumers? 2

34. How did ideas of national unity in early nineteenth century Europe allied

to the ideology of liberalism? Explain. 5
Or
How did Greek war of independence mobilise nationalist feelings among
the educated elite across Europe? Explain. 5
Section-D

Map Skill Based Question

35. (a) Two features ‘A’ and ‘B’ are marked on the given political outline
map of India. Identify these features with the help of the following
informations and write their correct names on the lines marked near
them. 1x2=2

(A) The place where the Indian National Congress Session was
held.

(B) The place where the movement of Indigo planters was started.

(b) Locate and label any four of the following with appropriate symbols

on the same given political outline map of India. 1x4=4
(1) Sardar Sarovar Dam
(i) Bhilai Iron and Steel Plant
(iii) Pune Software Technology Park
(iv) Kochi Major Sea Port
(v) Indore Cotton Textile Industry
(vi) Naraura Nuclear Power Plant

) 19 P.T.O.
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35.1 39 T o1 T Tl Stet T TSt e 3 319 SAfRETE 1920 §
CIDISGAEDI 1

35.2 39 TS o1 9 TaARay, Sief @ et i Tt i aret fhemt &1 3o

TR AT 1
35.3 38 U9 o1 W fafty, st stferamara st geAr =#ied g3l 1
35.4 39 T o1 AW feflay, STeT aer ste ary fovd 2| 1
35.5 38 U4 o1 A1 faRag, e i AT 3R sedra 9 fea 8| 1
35.6 38 TS 1 0 fARaw, STeT qur aites?R SaTarsi ureh f&d 2| 1
35.7 39 ST 1 9 fIRaT, el it as oo 6@ 2| 1
35.8 39 T o1 AW faiRau, SEf 36R gt 9@ 3am fera 2 1
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Note : The following questions are for Visually Impaired Can‘di‘dé es on y in f

lieu of Q. No. 35. Attempt any six questions.

35.1 Name the State where the session of Indian National Congress was

held in 1920. 1
35.2 Name the State where the movement of Indigo planters was started. 1
35.3 Name the State where the Jallianwala Bagh massacre occured. 1
35.4 Name the State where Sardar Sarovar Dam is located. 1
35.5 Name the State where Bhilai Iron and Steel plant is located. 1
35.6 Name the State where Pune Software Technology Park is located. 1
35.7 Name the State where Kochi ‘Sea Port’ is located. 1
35.8 Name the State where Indore cotton textile industry is located. 1

32173 21 PTO.
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FrafeRaa fdeTt =t aga Tmaarht @ ufew iR 7@ e fif

() I57-97 R @S] § [997f5d 1631 T 8 — %, @, TuF & /
3G 97 7 5o 1 @& 35 & | @ 37 AT 8 |

(ii) WUE-F 4 J97 G111 & 20 TF AATGITIT JHR 3 J97 8 | 9% 5971 3F B3 |

(iii) @UE-& 7§97 Gy 21 T 28 7% TYITHIT FBR & J97 & | % 7 3 37 &1 & | I9%
Y T IT AT 80 ¥sg) 7 171w /|

(iv) @UE-T 4 J97 G&I1 29 @ 34 TF & I70T R & ¥97 & | Jed% J97 5 37% HT & | I 9%
F¥T BT I ATHT 120 75 8 [o7187@ |

(v) TUE-¥ T3 &1 35 HHIA STENRT 8, I8 T97 6 HF F& | 1 1% FIa5r/7 @ (35 37 - 3
37%,) TUT T (35 & - AR 37%) G G&IT & |

(vi) IR GlereT ol figaR GIHT T 3K G1e & ST 1 HFT BT TAGHE T HIrT |

(vii) Fo7-79 & THT T BIF 97 757 8 | 717 o 579 7 Tk ey 7w 73 & | 08 597 &
&cT U &1 faeheq a7 I 17197 |

(viii) FIAE 1 3771 IR GIereT & qref 70 & |

(ix) 3G HARF, IHETFTHATAR, IEAF G K F7 3 G T a7 RT 7T & |

Qvug —<h

1. Treaferiea 5 & =i & foarm wfir 1815 <6t o =& e ?
(a) I H Ficteied 1 T=T T feram |
(b) 3T i I 32 1 F==oT HiT 1 |
(c) IS ! I&eh! qfzee Thar W HEwequl 7T gerreh feu a |

(d) &G I T TEHE & 39 T iU T | 1

2. TS 3 ‘Racirha’ o e 1 gHei 1 foham 7 Uk yg@ et ferflaw | 1

3. ferawd 868 3. § dig sRme g ! gfga fohan 7 1

4. ‘ITE Yoo’ I i TRITYA HIFT | 1
JrerEn

TeATE ST FATR 7 1
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General Instructions :
Read the following instructions very carefully and strictly follow them :
(1) Question paper comprises four Sections, A, B C and D.

There are 35 questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B - question no. 21 to 28 are short answer type questions, carrying 3
marks each. Answer to each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying 5
marks each. Answer to each question should not exceed 120 words.

(v)  Section D — question no. 35 is map based carrying 6 marks with two parts
35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A

1.  Which one of the following was NOT the result of the Treaty of Vienna
1815 ?

(a) The Kingdom of the Netherlands was setup in the North.
(b) Austria was given control of Northern Italy.
(¢) Prussia was given important new territories on its western frontiers.

(d) Russia was given German confederation of 39 states. 1

2. Why did Gandhiji support the ‘Khilafat’ issue ? Write main reason. 1

3. Which country printed the Buddhist Diamond Sutra in 868 A.D. ? 1

4.  Define the term ‘Tariff’. 1
OR

What is a ‘Fly Shuttle’ ? 1

ES———————
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5. ﬁaﬁwﬂﬁﬁw
ifem S vget vt Man § T GUTEhT < 1Y TR | 1
g
Hfeteh Q@i 4 1579 H M A ugefl ___ Tepare o1t | 1

6. fafecrefiss =g 1 W@ § Faq A4 F=&i o1 ? FAfaliad § 8 98 foshed &1 w74
Hif
(a) 3 TE MBI BRI T o | (b) F= THR gRI T~ femarm T |
(c) &S IThR hl T Toceh off | (d) 3 3= e W of | 1

7. “HgU WEH(A A HIHTE il o fU sgeper aiteafadt @i 17 fefafed @ @ s W@
foeheq e A gy Fear e 2
(a) U % ToTd FHICT o Teidehi o TI=RT ST JHR T |
(b) TG A Yfhdr 3T FRFpETG T ST U |
(c) IR A UIGHAT hl HaTE & AT Torag shi il F&hi ol 5T Tear |
(d) HEU TR = had HefA a7 oh T hT THR FohaT | 1

8. 3wy g=A A f=ferfaa arfersht w1 qu it ;
e o JATYR W HTEA] o TR
T IATET / THR
A? TR, dTerrs 31fe
B? feram <t @t <Y S Y+ lh=1

9. TdAdI Wi o qia aTg ufvet e W foenféa fohu MU sq@ aggt u 1 AW foifaw | 1
Jreran

W o 3T - T F19 @ T g0 o1 T ferfew | 1

10. T 3moTfereh Sott @A e @ fpm s o fa @ 7
(a) HAH (b) A (c) dfHeHTg (d) R 1

11. ™ A 9 & B A 4 9E1 fashed o1 == hifee |
WY A W B
(a)  HELHS TIIg 3T hi @M ()  TeRd
(b) =g AT st w (i) @S
(c)  SladrEe h @ (i)  3nfssm
(d) HAA dd & (v) IIHH 1

ES———————
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Fill in the blanks :
The printing press first came to Goa with missionaries. 1
OR
Catholic priests printed the first book in 1579 at Cochin. 1
Why were the ‘Bibliotheque Bleue’ popular in France ? Choose the correct
option from the following :
(a) They were cheap and small books.
(b) They were promoted by the State.
(¢) They were voluminous and colourful.
(d) They were printed on good quality of paper. 1
“Print culture created the conditions within which French Revolution
occurred.” Which one of the following option support this statement ?
(a) Print popularized the ideas of the enlightened thinkers.
(b) Provided a critical commentary on modernity and despotism.
(¢) Print created a new culture of dialogue and debate of clergies.
(d) Print culture spread the views of Nobility only. 1
Fill in the blanks of the following table with suitable information.
Type of Resources : On the basis of Ownership
Resource Examples / Type
A? Grazing grounds, ponds
etc.
B? Cultivated land of Y%+ %=1
farmer.
Name the first major sea port developed soon after Independence on the
Western Coast. 1
OR
Name the inland riverine major sea port of India. 1
In which of the following states Kaiga Nuclear Power plant is located ?
(a) Karnataka (b) Kerala (¢c) Tamil Nadu (d) Telangana 1
Choose correct option from Column A and Column B.
Column A Column B
(a) Mayurbhanj Iron Ore Mines (1) Gujarat
(b) Chandrapura Thermal Power Plant (1) Jharkhand
(c) Bauxite Mines (1)  Odisha
(d) Kalol Oil Fields (iv) Amarkantak 1

ES———————
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12. oo Toe i gfd ifsre
T | fRrq a9 Sl oh JHTE TN o AT ST S 2 |

13. Sfcsan & frar yg@ w9 @ e § @ i i g wmd dierd § 2
(a) WIS (b)) STTWA () ®Higsw (d) THIHE

14. et H AUl o TS 1 THE HRT TIE HIT |

15. TR o = Tadi o TR T Td1 o a1 d&l fashed g |
(a) Tafy= came gl & o
(b) ol gmriores Tvgi & 7
(c) Taenfent, sriuTfersht Ud =madTfctent o Ae
(d) U9 IR, T ThHR Td WM e & ge

16. HfgeT3Tl ol Tel o THM &L S & § THH oad I o foT¢ i3 T gomd fafau |
rera

vt et § gt aftar S | Seerd % o fofu Sis veh gema fofaw |
17. @™ A9 B A gl faeheq o1 w3= i

T A w9 B
(a) USTTE & T9g fepam (i) M T b ATk fe qm Sga qergh
(b) ferE TTHioT Ao (i) R=ms % foru srfafaa aremt 1 Suetedar

() %Hﬁsh@?ﬁﬁs%@aaaq’imﬁﬁi% | (iii) FerermT bl 3eht Iut o foru SorTer Tmei e
(d) &t o R afEr i ueh wAgeht (iv) 38 U4 TS &% TAH TS forerd) 2 |

18. qTfeTeRT okl eI shifow qe i feu mu y9q =51 3T &S
ERATOT, et 3R oER & T8 qeiTeae 3ihs

o

[y

AT R % Frae sufeafa srgum (afd 100
forgy geg TR 1,000 | A R
T S ot (2016) (2011) SfeT) IR (3T 14 qAT 15 )

2013-14
ghmon 33 82 61
A 10 94 83
foER 38 62 43

Hia : 3T Tequr, 2017-18 Sfesd 2, YA TehR, TFH T Feqor @re (Ruvé s 575)
Torm T 1 TTeAaT U Hed (Y 7 7

19. fecfiores emrep sht ot weh mifafafer o faema & fore 18 we Suma gemsu |
20. TS Td SFSd & | 37X TE HIfu |
Ferel
T SRISHTRY & 379 <! T8 ST |

ES———————
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12. Fill in the blank :
1s well known for effective use of wind energy in Rajasthan.

13. Which two languages among the following are prominently spoken by Belgium

Nationals ?

(a) French and English
(¢) Russian and Dutch

(b) Dutch and French
(d) Russian and French

14. Explain the main reason for the alienation of Tamils in Sri Lanka.

15. Identify the correct option of power sharing on the basis of different levels of
government.
(a) Among different pressure groups.

(b) Among different social groups.

(¢) Legislature, Executive and Judiciary.
(d) Union Government, State Government and Local bodies.

16. Suggest any one way to pay equal wages to women in all areas of work as
equal to men.

OR

Suggest any one way to change ‘family laws’ of all religions.

17. Match Column A with Column B and choose the correct option given below :

Column A

Column B

(a) Prosperous farmers from Punjab. (1) More days of work and better wages.
(11) Availability of additional sources of

(b) Landless rural labourers.

(¢) Farmers who depend only on

rain for growing crops.

(d) A girl from a rich urban family.

irrigation facilities.

(111) Higher support prices for their crops
for farmers.

(iv) She gets as much freedom as her brother.

18. Study the table and answer the question that follow :
Some comparative data on Haryana, Kerala and Bihar

Infant Mortality Literacy Net Attendance Ratio (per 100
State Rate per 1,000 live Rate % persons) secondary stage (age 14
births (2016) (2011) and 15 years) 2013-14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Sources : Economic Survey 2017-18 Vol. 2. Government of India ;

National Sample Survey Organisation. (Report No. 575).
Which State has the highest literacy rate ?

19. Suggest any one measure for the development of any activity of
‘Secondary Sector’.

20. Distinguish between ‘Organised’ and ‘Unorganised Sector’.

OR

Explain the meaning of Disguised Unemployment.

ES———————

!
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21.

22.

23.

24.

25.

26.

217.

QuE - @
feu T Eiq <1 ufeu 3T 3Ees i feu e =i o1 I fafgu .
T E i ?

It gfeg T fég U (1909) H werenn mieft 3 et ot fob wwa o forfesr smem
IR o HEANT | & AT g3 o7 3T I I8 36 TgA o R0 I 91 & & | IR IR
o AT 31O HEAT 19 o o ol |1ed 3R b i ferfest smem g8 ST 37 TS Y T 8
STt |

STHEINT 1 To=IR STRI hd S Fhal o1 ? TS 1 Fo1a o1 foh I8 ST w0eg
s T AT &1 ITRT | T8 T&d AN ol TLehR g <1 718 Ueial aiiel et JTeae 37T FLehrl
JrepfE, T, gferd, 3Tererdi, faumt aRwel, el 3R foceh a¥qati i afgshR T 91y |
IR HThR G T TXAT ST & 1 SATIeh Glo-d 3Ta1 ST ot & foRam ST | 1920 6
TR H MefST 3TR iehd 3Teh STRIeH o 1T THeH SJerd g ¢ W H I &hid @ |
(21.1) TSt 3 Wi ® forfest ammsy & o & foe o eferm smmm 2
(21.2) 37U URA |y T ?

(21.3) ITHEIANT ! AT S o fow Tiefsh & foam 1 =g i | 1x3=3
forea1 © s @ < FwTed Kt o Tohegl <fie et bt T <RI | 1x3=3
Wﬁﬁ%@@%wm@awﬁw%Wﬁ@m&wﬁmﬁsﬁ%
Teregi o spTuTt st Tw HifTT | 1x3=3
WA H S[¢ (TeTH) TN < THE 3TTE ol i TH@ TR 1 Fui I | 1x3=3
wmﬁwﬁgﬁwmwmmwww| 1x3=3

“UTA T TSehi o1 fIatul THH Tl 8 |” 38 A h IeTeLvN Aigd g i | 1x3=3

IR S ® aftfa w= g 6t ol @ foivanati 1 aum hife | 1x3=3

AR T o grverfendr i fordl 9 gaenati 1 guH Hifsa | 1x3=3
srqa

T <h1 faenfent # afgensti o 0 gfafafee <6 g =1 9vE hifse | 3

wrterer H fiRrae o g o fote g i U germsv | 3

ES———————
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Section - B
21. Read the source given below and answer the questions that follows :
Why Non-cooperation ?
In his famous book Hind Swaraj (1909) Mahatma Gandhi declared that
British rule was established in India with the cooperation of Indians, and
had survived only because of this cooperation. If Indians refused to
cooperate, British rule in India would collapse within a year, and swaraj
would come.
How could non-cooperation become a movement ? Gandhiji proposed that
the movement should unfold in stages. It should begin with the surrender
of titles that the government awarded, and a boycott of civil services,
army, police, courts and legislative councils, schools, and foreign goods.
Then, in case the government used repression, a full civil disobedience
campaign would be launched. Through the summer of 1920 Mahatma
Gandhi and Shaukat Ali toured extensively, mobilizing popular support
for the movement.
(21.1) What was the weapon of Gandhiji to fight against British Empire in India ?
(21.2) How did the British survive in India ?
(21.3) Explain Gandhiji’s idea for making non-cooperation as movement.
1x3=3

22. Explain any three effects of scraping Corn laws in Britain. 1x3=3
OR
Explain any three reasons for the domination of silk and cotton goods of
India in the International market, before the age of machine industries. 1 x3 =3

23. Describe any three major problems faced by the Jute industry in India. 1x3 =3
OR

Describe any three factors affecting location of industry in a region. 1x3=3

24. “Distribution of roads is not uniform in India.” Support the statement
with examples. 1x3=3

25. Describe any three characteristics of ‘Union List’ mentioned in the Indian

Constitution. 1x3=3
26. Describe any three problems of communalism in Indian politics. 1x3=3
OR
Describe the problems of low representation of women in Indian
legislature. 3
27. Suggest any three measures to improve environmental degradation. 3

ES———————
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28. ‘TS &Ah o HEATIT bl TSR FL&AT % @9 THeTd & 17 39 A 1 qodTshd hie | 3
Jtera
“WTTR T &reh <h1 Feft TEnatl  HH E9 8 Hafg T8 2 W 17 39 B il Yo i | 3

TUg - T

29. THH % TehIehTUr H 3ierar fermeh <t firent i wE Hif | 5
e

3T oh TEhIhUUT H SYcEY Hea1 Shi YfiehT ! TIE HITT | 5

30. WA iy H foheal ule TRNFEhR TR SEUWTd URi %l T HIT | 1x5=5

31. ‘TSI ger’ ol IR hIfT | wRa | TeHIfas gall < aae foheel am gt 1
U HIRT | 1+4=5

32. TfciRaa |l #i 9feu 3R 3ok =l QT 7 AT o IR feTRaT

Hid — A ST, e 3R S we

Alhad H a8 gt oal I Bidl & Tob ST b1 39T Ik T T IR 3T IEehi T
oo SR ® | ah-Sed 3R IYEYE $1 e o fore o ot o ufsker #
et 1 B T™ FH1 ALY dTfeh AT o Ui FHeaR SRR o9 Toh 3T THR AR
1 AT 3 3B WA 2 |

Hid — B anfefe wafg sir fowm

AT et e forenfia <t 37T cATehdifsres ST ool A forehfird <uni & ot &1 3T
TG H1 R | T EH I o Hehdl & fob 30 HIH § SAlehel(eh el qHTRIE! & & fUse |

Hid — C AWTRERT Y TRET SR TS

YR | SAThditreh S 4 HAR 3R Feurd &1 R g8 Sfaai & @rm & J9H gl

3R HHH TTH % g7 ol o T & | 3T ot STifaTa SewTd 37 gHA o 3ETatvT <@ i
e & W 3 98 H I A1 e o T8l BT | Svad: S8 T8 o IAd 3TH AN

39 ARt ATl % Jfd SImer =iehd gu # |

i — A ITEER, er 3R S smem

(32.1)  ATehdllIeh TR TNTHEhT sl T Ifdeh 1T oI o1 fewam S s 2 2 1

S ————
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28. “Workers in the organized sector enjoy security of employment.” Evaluate
the statement. 3
OR
“All the services of the ‘service sector’ are not growing equally well.”
Evaluate the statement. 3
Section - C
29. Explain the role of Otto Von Bismarck in the Unification of Germany. 5
OR
Explain the role of Giuseppe Mazzini in the Unification of Italy. 5

30. Explain any five technological and institutional reforms in the Indian
agriculture. 1x5=5

31. Define ‘Political Party’. Describe any four main challenges faced by the
Indian political parties. 1+4=5

32. Read the following sources and answer the questions that follows :

Source A - Accountable, responsive and legitimate government

In a democracy, we are most concerned with ensuring that people will
have the right to choose their rulers and people will have control over the
rulers. Whenever possible and necessary, citizens should be able to
participate in decision making that affects them all. Therefore, the most
basic outcome of democracy should be that it produces a government that
1s accountable to the citizens, and responsive to the needs and
expectations of the citizens.

Source B - Economic growth and development

The difference in the rates of economic development between less
developed countries with dictatorships and democracies is negligible.
Overall, we cannot say that democracy i1s a guarantee of economic
development. But we can expect democracy not to lag behind dictatorships
in this respect.

Source C - Dignity and freedom of the citizens

Democracy in India has strengthened the claims of the disadvantaged and
discriminated castes for equal status and equal opportunity. There are
instances still of caste-based inequalities and atrocities, but these lack the
moral and legal foundations. Perhaps it is the recognition that makes
ordinary citizens value their democratic rights.

Source A - Accountable, responsive and legitimate government

(32.1) How does democratic government develop mechanism for
e citizens to be the part of political decision making ? 1
1.32/2/1. | 11 P.T.O.



| — B anfdies wglg iR fawm
(32.2)  Tord &2 A &H e Tohd & b Alehaa T forehd o fofw & tar 2 7
39 IR 1 < foigati & w7 IR | 2
Hid — C TRt <t TTRET 3R A=t
(32.3)  ford &g ok ciTehas SAfa <ht TIAT 3T TSI ol S@Tal ¢l & 7 Ush 3ETatvl

o T WY HIVT | 2
33. “aRdr ford o RN & NI Eidi shl U] W TSR Wl 2 |7 39 Y 6l
IeTELvTt Afea gfe Hifre | 5x1=5
ST
“Tr WETIAI HYE hoigN ol KU i i <hl HHE 8 IS H Heg id & | 36 Ho
1 IgTetun afed gfE HIfvT | 5
34. fove AR waA for wehR wvft Sl H qad AR o glown <t € 2 Il |k
fergetyor Hifw | 5x1=5
g -
= sneia a9

35. (a) @ @& ‘A’ 3R B feu U wia % Uil W@-HHtEs | 3ifed fey g |
AT i frfetiad St i TE™ar ¥ Y8e-T 3R 39 T8l 9™ qHfeT |
i< 78 Tgran W fafge
(A) %wﬁwaﬁaﬁmwm 3
(B) o8 TN &l mefsft 3 naaﬁé?wﬁm%ml 1x2=2

(b) gt feu U wa % Terfas tEr-amf o frefeiaa 3 @ feedl = m w1 sweE
%@ﬁmﬁq\%ﬁtwﬁsww

() fe=d —
(i) 3ER lfﬁwm%
(ii) ToeER ATET 3R 39T &9
(v) e GTFeI ST UTeh
(v) =% ST A T
(vi) TR JATTFereh Foll G 4
e wﬁmmmwwﬁ%mmm 35 % WM W, {7l ©:
IW
(35.1) 3G T o1 A forRgu et Sferrtaret amn gemenTe 331 |
(35.2) 38 TIM o1 A TIRgy STl iefish = gt firet wotqii o ver  weamnrg fopar |
(35.3) 3H T %1 AW [ARIT &N WA T TEIA HIUH HT HATeRME 1927 5 3310 T |
(35.4) 39 TS 1 AW feaige &t feadt aig fa g |
(35.5) 3 TS ol A fIRaT &l ¢ oig STh @H 2 |
(35.6) 3 T o1 A1 ferRgu &t KIS IR RERTS R
(35.7) 39 TS 1 AW FARGT T&T AU AFSRR SFIersl dTeh fErd 2 |
(35.8) 3| TS o1 A9 fARaw sraf ==1s Tl va= fua 2 | 1x6=6

ES———————
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Source B - Economic growth and development
(32.2) To what extent we can say democracy work for economic
development ? Elucidate your answer in two points. 2
Source C - Dignity and freedom of the citizens
(32.3) To what extent democracy promote dignity and freedom of
individual ? Elucidate with an example. 2

33. “The Reserve Bank of India supervises the functioning of formal sources of

loans.” Support the statement with examples. bx1=5
OR

“The Self-Help Groups help borrowers to overcome the problem of lack of

collateral security.” Support the statement with examples. 5

34. How does World Trade Organisation facilitate free trade for all countries ?
Analyse with examples. 5x1=5

Section - D

Map Based Question
35. (a) Two features A and B are marked on the given political outline map
of India. Identify these features with the help of the following
informations and write their correct names on the lines marked near
them.
(A) The place where Jallianwalla Bagh incident took place.
(B) The place where Gandhiji organized ‘Satyagraha’ in favour of
cotton mill workers. 1x2=2

(b) Locate and label any four of the following with appropriate symbols
on the same given political outline map of India.

(1) Tehnri —  Dam

(1) Indore - Cotton Textile Industrial Centre

(11) Vijaynagar —  Iron and Steel Plant

(iv) Noida - Software Technology Park

(v) Chennai —  Major Sea Port

(vi) Tarapur - Nuclear Power Plant 4

Note : The following questions are for visually impaired candidates only

in lieu of Q. No. 35. Attempt any six questions.

(35.1) Name the State where Jallianwalla Bagh incident took place.

(35.2) Name the place where Gandhiji organized ‘Satyagraha’ in favour
of cotton mill workers.

(35.3) Name the place where Indian National Congress Session of 1927
took place.

(35.4) Name the State where “T'ehri Dam’ located.

(35.5) Name the State where Durg iron ore mines located.

(35.6) Name the State where Vijaynagar Iron and Steel Plant located.

(35.7) Name the State where Noida Software Technology Park located.

(35.8) Name the State where Chennai sea port located. 1X6=6

ES———————

i
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FreafeiReaa FdeTt =t aga Tmaent 9 Uiy 3R 37t uter i :

() I57-97 R @S] § [997(5d 1631 T 8 — %, @, 7T & /
3G 97 7 5o 1 @& 35 & | @ 37 I 8 |

(ii) @WUE-a& 7 557 G&q71 & 20 7% HIAAGFHIT IHR & 97 8 | §9 Fo7 1 3% HT & |

(iii) @UE-& 7 97 G721 & 28 7% TYITHIT FBR & J97 & | % 7 3 37 &1 & | I9%
Y97 & IR ATHT 80 31551 H 17187 /

(iv) @UE-T 7 J97 G&I7 29 G 34 7% el ITIT bR & F97 & | e F97 5 37 F1 8 | II%
Y T IT AT 120 V1) 7 171w /|

(v) WUS-Y J¥7 G&IT 35 HITIGA STEYTRT &, T8 J97 6 376 F1 8 | 1 1 3lazra @ (35 37 - 3
37F,) TIT YT (35 & - R 37%) G Gafea 8 |

(vi) IR GIRIT T [eGaR &1 TMET 37K T &1 IRIFT 3155 HIHT BT JITTH G177 17T |

(vii) Fo7-79 % THI T FIF 97 757 8 | 717 o 379 7§ ke ey 7w 73 & 1 08 597 &
a7 U &1 faereq &1 3w forf@w |

(viii) FIATE 1 371 IR GIereT & qref 70 & |

(ix) 3G HARF, IHETFTHATAR, IEAF G K F7 3 G T a7 RT 7T & |

@ug —<h

1. Trefcriea 5 & <= & for wfyr 1815 <6t o =& o ?
(a) I H Ficteied 1 T=g T feham mam |
(b)  3rifEea i I g2t w1 =T Hiur R |
(c) T 1 3Eeh! ufyeet & ot HEwargel AT geTeh feu T |

(d) &G I T TEHE & 39 =T iU T | 1

2. SR 1 AY W8 HfT | 1

3. Hifed Ug 3ETfed & | 3TaC o8 I | 1
AU

T SUSHTRY o 371 ol T8 HifSy | 1

U ————

.32/2/2.] 2



[EfE OF0)
= =

General Instructions :
Read the following instructions very carefully and strictly follow them :
(1) Question paper comprises four Sections, A, B C and D.

There are 35 questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B — question no. 21 to 28 are short answer type questions, carrying 3
marks each. Answer to each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying 5
marks each. Answer to each question should not exceed 120 words.
(v)  Section D - question no. 35 is map based carrying 6 marks with two parts

35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A

1.  Which one of the following was NOT the result of the Treaty of Vienna 1815 ?
(a) The Kingdom of the Netherlands was setup in the North.
(b) Austria was given control of Northern Italy.
(c) Prussia was given important new territories on its western frontiers.

(d) Russia was given German confederation of 39 states. 1
2.  Explain the meaning of ‘Begar’. 1
3.  Distinguish between ‘Organised’ and ‘Unorganised Sector’. 1
OR
Explain the meaning of Disguised Unemployment. 1
P g

.| 3 P.T.O.
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Tecfrores & shi foneft weh mifafarter & forepmar & fotu 618 T U™ germsv |

TTfeTeRT T STIIH ShiTaTe qer == feu 7T e w1 3T T
EREATOT, hEet 3R oER & T8 qerTeae 3ihs

o

PR | W R Y% | o e .
T | 1,000 Sifea s (3 100 )

(2016)

(2011) | SR (371g 14 a2 15 9¥) 2013-14

e 33 82 61

HA 10 94 83

fosR 38 62 43
|ia : e FEev, 2017-18 iy 2, WRA TR, TP T To& Te-
(T == 575)

Torm U= <t TemaT L wEE AR B 7

T A 9 5™ B 1 9 &) fareheq o1 =a hifve

W A W B
(a) ST < TG fREM (i) M B o 3Tfereh fe TAT SER weigll
(b) (& TTHIOT HTGl (i) To=rE o fou stfafea aem S Sucrsyar
(c) Toram ST @t & foTU Sharet aT W (111) Tordm1 ont 3ehT 3T o foTu e TmeH
g | A

(d) I AR IFER I Th Aehl  (1v) 3H AU WS o THE TSIE fHetdi 2 |

AfgeT3T sl TES1 < THM & SR & T F0H 9aq 9 o o7 ig us gema fafau |

AU

T} gt | T afER T o Seara % o ot H1E T germa fafaw |
TIHT o Fafir=T Tl o TR W BT < Sean 1 gl foehed 9T |

(a) o= game wwgi & e

(b) ol amTiores Tvg & 7

(c) Taunfem, wriuTfetent ta =madifetsht < A&
(d) T HTHR, T TR Ud WM fHem & ae

T ITfed o gl a1 greaH! qe W faehfa fohe e s@ wgt uoe o1 7w ferfaw |

EDE)
YT o 3T ST T TE Tl o 1 98 forfau |
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Suggest any one measure for the development of any activity of ‘Secondary
Sector’. 1

5.  Study the table and answer the question that follow :
Some comparative data on Haryana, Kerala and Bihar

Infant Mortality | Literacy | Net Attendance Ratio (per 100
State Rate per 1,000 Rate % | persons) secondary stage (age
live births (2016) | (2011) 14 and 15 years) 2013-14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43

Sources : Economic Survey 2017-18 Vol. 2. Government of India ;
National Sample Survey Organisation. (Report No. 575).

Which State has the highest literacy rate ? 1
6. Match Column A with Column B and choose the correct option given below :
Column A Column B
(a) Prosperous farmers from Punjab. (i) More days of work and better
wages.
(b) Landless rural labourers. (11) Availability of additional sources
of irrigation facilities.
(c) Farmers who depend only on (111) Higher support prices for their
rain for growing crops. crops for farmers.
(d) A girl from a rich urban family. (iv) She gets as much freedom as her
brother. 1

7. Suggest any one way to pay equal wages to women in all areas of work as
equal to men. 1
OR

Suggest any one way to change ‘family laws’ of all religions. 1

8.  Identify the correct option of power sharing on the basis of different levels
of government.
(a) Among different pressure groups.
(b) Among different social groups.
(¢) Legislature, Executive and Judiciary.
(d) Union Government, State Government and Local bodies. 1

9. Name the first major sea port developed soon after Independence on the

Western Coast. 1
OR
Name the inland riverine major sea port of India. 1
P g

.| 5 P.T.O.
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11.

12.

13.

14.

15.

16.

17.

18.

SHIHUTTT FTUTTerh Foll G5 frerforRad o=l o 9 fored faa @ 2

(a) TSR (b) HARH
() TSN (d) TET I

e oo 7 868 3. H s sms T 1 gfga fomar 2

‘ITATA I[eeh’ 16g oh! TRITRYT ST |
Jreran
FATS W& FTE 7
et o e v wu & Frafafed 8 @ o € g v derd 8 2
(a) W IS (b) TITH
(c) wH g™ (d) wHT%T

TG -HEIRATG’ 6 oh! SATEAT ST |

fRifem S| vget vget e § v GUTEhI < T TR |
FrEt
Hefetsh Qo 4 1579 | i | Tgei! TendTar BTt |

TofecTaefieh & o1 T H e 3TTereh i o1 ? Fmfoiiad H & 68 foehed o1 == shifa :
(a) I TE MBI AR A A | (b) 3T THR g T=~Id feha 7= |

(c) AT AR hl T Teieh off | (d) 2 37 HTe WY o |

“HgU TEhfd 3 WRIE shifd o fore srjger wifefoar ff 7 frefafea & @ <6 @

fashed HuA I gfE wEaT g ?

(a) U % IoTd FHICH o feidehi o fI=mi sl JHR 3T |

(b) G = 3Mefehar 3R FReprETe Y ST U9 AT |

(c) TR A UGRAT hl HaTe 9 ae-faare i Tt wwhid i S ez |
(d) HEU TR = hadA HedA a7 oh T HT THI ToRAT |

I =1 & Feferiaa aforht shi 90 it :
T % TR W GETEHT o ThR
qEneA 33T / TR
A? TRTE, ATeATs 317fG
B? feram <1 @t <Y S
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10.

11.

12.

13.

14.

15.

16.

17.

18.

In which of the following States is Kakrapara Atomic power plant located ?
(a) Gujarat (b) Karnataka
(¢) Rajasthan (d) Madhya Pradesh

Which country printed the Buddhist Diamond Sutra in 868 A.D. ?

Define the term ‘Tariff’.
OR
What is a ‘Fly Shuttle’ ?

Which two languages among the following are prominently spoken by Belgium
Nationals ?

(a) French and English (b) Dutch and French

(¢) Russian and Dutch (d)  Russian and French

Explain the term ‘majoritarianism’.

Fill in the blanks :

The printing press first came to Goa with missionaries.
OR

Catholic priests printed the first book in 1579 at Cochin.

Why were the Bibliotheque Bleue popular in France ? Choose the correct
option from the following :

(a) They were cheap and small books.

(b) They were promoted by the State.

(¢) They were voluminous and colourful.

(d) They were printed on good quality of paper.

“Print culture created the conditions within which French Revolution
occurred.” Which one of the following option support this statement ?

(a) Print popularized the ideas of the enlightened thinkers.

(b) Provided a critical commentary on modernity and despotism.

(¢c) Print created a new culture of dialogue and debate of clergies.

(d) Print culture spread the views of Nobility only.

Fill in the blanks of the following table with suitable information.
Type of Resources : On the basis of Ownership

Resource Examples / Type
A? Grazing grounds, ponds etc.
B? Cultivated land of farmer. YBb+Y%=1
2/2.| 7 P.T.O.
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19. W™ A 9% B H 8 g8l foshed o1 =3= il |
W A w9 B
(a) TINIARITHBIEH ()  ToRd
(b)  =sgU AT el wa (i) W@
(c)  SlagrEe h @ (ii)  3nfssm
(d) HAA dd & (v) IIHH 1
20. T T 1 gfd AT -
Ty 4 o T Sl o TS T o feTe STAT SITam 8 | 1
Qus —-@
21. “TIISA & o HUATIT bl TSR FR&AT % o1 fietd 8 17 39 o 1 qoiepa hife | 3
Froran

“WTTR T T &k <h1 Feft TEnatl  HH E9 8 Hafg T8 2 W 17 39 Y Wl Yok i | 3
22. WA H 2 (Y28 TN 0 3TE fohegl i1 TG THEAI 1 FUMH HIT | 1x3=3

3erE

Tereft &1 < 3amT 1 wwTferd KA aTet feredt <ffF Sheht o Ui IR | 1x3=3
23. VR Gfag | aftfa w= g 6 o @ forisanati 1 9o hifT | 1x3=3
24. “Tesh oY h AT AR <hl TITel IHeh 3TRIh 37el <51 Geieh B |” 3@ Higd her ol

g T | 1x3=3
25. Teu e Hid i ufeu 37 35eh =t fou mu w1 o1 I fafen -

AT A L ?

I afg qEas fég WU (1909) H warent meft 5 et o1 fo wia # fofewr smem
IR o &N | & AT g3 o7 3T I I8 36 TA o R0 9 91 T & | IR IR
o TN STIHT T8N 998 o & a1 91e7 W) o Wit fsrfewr smem g8 Smem 37k wewet <6 T 8
STt |

JTHEAT 1 T ST S &1 Hehal o1 ? Mefish 1 germa o1 o6 I8 HATgier wueg
T T 3T T TR | T8 T8e! ART bl SRR g &1 718 Ueredt el S =feT 37k awent
ATeRTT, T, qferE, Jrgrerdl, faamit aiwgl, Thetl JHI foeel a3l 1 afgsehr T =iy |
3R FLHR THA 1 TEAT STYAT g a1 SAT9eh Afaa a1 IR ot 376 fomem sme | 1920 &6
Tt W TTES 3TR iehd JTef TG o foTe TR e 5T ¢ W H I hid T/ |
(25.1) TiTefisht 3 wia § fsrfest s @ o & foru fope gi@m smmen ?

(25.2) U IRA | 7 9 ?
(25.3) 3THEANT I JMEI S o foTT Tiefist o fommi ol T Hifu | 1x3=3

U ————
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19.

20.

21.

22.

23.

24.

25.

Choose correct option from Column A and Column B.
Column A Column B
(a) Mayurbhanj Iron Ore Mines (1) Gujarat
(b) Chandrapura Thermal Power Plant (11) Jharkhand
(c) Bauxite Mines (i11)  Odisha
(d) Kalol Oil Fields (iv) Amarkantak

Fill in the blank :
1s well known for effective use of wind energy in Rajasthan.

Section - B
“Workers in the organized sector enjoy security of employment.” Evaluate
the statement.
OR
“All the services of the ‘service sector’ are not growing equally well.”
Evaluate the statement.

Describe any three major problems faced by the Jute industry in India. 1x 3=

Describe any three characteristics of ‘Union List’ mentioned in the Indian

Constitution. 1x3=

“Advancement of international trade of a country is an index to its

economic prosperity.” Support the statement with examples. 1x3=

Read the source given below and answer the questions that follows :

Why Non-cooperation ?
In his famous book Hind Swaraj (1909) Mahatma Gandhi declared that
British rule was established in India with the cooperation of Indians, and
had survived only because of this cooperation. If Indians refused to
cooperate, British rule in India would collapse within a year, and swaraj
would come.

How could non-cooperation become a movement ? Gandhiji proposed that
the movement should unfold in stages. It should begin with the surrender
of titles that the government awarded, and a boycott of civil services,
army, police, courts and legislative councils, schools, and foreign goods.
Then, in case the government used repression, a full civil disobedience
campaign would be launched. Through the summer of 1920 Mahatma
Gandhi and Shaukat Ali toured extensively, mobilizing popular support
for the movement.

(25.1) What was the weapon of Gandhiji to fight against British Empire in India ?
(25.2) How did the British survive in India ?

(25.3) Explain Gandhiji’s idea for making non-cooperation as movement.

1x3=
.| 9 P.T.O.
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2EIG. f51¢1 H T W1 o HHT i o gl o4 TWTall <l T8 IR | 1x3EI=3
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forgi o shrvrt ol Ty e | 1x3=3
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w|ug -1
29. I % TehTeRTUT | SATEra fermTeh <hl yiftrent w1 wg hIf | 5
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30. SR Sfiferrt fatg TR anforfsae Y § SR T HNT | 5x1=5
31. WRE Sia1 aidt <hi fepeel uTr forisanati w1 gvi i | 5

32 ffciRaa |l #i 9feu 3R 36k =l T T AT o I feTRaT

|id — A ITer, Rer i g waa

SArehaa B Tad ! T 718 Bl 8 o6 ST b1 3197 Sk 9 BT SRR 3TN SmEeRi W
TR R ©@ | Th-SEd 3R JUTEHd 31 S o o o ot ol ufsen |
rfierl S T |wem gFT ST darfes Al o I e TR §9 Toh 3T TR aAr
1 Tl 3R 3Efig WM ¢ |

| — B anfdie wafig ik foremm

TATRITE a7t A Terenfird <21t 3T AehdiiIeh SHIEAT Tt A forehfird <31 o &9 T 37T
0 1R | T EH I T Tehd & foh 0 HIH! H Silehdil=ieh sHere aHTemg! § & fUse |
Ald — C ANTRERT ht TR 3R ATset
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TAd & T 3Toh 98 | HALH A1 Al 9 T8 alal | FHad: $ET TEHE W Fed 3TH AN
39 ARt il % Ufd SImer =iehd gu # |

|id — A ITer, Rer i g waa

(32.1)  ATehdlileh TR ANTIEhT bl Tifaeh folg i o1 fewan 8 st 2 2 1

U ————
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26. Explain any three effects of scraping Corn laws in Britain. 1x3=3

Explain any three reasons for the domination of silk and cotton goods of India
in the International market, before the age of machine industries. 1x3=3

27. Suggest any three ways to improve the environmental sustainability. 1x 3 =3

28. Describe any three problems of communalism in Indian politics. 1x3=3
OR
Describe the problems of low representation of women in Indian
legislature. 3
Section - C
29. Explain the role of Otto Von Bismarck in the Unification of Germany. 5
OR
Explain the role of Giuseppe Mazzini in the Unification of Italy. 5

30. Distinguish between primitive subsistence and commercial farming. 5x1=5
31. Describe any five features of Bharatia Janata Party. 5

32. Read the following sources and answer the questions that follows :

Source A - Accountable, responsive and legitimate government

In a democracy, we are most concerned with ensuring that people will
have the right to choose their rulers and people will have control over the
rulers. Whenever possible and necessary, citizens should be able to
participate in decision making that affects them all. Therefore, the most
basic outcome of democracy should be that it produces a government that
1s accountable to the citizens, and responsive to the needs and
expectations of the citizens.

Source B - Economic growth and development

The difference in the rates of economic development between less
developed countries with dictatorships and democracies is negligible.
Overall, we cannot say that democracy is a guarantee of economic
development. But we can expect democracy not to lag behind dictatorships
in this respect.

Source C - Dignity and freedom of the citizens

Democracy in India has strengthened the claims of the disadvantaged and
discriminated castes for equal status and equal opportunity. There are
instances still of caste-based inequalities and atrocities, but these lack the
moral and legal foundations. Perhaps it is the recognition that makes
ordinary citizens value their democratic rights.

Source A - Accountable, responsive and legitimate government
(32.1) How does democratic government develop mechanism for
citizens to be the part of political decision making ? 1

J 11 P.T.O.
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(35.2) 38 TM 1 AW fAIRae STt refish = gt et worgll o vet ® wemrs fora |
(35.3) 3| TJM 1 AW TARGT &l WA UL I T JTREA¥H 1927 H g1 T |
(35.4) 39 TS 1 AW feaiae &t feadt afg fa 2 |
(35.5) 3| U o1 T faRaw <& ¢l oiig SEEh @M ¢ |
(35.6) 3G T o1 A1 forRgu &t RIS IR PR R
(35.7) 3€ U &1 9 foiflay Sief Aiugt digeswm Sorieis qreh {2 |
(35.8) 3| TS o1 A9 foaRaw sraf ==1s Tl vae fua 2 | 1x6=6
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Source B - Economic growth and development
(32.2) To what extent we can say democracy work for economic
development ? Elucidate your answer in two points. 2
Source C - Dignity and freedom of the citizens
(32.3) To what extent democracy promote dignity and freedom of
individual ? Elucidate with an example. 2

33. “The Reserve Bank of India supervises the functioning of formal sources of

loans.” Support the statement with examples. bx1=5
“The Self-Help Groups help borroovirs to overcome the problem of lack of
collateral security.” Support the statement with examples. 5
34. Analyse the effects of globalization in India. bx1=5
Section - D

Map Based Question
35. (a) Two features A and B are marked on the given political outline map
of India. Identify these features with the help of the following
informations and write their correct names on the lines marked near
them.
(A) The place where Jallianwalla Bagh incident took place.
(B) The place where Gandhiji organized ‘Satyagraha’ in favour of
cotton mill workers. 1x2=2
(b) Locate and label any four of the following with appropriate symbols
on the same given political outline map of India.

(1) Tehri — Dam

(1) Indore - Cotton Textile Industrial Centre

(11) Vijaynagar —  Iron and Steel Plant

(iv) Noida - Software Technology Park

(v) Chennai —  Major Sea Port

(vi) Tarapur - Nuclear Power Plant 4

Note: The following questions are for visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions.

(35.1) Name the State where Jallianwalla Bagh incident took place.

(35.2) Name the place where Gandhiji organized ‘Satyagraha’ in favour
of cotton mill workers.

(35.3) Name the place where Indian National Congress Session of 1927
took place.

(35.4) Name the State where “Tehri Dam’ located.

(35.5) Name the State where Durg iron ore mines located.

(35.6) Name the State where Vijaynagar Iron and Steel Plant located.

(35.7) Name the State where Noida Software Technology Park located.

(35.8) Name the State where Chennai sea port located. 1X6=6

(327203, 13 P.T.0.
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GICISRECHE
FreafeRaa FdeTt @t aga Tmaet 9 Uiy 3{R 39t uter i :
(i) ¥o7-97 TR GUS] § [ 13637 T 8 — %, &, TUF & /
5 9797 7 397 #) G 35 F | @it 3o S 8 |
(ii) @WUE-a& 7 557 G&q71 & 20 7% HATGFHIT IHR & 97 8 | §I% Fo7 1 3% HT & |

(i) @UE-@ 7 397 G&I7 21 @ 28 T TYITNT JHR 3 Y97 & | F9F J97 3 37 H1 8 | 9%
397 &7 IR T 80 V5] 8 17RET |/

(iv) TUE-T H J97 &7 29 & 34 TF 5 ITHIT YR & F97 & | J9%F J97 5 3 H & | II%
97 &7 I TTHT 120 Fsg] 7 17w |

(v) TUE-F J97 G&IT 35 HHI=F JTENRA &, T8 F97 6 3% HT 8 | 1 [& 3lae1@ @ (35 37 - @
37%,) TUT T (35 & - AR 37%) G G&IT & |

(vi) IR GIRIT T [eGaR &1 TMET 7R T &1 IRIFT 3155 HIHT BT JITH G177 17T |

(vii) Fo7-T9 7 GHI T H3 (69 781 2 | TT 50 F991 § ATk [45e7 170 70 & | 08 371
BT v &1 fasbeq @1 3w o7l |

(viii) FHITA 1 ST7H1 I GIeTshl @& TreT 78 1 /|

(ix) & AR, SHTFIHATAR, T @S K T 3 G T a7 RT 7T & |

Qvug —<h

1. Trefcriea 5 & <= & for wfyr 1815 <6t o =& o ?
(a) I Y Hfetcled H1 =T Trfud fern I |
(b)  3TifEea i I g2t w1 Frsor Hiur R |
(c) I ol 3geht ufgereht e o el 7T germes fow e |
(d) &G I T HEEH b 39 TsF HiYT =T | 1

U ————
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections, A, B C and D.
There are 35 questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B — question no. 21 to 28 are short answer type questions, carrying 3
marks each. Answer to each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying 5
marks each. Answer to each question should not exceed 120 words.
(v)  Section D - question no. 35 is map based carrying 6 marks with two parts

35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A

1.  Which one of the following was NOT the result of the Treaty of Vienna 1815 ?
(a) The Kingdom of the Netherlands was setup in the North.
(b) Austria was given control of Northern Italy.

(c) Prussia was given important new territories on its western frontiers.

(d) Russia was given German confederation of 39 states. 1
2.  Define the terms ‘indentured labourer’. 1
P g
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3. TR % i Tl & MR T F<A1 & §ea &1 el foehed T |

(a) Tafy= came gl & o

(b) ol gl TvgE & A

(c) Taunfmem, wriuTfetent ta =rmadifctsht < Aed

(d) U9 IHR, T TR T WM (1 & ge 1
4. i3t S Eul % T & S &F § g0 9dq 9 o fo1e 18 s g fafe | 1
AT
vt et § gt uftar S | seera & o fofe SiE veh gema fofaw | 1
5. T A9 B U Y O fased 1 999 FIfT
W A w9 B
(a) IS o TG fpa™ (i) T A o 3Tk TG qT SEat ASIgl
(b) R TTHIOT ARG (ii) o= & foru stfafarm aneqi 6
EECEon
(c) Toram S @eft & fTU Shaet eI W (i) TohETT =BT 3ehT 30 o foAW Samen
g | BERER
(d) T F IR IFER B TH ASHl (1v) 3T 39 TS & THM ] fHeAdl 2 | 1
6. Gnfed ud rEnied & § 37X oY HIfT | 1
A%t
Y= SUSHTRY o 37 ol T8 HIfT | 1

7. dlfeAeht ST 31EAIH HIfTT qer = few mu ge w1 I A
Fhamon, e 31 R 3 o ot iiRs

- 1‘3;30‘1?;“; AR % | o s s (2 100 )
’ (2011) | SR (311 14 7= 15 9¥) 2013-14
(2016)
g 33 82 61
HA 10 94 83
fagr 38 62 43
i ;3T Fee, 2017-18 Sicyd 2, WRA TR, TP T Haaiur §ie-
(feavd g 575)
ore T <Y TTeRaT o wed T B 7 1

[.32/2/3.] 4
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3. Identify the correct option of power sharing on the basis of different levels of

government.

(a) Among different pressure groups.

(b) Among different social groups.

(c) Legislature, Executive and Judiciary.

(d) Union Government, State Government and Local bodies. 1

4. Suggest any one way to pay equal wages to women in all areas of work as
equal to men. 1

OR

Suggest any one way to change ‘family laws’ of all religions. 1

5. Match Column A with Column B and choose the correct option given below :

Column A Column B
(a) Prosperous farmers from Punjab. (i) More days of work and better wages.
(b) Landless rural labourers. (11) Availability of additional sources of
irrigation facilities.
(¢) Farmers who depend only on (111) Higher support prices for their
rain for growing crops. crops for farmers.
(d) A girl from a rich urban family. (iv) She gets as much freedom as her
brother. 1
6. Distinguish between ‘Organised’ and ‘Unorganised Sector’. 1
OR
Explain the meaning of Disguised Unemployment. 1

7.  Study the table and answer the question that follow :

Some comparative data on Haryana, Kerala and Bihar
Infant Mortality | Literacy | Net Attendance Ratio (per
State Rate per 1,000 Rate % | 100 persons) secondary stage
live births (2016) | (2011) | (age 14 and 15 years) 2013-14

Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43

Sources : Economic Survey 2017-18 Vol. 2. Government of India ;
National Sample Survey Organisation. (Report No. 575).

.32/2/3.] 5 P.T.O.
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8. ‘fucfiores ez <t foreft wep nifafafy 3 faepma & fotu =is e 3um gemsw | 1
9. TIdAdI Wl o qid aTg ufvet e W foenféa fohu MU sq@ agt u o1 AW foiflaw | 1
Froran
W oh 3T R T TE WG] I 1 919 fTRaT | 1
10. fr=ferRad usai 8§ @ forod @adt afe i @m fa @ 7
(a) ToEIH (b) dftrerTg
() IWI (d) U9 1
11. ‘3T Yooh’ I76G oh! TRATING ST | 1
arran
FATS ICA TR ? 1
12. TraTwa 868 3. ® sitg sRmE g &1 gfga foan 7 1
13. Sfcsam & frar yq@ w9 @ f=fefaa § @ i i g wmd dierd § 2
(a) e IS (b) SIIHE
(c) THITET d) wHaH 1
14. =1 o &fast faawor o1 379 Tm Hifsu | 1
15. e T 1 gfd T :
Ty | frg T Folt o TS T o foTe ST SITram 8 | 1
16. W™ A 9% B H § g&l foshed o1 w3= il |
A W B
(a) Wﬁgm#@ﬂ @ T
(b)  TEYW AT Sl G (i) FRES
(c) FiFETEe ! WGH (111) NI
(d) A d & (v) 3THch 1
17. 39ged g1 9 ffaRaa arfereht i g Sifae
WTTHed o TR W HETEHT o TehR
e IR / TR
A? ELRIAGISIERE I
B? foram <h Wt <t S Y+ ls=1

18. ‘U5 Tl 3 WiEe shifd & fow sgge aifeufet & 2 fafafes 4 @ &9 @
forehe oM i I8 AT § 2
(a) BURE % Tod AHICH o Terdent o o=l =1 T8R g3 |
(b) TG A Yfhdr 3T TG T ST Ut |
(c) TR UGRIAT i HaTe o a1e-Tearg i Tt F&hid S 5+ e |
(d) U TR A HaA i a7 oh T hT THR FohaT | 1
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Suggest any one measure for the development of any activity of
‘Secondary Sector’.

9. Name the first major sea port developed soon after Independence on the
Western Coast.

(a)
(©

Rajasthan

Uttar Pradesh

OR

Name the inland riverine major sea port of India.

10. In which of the following States i1s Khetri Copper Mines located ?
(b) Tamil Nadu
(d) Punjab

11. Define the term ‘Tariff.

OR

What is a ‘Fly Shuttle’ ?

12. Which country printed the Buddhist Diamond Sutra in 868 A.D. ?

13. Which two languages among the following are prominently spoken by

Belgium Nationals ?
French and English
Russian and Dutch

(a)
(©

14. Explain the meaning of horizontal distribution of power.

15. Fill in the blank :
1s well known for effective use of wind energy in Rajasthan.

16. Choose correct option from Column A and Column B.
Column B

(a)
(b)
(c)
(d)

17. Fill in the blanks of the following table with suitable information.

Column A
Mayurbhanj Iron Ore Mines (1)

Chandrapura Thermal Power Plant  (i1)
Bauxite Mines (111)
Kalol Oil Fields (1v)

Type of Resources : On the basis of Ownership

(b) Dutch and French
(d) Russian and French

Jharkhand

Amarkantak

Resource Examples / Type
A? Grazing grounds, ponds etc.
B? Cultivated land of farmer.

a+le=1

18. “Print culture created the conditions within which French Revolution

occurred.” Which one of the following option support this statement ?
Print popularized the ideas of the enlightened thinkers.
Provided a critical commentary on modernity and despotism.
Print created a new culture of dialogue and debate of clergies.
Print culture spread the views of Nobility only.

(a)
(b)
(c)
(d)

7
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20.

21.

22.

23.

24.

25.

26.
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TofecTaefier & o1 T H e 3TTereh i o1 ? Fmfoiiad H § 68t foehed o1 == shifa :
(a) 3T IR BIE ABR 6T off |
(b) 3= THR gHI W= feharm 7 |
(c) &S IThR hl T Tecteh off |
(d) 3 313 HITS WK off | 1
fSifen S veet vga e 4 o GEehT o ST 3T | 1
AT
Hfeteh GRTET 4 1579 H I | qgel! fepare BT | 1
g -d
WA W ¢ (Y28 TN h THE 3T foheg| 11 THE THEII 1 FUM HIT | 1x3=3
JrerE

Tertlt &1 T 3T bl TTfard i ATt febegil i ShTehl o1 AU <hITTT | 1x3=3
“FATTSA &rTeh oh HHTTIT ol TSHTR L& o AT A & |” 38 e 1 Yoo hiforT | 3

R
“WTTR T &reh <h1 Feft TEnatl  HH E9 8 Hafg T8 2 W 17 39 Y Wl Yoo i | 3
5181 & v T o THT A o Toheal - T bl T8 IR | 1x3=3

AT
TR T o T § el FAUT SR H WA oh EH 3T el IcaTel < ST9TaeTed! 8 b
Toregl <fi<1 STl Sl TIE FHIFT | 1x3=3
“HTCd 1 SToh-HaR a7 Tovd 1 I50H & |” IaTeL0Il Tl e i gfE i | 1x3=3
TR TSTHIf B BTIeTRendt <6t fohegl i Jmenat o1 auH hifs | 1x3=3
AT

i <1 faenfrest & afgensti & wn gfafafca 6 woen o1 9 it | 3
W " 4 afofa w g o6l fopegl i ferrrernatt =61 aoiq hifv | 1x3=3
T  f3reqT o gorr & fote iE e 3um gamsd | 1+2=3

[.32/2/3.] 8



[EfE OF0)
= =

19. Why were the Bibliotheque Bleue popular in France ? Choose the correct
option from the following :

(a) They were cheap and small books.
(b) They were promoted by the State.
(c) They were voluminous and colourful.

(d) They were printed on good quality of paper. 1

20. Fill in the blanks :

The printing press first came to Goa with missionaries. 1
OR
Catholic priests printed the first book in 1579 at Cochin. 1
Section - B
21. Describe any three major problems faced by the Jute industry in India. 1x3=3
OR

Describe any three factors affecting location of industry in a region. 1x3=3

22. “Workers in the organized sector enjoy security of employment.” Evaluate

the statement. 3
OR
“All the services of the ‘service sector’ are not growing equally well.”
Evaluate the statement. 3
23. Explain any three effects of scraping Corn laws in Britain. 1x3=3
OR

Explain any three reasons for the domination of silk and cotton goods of
India in the International market, before the age of machine industries. 1 x3 =3

24. “The Indian postal network is the largest in the world.” Support the

statement with examples. 1x3=3
25. Describe any three problems of communalism in Indian politics. 1x3=3
OR
Describe the problems of low representation of women in Indian
legislature. 3

26. Describe any three characteristics of ‘Union List’ mentioned in the Indian

Constitution. 1x3=3
27. Suggest any three ways to improve education in India. 1+2=3
PP g

|

.32/2/3. 9 P.T.O.
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28.

29.

30.
31.

32
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feu 1w & 1 afen TR 3 = fou ey o1 3w faRay

ST A ?

319t fdrg Taeh fig Taet (1909) § wgrean mieft 4 <har ot fob wra o forfest s v
% TN W & TG g AT 3R AG A T TN < HRUT Ied 9T T 8 | 3R WR-A &b oA
YT FEINT 198 o o ol T1eT WX o ofieR forfesr smrem < S 3R Sy <6t wmoen 2 S |

STHEANT 1 ToaR ST h8l 59 Tehd o1 7 TEAST o1 GITd AT foh I8 SAGIeH wueg
ﬁﬁﬁma@lwﬁ%ﬁaﬁﬁwmaﬁwﬁmvﬁaﬁaﬁ@ﬁw
i, |, gferm, sTererdr, faemdht uftvel, whett 3R fagelt ot =1 afgshr S =1ten |
wmwwwm%ﬁmaﬁwmaﬁmﬁ%ﬂgammuwoaﬁ
Tt W TTES 3TR iehd JTeft TG o foTe TR e 5T o3 W H 9 hid @ |
(28.1) TSt 3 W ® forfest ammy & oied & foe o eferm smmm 2
(28.2) 37U WRA |y T ?

(28.3) ITHEANT ! AT S o fow Tiefsh o foram 1 =g i | 1x3=3
wUg —

STt o TeheRtT § SAfera fereureh shi yiftreht shi T hifC | 5

sﬁ%q@wﬁ@g@iﬁmﬁiﬁwaﬁwaﬁm| 5

WA Sy T ATTehTuT o TNTE <hl ST HIFT | 1x5=5

TR TR 1 a1l shl fohegl wier ferRiwenat o1 9uie shifT | 1x5=5

fraferfaa wat i ufew 3ik 37 i few e aw=t & 3w fafe

Hid — A STEE, R 3Rk du wmeA

Ahas H a8 gt oal a8 Bidl & Tob ST b1 3191 Ik - T IR 3T IEehi T
TR TR ©@ | S-S 3R JUTEHd 31 S o o o ot ol ufsen |
rfierl S T W EHT ST dTfeh AT o Jid fSHeR TR §9 Toh 3T ThR A
I Teal 3 3Efig WM ¢ |

| — B anfdies wglg ok fawm

AHTITE! ITet W ferenfird <xT 3T TATehdiiieh SUaelT aTet A Taehidd < o S ol I
0 1 | T EH I ST Tehd & foh 0 HIH! H Silehdil=ieh sere aHTemg! § & fUse |
A — C AnTieRt Y TRt 3R AT

WA | AhAIh Sl 4 HAFAR 3R HeWTd H1 RIR g3 Sl o @M 6 T0H gl
IR G AT & TTd i 9 {1 2 | 377 Y Arferra Wewre 3T ¢ o IS8T <@ i
fretd € W 3 9ed | St A1 Afqes 9 A8 g1 | e $E JTEHE % Feid 3T A
319 SAThaireh AR o Ui wamer Tehd gUE |

Hid — A STREE, R 3Rk du weA

(32.1) AThdIlIeh TTHR ANTIEhT ohl TS ITch HOTT o T T&am 8 st 8 2 1
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29.

30.
31.
32.

Read the source given below and answer the questions that follows :
Why Non-cooperation ?

In his famous book Hind Swaraj (1909) Mahatma Gandhi declared that British

rule was established in India with the cooperation of Indians, and had survived

only because of this cooperation. If Indians refused to cooperate, British rule in

India would collapse within a year, and swaraj would come.

How could non-cooperation become a movement ? Gandhiji proposed that the

movement should unfold in stages. It should begin with the surrender of titles

that the government awarded, and a boycott of civil services, army, police,

courts and legislative councils, schools, and foreign goods. Then, in case the

government used repression, a full civil disobedience campaign would be

launched. Through the summer of 1920 Mahatma Gandhi and Shaukat Ali

toured extensively, mobilizing popular support for the movement.

(28.1) What was the weapon of Gandhiji to fight against British Empire in India ?

(28.2) How did the British survive in India ?

(28.3) Explain Gandhiji’s idea for making non-cooperation as movement.

1x3=3

Section - C
Explain the role of Otto Von Bismarck in the Unification of Germany. 5
Explain the role of Giuseppe g/llgzzini in the Unification of Italy. 5
Explain the effects of globalization on Indian agriculture. 1x5=5
Describe any five features of Indian National Congress Party. 1x5=5

Read the following sources and answer the questions that follows :
Source A - Accountable, responsive and legitimate government
In a democracy, we are most concerned with ensuring that people will have
the right to choose their rulers and people will have control over the rulers.
Whenever possible and necessary, citizens should be able to participate in
decision making that affects them all. Therefore, the most basic outcome of
democracy should be that it produces a government that is accountable to
the citizens, and responsive to the needs and expectations of the citizens.
Source B - Economic growth and development
The difference in the rates of economic development between less developed
countries with dictatorships and democracies is negligible. Overall, we
cannot say that democracy is a guarantee of economic development. But we
can expect democracy not to lag behind dictatorships in this respect.
Source C - Dignity and freedom of the citizens
Democracy in India has strengthened the claims of the disadvantaged and
discriminated castes for equal status and equal opportunity. There are
instances still of caste-based inequalities and atrocities, but these lack the
moral and legal foundations. Perhaps it is the recognition that makes
ordinary citizens value their democratic rights.
Source A - Accountable, responsive and legitimate government
(32.1) How does democratic government develop mechanism for
citizens to be the part of political decision making ?

J 11 P.T.O.
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(32.2)  TorH &2 b &H e Fehd 2 b cliehaa ATRIeh foaehe o foru o st 2 7
3T I H1 & feigati & Trm Hif | 2

Hid — C ANTHRERI hY TRAT 3R 3T

(32.3)  orE B b ilohad e hi AT 3T TIG=dT hl SQTeT el & ¢ Ush 3cTalul

% |1 TIE HIT | 2
33. ‘Rt Rad s RO b MU= HAl Sl BRIV T A T@d 8 17 39 HA
IeTELvTt Afed gfe Hifre | 5x1=5
rerEn
“TI% TETIAT UG HoIGH <! FHUMHR T HHY hl THET T ITRA H Heg L & |” 38 HoH
1 IgTeTN Higd IE HINT | 5
34. fovawt & ITUEH Hl TH-GR | Fie o o Sgug HHafar i it 1 fagero
HIT | 5
wUE -9
e 3neia 9

35. (a) < @& ‘A’ 3R B feu T wra % Uil W@-AEtEE | 3ifhd fey | e
AN okl TTHARgd THeRI h TRl 8 Y=Y 3T 3 Tgl A1 AHfT W
(A) T8 TIH &l AfTATITAT ST BeAThTS g |
(B) o1& ¥ &l Mt 3 Yt firet worgll o v ° weamwg T | 1x2=2

(b) 3t feu MU vRa % TsHifoe WET-aEt § Frefafaa @ @ 6 =) @ suge
G fegb — oy
(i) 3R R T
(iii) fomR  — <8 3R 3ETa W
(iv) et — WA THTATSH UTeh
(v) == — S HE
(vi) TARIYL —  3ATOTfereR Tl B 4

e : Ffaiaa ae7 hae givanfem udenfe= & fore w97 @@ 35 & W W, 5 9 &
W?aﬁm:
(35.1) 39 TS o1 AW Te1faT gt Sfcraiaren ST gmehis g3 |
(35.2) 38 T 1 A fefaw STar iefish = geft firet weiqll = ved § geamg foha |
(35.3) 3| TN 1 A fotRaT &t Wi TEH i w1 3TREeH 1927 | 377 o |
(35.4) 3H TS o1 AW feafge et feadt aia fm 2 |
(35.5) 39 U= 1 W faIftau 78T ¢ <iig oTsh @M 2 |
(35.6) 3G T o1 A1 feiRgu &t TR «iig 39drq woe fea R |
(35.7) 3€ U 1 9 foiflay Sief Aiugt digeswm SoHieis qreh {2 |
(35.8) 3| TS o1 A9 foaRaw sraf ==1s T va= fua 2 | 1x6=6

U ————
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Source B - Economic growth and development

(32.2)

To what extent we can say democracy work for economic
development ? Elucidate your answer in two points. 2

Source C - Dignity and freedom of the citizens

(32.3)

To_what extent democracy promote dignity and freedom of
individual ? Elucidate with an example.

33. “The Reserve Bank of India supervises the functioning of formal sources of
loans.” Support the statement with examples. bx1=5

OR

“The Self-Help Groups help borrowers to overcome the problem of lack of
collateral security.” Support the statement with examples. 5

34. Analyse the role of Multi-National Corporation (MNCs) in interlinking

product

ion across countries. 5

Section - D
Map Based Question

35. (a) Two features A and B are marked on the given political outline map

of

India. Identify these features with the help of the following

informations and write their correct names on the lines marked near
them.

(A) The place where Jallianwalla Bagh incident took place.

(B) The place where Gandhiji organized ‘Satyagraha’ in favour of

cotton mill workers. 1x2=2

(b) Locate and label any four of the following with appropriate symbols
on the same given political outline map of India.
(1) Tehnri —  Dam
(1) Indore - Cotton Textile Industrial Centre
(i11) Vijaynagar —  Iron and Steel Plant
(iv) Noida - Software Technology Park
(v) Chennai —  Major Sea Port
(vi) Tarapur - Nuclear Power Plant 4

Note: The following questions are for visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions.

(35.1)
(35.2)

(35.3)

(35.4)
(35.5)
(35.6)
(35.7)
(35.8)

Name the State where Jallianwalla Bagh incident took place.

Name the place where Gandhiji organized ‘Satyagraha’ in favour

of cotton mill workers.

Name the place where Indian National Congress Session of 1927
took place.

Name the State where “Tehri Dam’ located.

Name the State where Durg iron ore mines located.

Name the State where Vijaynagar Iron and Steel Plant located.

Name the State where Noida Software Technology Park located.

Name the State where Chennai sea port located. 1X6=6

13 P.T.O.
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frefeRaa fden =6t sga T @ ufen 3k st arer ik :
(i) Y9797 TR @S] 7 [l (a1 7 8 — %, @, T o |
3G Jo777 § v B1 97 35 8 | @t 337 37174 B
(i) TUE-& 7 J97 G&IT1 @ 20 T HATGITRIT IHR 3 J97 & | I 97 1 37 FT 8 |
(iii) GUE-& § 97 G 21 G 28 7% TYITNT JHR & J97 & | I F97 3 37 F1 & |
e J97 BT I TTHT 80 315g] 7 1o7lEw /
(iv) @US-T 7 J97 G&I7 29 & 34 7% &5 FHT bR & J97 & | Y% J97 5 375 FT & |
e 97 T I TTHT 120 Vgl 7 1o77Ew /
(v) TWIE-F J97 G&IT 35 HHIET ETRT 97 &, I8 97 6 3% FT1 & | 1 1% 3lasrag @
(35 37 - 31 37%) TIT YT (35 & - AR 37) T GaIT & |
(vi) IR G T [5GaR ET FMMET R T7el & FRIFT 7765 HIHT T TIRTH TIT 13537 ST < |
(vii) Y9797 5 GHY R H3 faeheq 78] & | a9y o 31 4 37iake faweq 7T 70 8 | 08 goai
7 @7 Uk & [aehed a7 IR [o7ReT |
(viii) FHITA F1 3771 I GIerasT & qre 70 %/
(ix) 3G IHARF, HITFIHATER, T&F GUE K F 3 Grel T a9 fRT 70 & |
e - h
1. 1804 < AWTies |fgar 1 9 fafau, fsoa wiE o+ & @ suskl 3t gufd &
TR T eI S | 1

2. Ty=fafea % @ ferem ‘aw¢ v’ ferar ?
(a) TligY 2R (b) Sfepmers TgrTE™
(c) ITE=TY &R (d) ERHMETY HR 1

3. 3ToNEd! udl I ¥ SHEM % s d5ieh foami @ ufeg aF w1 frefefea § @ &
I HRVTE & ?
(a) T e % Higd =R
(b) BTG 1 e
(c) SHaTH R (fag) 3T hror 4 wf
(d) THETA Pl Tl A $HeRT U fora | 1

4. o fova gg & g1 e gwgi & 9 foafaw | 1
FAoran
g (SS) % 39 91 IEiedi o T fafaw, feR s=fed wd # faumer st
Ty Terfud fehar | 1

R ——————
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) The question paper comprises four Sections, A, B, C and D. There are 35
questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B — question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer of each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer of each question should not exceed 120 words.

(v) Section D - question no. 35 is map based carrying 6 marks with two
parts 35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point, also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions have to be attempted.

(viii)Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A

1. Name the Civil Code of 1804 which established equality before law and
secured the right to property in France. 1

2. Who among the following wrote the Vande Mataram ?
(a) Rabindranath Tagore (b) Bankim Chandra Chattopadhyay
(¢) Abindranath Tagore (d) Dwarkanath Tagore 1

3.  Which one of the following was NOT the reason for the popularity of
scientific ideas among the common people in eighteenth century Europe ?

(a) Printing of ideas of Isaac Newton
(b) Development of printing press
(¢) Interest of people in science and reason

(d) Traditional aristocratic groups supported it 1
4. Name the two hostile groups of Second World War. 1
OR
Name the two industrialists of Bombay who built huge industrial empires
during nineteenth century. 1

O —————

1.32/3/1.| 3 P.T.O.
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=t Tt JAv 4 Igrard) Tgare @ foem @ ffefaa § @ S feked @ g1 o ?

(a) TMETH =T WA |

(b) TS 3 FHETSTeR-3ATTIeh JorTedt F=nfsa i |

(c) Ao o foTT STSTE 3R I o THE Fereh! s |

(d) ST e I = TFATG ! 7 fea | 1

6. “S9 HIE Bih ol & dl WY JUT VS § She Il & |7 I8 Uiog dfea Frfeiiea # &
foram ot 7
(a) gau AfSH (b) Betr@
(c) 3 foameh (d) “gEU Hetedt 1

7. %D Toh HeA A9 & E 2 | 3R FICTRATIER shu w1 =1 HIfT -
1. YTSHA HHISH hl WA 3THT |
2. WA TP R % ATRR AReH H ol Tt 6l AT |
3. YNa AfafEm 1919
4. FIHUTRE HAWE

&) ferehed 1 = I
(1) 3-2-4-1 b) 1-2-4-3
() 2-3-1-4 d 4-3-1-2 1

8. TrfaiRaa arfoerest @t A 3R B w1 W I et fof@d g€ g0 <hife -

Yitee % |eE
4 { 4
[ == | | s | [ = |
& ! !
| wewari | ﬁyﬁm I
{
| et | | B-2 | | =i |
| A2 ] 1
9. FTUYR W W YRA HF W o ©9 H 39 3 | I Srenfireh & fafa 6 sifafg
o oTT hIE Ueh TRt FATST | 1
10. SISETT TishaT STt (. 91.317.) WRa | I 1 Teh 3T 2 | 1
Aa
1 geer, faforeht, tegfim st foem . ST s wia # | 1

R ——————
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5.  Which among the following best signifies the idea of liberal nationalism of
nineteenth century Europe ?
(a) Emphasis on social justice
(b) State planned socio-economic system
(¢) Freedom for individual and equality before law

(d) Supremacy of State oriented nationalism. 1
6. “When France sneezes, the rest of Europe catches cold”. Who among the

following said this popular line ?

(a) Guiseppe Mazzini (b) Matternich

(¢) Otto Von Bismarck (d) Guiseppe Garibaldi 1

7. Certain events are given below. Choose the appropriate chronological
order :
1. Coming of Simon Commission to India
2. Demand of Purna Swaraj in Lahore Session of INC.
3. Government of India Act, 1919
4. Champaran Satyagraha
Choose the correct option :
(a 3-2-4-1 (b) 1-2-4-3
(cp 2-3-1-4 d 4-3-1-2 1

8.  Complete the following table with appropriate terms in places of A and B.

Means of Transportation

! ) 1
| Land | | Water | | Air |
I} fL i I}
| Road | Inlan | i |
oadways waterways Domestic
I
| Railways | | B-? | | International |

.

9. India has emerged as a software giant at the International level. Suggest

any one way to enhance the export of information technology. 1
10. Business Processes Outsourcing (BPO) is an example of industry
in India. 1
OR
Lime stone, silica, alumina and gypsum are the raw materials of
industry. 1

O —————
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11.

12.

13.

14.

15.

16.

17.

= feu T foreht a1 o @&l i dfeU 3TR Hafud HeT 1 41 faRav :
(a) ATk i a1e & faspfid g 2 |
(b) 3rcafere Ferer i afeq B 8 |
(c)  TIH® hl T <H TS STl & |

Tefeh! W o [Tl 3T dTIHH fARaT |
AU
1% o1 Y o TTU 1w Tfties aul hl 7T fIRaT |

Frferfiga st =1 ufew 37t 3He fotw weh iy wree fafaw

q Gfaem 314 gt aeriient < forell o <1 qreid v 3T 9= 6 <l STSIE) et
2 | YR gfaam g9 & A1 9 fopu ST aTel foret 9t o HewTe il 3TH Rl 2 |

TR e s st um ifa o geg § frafafad st w e Hifs
(1) &< =t Terme g T |

(2) &=t < 3retman 3= 21 WINISTI < SIEA WIST 1 €11 fean T g |

(3) Ta=<t & TY-ATY STUSH TSI Sl T IYANT <6l AT Tehell 2 |
FrferRaa o & ot ferspea 1 =r=m il

(a) 133 (b) 132 (c) had 1 (d 1,23W3
= few e w97 & FeET - g8 HUT (A) I BT (R) ¥4 A few M F | HeHl w1 ufer
3R Tt ferehed o1 w5 hifee

T2 A (A) : AhA Teh 99 AT 3 |

@Rt (R) : Tafia, waas 3R T JAmE! 1 gH1 Alshad ohi a1 & |

freea

(8) (A) 3 (R) S T & | (R) T8 Tasiertor & (A) &7 |

(b) (A) AR (R) THI Teal 2 |

© QTS TR THATE R |

d) (A @ TEE, g (R) w2 |

ST b1 AR 3T AT & Tfd TiHIfdes el ol 31feres Iaerf 991 & fou =18 ts
T IS |
AU

@Fﬁgaﬁmﬁaﬁﬁ%%@mﬁﬁ%ﬁﬁwﬁmﬁﬁﬁwaﬁé@m
|

Fr=forRaa wum 1 gt wes fafee

TThTR gRT ST 31T Tfdae ohl B shl Tt S3eiehtol o T & S ST 2 |
AT

LT YT 1Y (37, TH.TF. ) I8 TS 7 FTaehT g9 ST=UERI SR 1 IGR ST 2 |

R ——————
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15.
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Read the following features of a soil and name the related soil :
(a) Develops in high rainfall area
(b) Intense leaching process takes place.
(¢) Humus content is low. 1
Write the temperature requirement of Maize crop. 1
OR
Write the amount of annual rainfall required for the cultivation of Wheat. 1

Read the following information and write a single term for it.

The Constitution of India provides freedom to profess and practice any
religion to all its citizens. The Constitution of India prohibits

discrimination on religious grounds. 1

Consider the following statements regarding language policy of Indian
Federation.

(1) Hindi was identified as the official languge.

(2) Besides Hindi, there are 21 other languages recognized as scheduled languages.
(3) English can be used along with Hindi for official purpose.

Choose the right option from the following :

(a) 1land3 (b) 1and2 (¢) only1l (d 1,2and3 1

In the question given below, there are two statements marked as Assertion
(A) and Reason (R). Read the statements and choose the correct option :
Assertion (A) : Democracy is a legitimate government.

Reason (R) : Regular, free and fair elections are the spirit of democracy.
Options :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are incorrect.

(¢) (A)1s correct, but (R) is incorrect.

(d) (A) 1is incorrect, but (R) is correct. 1

Suggest any one way to make political parties more responsive to the

people’s need and demand. 1
OR

Suggest any one way to promote the public participation in the Political

Parties for enhencing the quality of democracy. 1

Correct the following statement and rewrite it.
Removing barriers or restrictions by the government is known as

Globalisation. 1
OR

International Monetary Fund (IMF) is an organization whose aim is to

liberalise international trade. 1

O —————

1.32/3/1.| 7 P.T.O.
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19.

20.

21.

22.

23.

24.

25.

=
e TR s 3R @ Frferfaa & s i T i g ¢
(a) WRdR T2 s (b) T festel s
(¢) YR anforfres s (d) i s 3T gfosan 1
Fr=faRea o @ Terd faehed =1 9= il
T=i-1 F=i-11
(a) IR (1) s &aeh
(b) TFIAT  (2) WUHF R
(c) wes (3) ik &k
(d) @t (4) TdEH &Th 1
gt STk AT I1eg ol THATYT SHIfTT | 1
R
FTTTAT GV IM&E <! AT SHIFT | 1
g -d 3x8
T shi 3nfeieh 3R Tremifaes feufa w wem fova g o ffganert w1 avf Sifse | 3
R
Tl ST A ¥ T feharri ht fireht w1 i HIfT | 3
g |l o S YR SR foh8 JehR 37T & Tt dverres @1 ? w8 Hif | 3
AT
ot 7t & men 1, forea & rfrema ot o <n A g1 | s il i et s
& ? TE SHifT | 3
‘@t TETeHT S gt e daq Teei & @ TR i o ot T drere e S|
ST EAT |7 SIS T IUTT TS TR 3TehT TITTHI0T 1T | 3
“Inegfeh Tua W TR % & § seerrd shi i s W R |7 39w i gy e afgad
hIfTT | 3
A
‘[ aiEg 6l U TSH TNae hl Tad 3Aeeh & |7 39 YA 61 3¢ewn afgd gfe
<hIfTT | 3
A § Trehglenton o] s o 3ffet w1 auiH Hifa | 3

R ——————

1.32/3/1.] 8



(=] ] [=] ]

= =

18. Which among the following issues currency notes on behalf of the Central
Government ?

(a) State Bank of India (b) Reserve Bank of India
(¢) Commercial Bank of India (d) Union Bank of India 1

19. Choose the incorrect option from the following :
List I List 11
(a) Courier (1) Tertiary Sector
(b) Fisherman (2) Primary Sector
(c) Carpenter (3) Primary Sector

(d) Banker (4) Tertiary Sector 1
20. Define the term Per Capita income. 1
OR

Define the term Literacy rate. 1
Section - B 3x8

21. Describe the implications of First World War on the economic and political
situation of India. 3

OR

Describe the role of poor peasantry in the ‘Civil Disobedience Movement.’ 3

22. How had Indian trade been beneficial for the British during seventeenth

century ? Explain. 3
OR

Why did the elite of Britain prefer hand made goods in the mid-

nineteenth century ? Explain. 3

23. “A concerted effort has to be made in order to use mineral resources in a
planned and sustainable manner.” Suggest and explain any three
measures. 3

24. “The pace of change in the communication sector has been rapid in

modern times.” Support the statement with examples. 3
OR

“Roadways have an edge over Railways.” Support the statement with

examples. 3

25. Describe the rationale behind the implementation of Decentralisation in
India. 3

O —————

1.32/3/1.| 9 P.T.O.



26. = feu e Ea i ufeu 3t 3Ees fi= fog o gw=t o 3o fofiw
TS g o € <1 el A Tereft A o1 CAIhdlioreh ST T o1 QM hid & | $eh1
o= TG &, 37 T&1 I 81 & 3T ToHifas oot ot § | e &1, 3 319 TeTicehi
Pl B FHAE ATHRT 6T TR a8 | b & A a7 dl AR < § T § W
gt feufa, st smfefer Suafey iR Tort Tepfoal o Aol § 3 o UH-gER 9
HTHHT T3 & | TIE 8 Toh 37 Taeh! TAlehdiizieh IMHT SHAEAT & Tdiell W i 318
TSl 8 FR Teh SHTE S 3ueifsd gl o8 gadl Sie i 3¢t e ol e el el @ |

(26.1) Tafi=1 23 & i ciienas & g ATeRY0T 1 T8 HIfST | 1
(26.2) 3TUfeTd 3T IR=feresh TNOMH o TR T TATehdsl o =R ohl T HIfT | 2
27. W ¥ qdiaeh &rfeh Jfereh Hexequl @41 81 W1 8 ? T I | 3
srrat
HHATNET g HIS &5k bl TTAfHehdl &1 < STl & 7 T8 shiferg | 3
28. R fisd deh & Hawa 1 9uiF ST | 3
Qug -1

29. = feu U EG @ ufeu 3R 3T = fer uwat & 3w fofgu
Hid — 1 : enfties GUR 3R Aretfeh g6
I8 I8 T AT ST IS AR g -Gurehi e fég weanfedi & s fauar-gs, ThaEm,
ST iRt 37 Gfd-go S Gl o1 oleht ol 588 31 g5 ot | STet | S8 - 8| <,
AR st dTerg H Yierehlal 3TR SR o ST qg—aXE o deh THTSl o el 3TH ol |
Hid — 2 : ThIYH & 70 &Y
T3 Tifefces faumd, Sq-fia, serfat, g -TsHifas Tad ® oig, I 99 1! i
SRIT T T&ET &9 7T | AT 3TeTT- 3Tl dall § $eai ga! et 3 sta weme,
3R 37 Gt -t faes Mt W et fearn fSaa et W&y a3 gar o |
Hid — 3 : AT 3R qgut
<ffeh AT GURT 3R IU=ATHT = Tgel & AR Sfed 3R wiaanati # foeraedt 9 = @
oft, gaferu wfgerai gr foreh St susid 3 ufe Soge @ a1 & |
A — 1 : T GUR 3R A&k ag8
(29.1)45W 7 WRA | I~&el 9 & W ¥ Ig41 hl Tepfd ! fhd ThR S¢a feam 7
AT ST | 1
ANd — 2 : YhIIH & T0 Eq
(29.2) 39 Thal T TEHA & foh TGU A 75 GAT % ITIHS o GR @It 3T THE e i
farfere foreqa feraor weqa e 2 2
i — 3 : Al 3TN qgut
(29.3) g0 TEH(a I ufgenati o Sfem 3w & i form wiwn a6 sga & wehfa
7 EE I | 2
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217.

28.

29.

Read the sources given below and answer the questions that follow :

Over a hundred countries of the world today claim and practice some kind
of democratic politics: they have formal constitutions, they hold elections,
they have parties and they guarantee rights of citizens. While these
features are common to most of them, these democracies are very much
different from each other in terms of their social situations, their economic
achievements and their cultures. Clearly, what may be achieved or not
achieved under each of these democracies will be very different.

(26.1) Explain the fascination for democracy amongst various countries.
(26.2) Explain democracy on the basis of expected and actual outcome.

Why is the tertiary sector becoming more important in India ? Explain.
OR
Why is organized sector preferrd by the employees ? Explain.

Describe the significance of the Reserve Bank of India.

Section - C

Read the sources given below and answer the questions that follows :
Source — 1 : Religious Reform and Public Debates
There were intense controversies between social and religious reformers
and the Hindu orthodoxy over matters like widow 1mmolation,
monotheism, brahmanical priesthood and idolatry. In Bengal, as the
debate developed, tracts and newspapers proliferated, circulating a
variety of argument.
Source - 2 : New Forms of Publication
New literary forms also entered the world of reading lyrics, short stories,
essays about social and political matters. In different ways, they
reinforced the new emphasis on human lives and intimate feelings, about
the political and social rules that shaped such things.
Source - 3 : Women and Print
Since social reforms and novels had already created a great interest in
women’s lives and emotions, there was also an interest in what women
would have to say about their own lives.
Source - 1 : Religious Reform and Public Debates
(29.1) Evaluate how did the print shape the nature of the debate in the
early nineteenth century in India.
Source - 2 : New Forms of Publication
(29.2) To what extent do you agree that print opened up new worlds of
experience and gave a vivid sense of diversity of human lives ?
Source - 3 : Women and Print
(29.3) To what extent did the print culture reflect a great interest in
women’s lives and emotions ? Explain.

O —————

1.32/3/1.| 11 P.T.O.
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30. JE <l feufa ot gerTfard s ool SAerRt shiteh! <) samean Hifyu | 5
AU

3 T 1 TIT HIRT, e g T ot o STEfiTeh TGuuT hi S ST 66 |
31. “WICRehdl TSHITd § 31 &Y U1 o Fehd] & |” T8 HIRT | 5
32. ATehdilaeh ¢3N B UsHIfdeh el shl STTEIehdT sl 9ui HIfST | 5

Aa

IR | T getl bl GURA o foTu Jomai o1 9o Hifere | 5
33.  “IyIehLul Sh1 IHTd THE &9 § 8] 9ST 2 |” 380N Hied T¥ hifT | 5
34. foera & foru gmofierdn (Taq defir) Tewegel =i 7 7 wrm i | 5

g uE - g
A= sneia g9

35. (a) <IN A 3R B 9Ra % UsHifies {@—aMaa § 3ifed fhy e § | 3% qgEih
3T 3ok TE T, 3ok UTE Gl 78 Wi W fefan
(A) I TAH &l WA TEI - T ST 31 o7 |

(B) 9 T STal fiet ol Wt ot ared ferel 3 Heamrg St femam o | 2
(b) WA % 3E WI-AHA # f=fafad 4 @ fohedl =R =1 3uge fosi @ sifsha Hifsm

3R 3o A ferfia

(i) sfeg —  YqE g9 oo

(i) Hrgredt —  HigesRR iR ureh

(iii) TorsTETR — e 9 e HEI g

(iv) T —  3ATUTTreh Sl EA

(v) <&l — "

(vi) freedogE - FFaUdiE gars we 4

e : FrafeRaa wom wae gieafim wlenfof & for wom wen 35 & wum 2 | R 5w

THAE |  (1x6=6)

(35.1) 3T T o1 M fARgn, S&T et shi Wt oA ot ferd 1 3 Trcmrg 3Trfoid fomam o |
(35.2) 39 TST 1 AW TARaT, STal WA TFR R i HTUEeH faart 1920 § g7 o |
(35.3) 3| TJM 1 A fetfaw et Aferaiiarett S0 geA1 =fed g8 |

(35.4) 3\ UST o1 19 faRaw, &t frearugy S=Righ gam uoa fa 8 |

(35.5) 3| U= o1 19 TR, st arige sTmorfees St T fema 2 |

(35.6) TSRIA | feora Aftearat Trenfireh! uteh 1 41 ferfn |

(35.7) 3| UsT o1 19 TR, st aratmst gl vae fRa 2 |

(35.8) TIH &1 9 3TTd G fohg T | fya 8 2
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30. Explain the factors which are responsible for location of industries. 5
OR
Explain the ways through which the industrial pollution of fresh water
can be reduced. 5
31. ‘Communalism can take various forms in politics.” Explain. 5
32. Describe the necessity of political parties in democratic countries. 5
OR
Describe the efforts to reform political parties in India. 5
33. “The impact of globalization has not been uniform.” Explain with examples. 5
34. Why is sustainability important for development ? Explain. 5
Section - D
Map Based Question
35. (a) Two places A and B are marked on the given political outline map of
India. Identify them and write their correct names on the lines
drawn near them.
(A) The place where Indian National Congress Session was held.
(B) The place where Indigo Planters organized Satyagraha. 2
(b) On the same outline Map of India, locate and label any four of the
following with appropriate symbols :
(1) Haldia —  Major sea port
(11) Mohali - Software technology park
(111) Vijayanagar —  Iron and Steel Industrial Centre
(iv) Naraura —  Nuclear Power Plant
(v) Tehri - Dam
(vi) Thiruvananthapuram — International Airport 4
Note: The following questions are for the visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions. (1 X6=6)

(35.1) Name the state where Indigo Planters organized Satyagraha.
(35.2) Name the state where Indian National Congress session was held

in September 1920.

(35.3) Name the place where Jallianwalla Bagh incident took place.
(35.4) Name the state where Thiruvananthapuram Airport is located.
(35.5) Name the state where Tarapur nuclear power plant is located.
(35.6) Name the Software Technology Park is located in Gujarat.
(35.7) Name the state where Marmagao sea port is located.

(35.8) In which state the Salem — Iron & Steel Plant is located ?

O —————
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frefeRaa fden =6t sga T @ ufen 3k st arer ik :
(i) ¥o7-97 GR @VS] H [G¥1f5a [T T8 — %, &, 7T & /
3G Jo7 § v %1 97 35 8 | @t 737 7174 B
(i) TUE-a& 7 J97 G&IT1 @ 20 T HATGITRIT IHR 3 J97 & | I 97 1 37 FT 8 |
(iii) GUE-& 7 97 G 21 G 28 7% TYITNT JHR & J97 & | I F97 3 37 F1 & |
e J97 HT I TTHT 80 316g) 7 fo7lew /
(iv) TUE—T 7 97 G&I1 29 T 34 7% FH F09 JHR & J97 8 | I J97 5 b 1 3 |
e 97 7T I TTHT 120 Vgl 7 1o77Ew /
(v) TUE-F J97 G&IT 35 HIHI=F AT J97 &, T8 F97 6 37 FT & | 1 [ 3lasid @
(35 37 - 31 37%) TIT YT (35 & - &R 37%) G TFITE |
(vi) IR GIRTeT &7 I6GaR &1 =TT SR G &1 JRIFT 9155 HIHT BT FJETTHE FIe7 195377 ST7
=IeT |
(vii) Y9797 5 GHY R H3 fabeq 78] & | a9y o 31 4 37iake faweq 7T 10 8 | 08 goai
4 &aeT U & faeheq &7 3w 7w |
(viii) FTTA BT 3771 IR GIerasT & qrd 707 & /|

(ix) §G% SR, HTFTHAFIR, &% GUE K T & 1Y T 57 17T 7T & /

Evug —<h

1. §9 1834 ¥ 991 ! 98 W SHIY 7T I[csh 99 1 AW fIRaT |

2. ufd At 3T ITsc ol IRATG ST |

DG
AT T 7 oh! THATNT <hIFT |
3. Tmafafaa 1 @ ad fasmea =1 ==a Hifsw
g1 gR-11
(a) HIER (1) qarIe &=
(b) TG (2) TUfek &FH
() g% (38) WUl &=k
(d) s (4) T &

4. hEH TTHR I 3T F Ffiiad o & i Aie IR g ?

(a) YT W dh
(c) YT ITfuTfIeh sieh
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) The question paper comprises four Sections, A, B, C and D. There are 35
questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B — question no. 21 to 28 are short answer type questions,
carrying 3 marks each. Answer of each question should not exceed 80
words.

(iv) Section C - question no. 29 to 34 are long answer type questions,
carrying 5 marks each. Answer of each question should not exceed 120
words.

(v) Section D - question no. 35 is map based carrying 6 marks with two
parts 35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point, also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions have to be attempted.

(viii)Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A
1. Name the customs union formed at the initiative of Prussia in 1834. 1
2. Define the term Per Capita income. 1
OR
Define the term Literacy rate. 1

3.  Choose the incorrect option from the following :
List I List 11
(a) Courier (1) Tertiary Sector
(b) Fisherman (2) Primary Sector
(c) Carpenter (3) Primary Sector
(d) Banker (4) Tertiary Sector 1

4.  Which among the following issues currency notes on behalf of the Central
Government ?
(a) State Bank of India (b) Reserve Bank of India
(¢c) Commercial Bank of India (d) Union Bank of India 1

O —————
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11.

Tefeh! %W o [T 3T dTIHH fARaT |
AU
1% o1 Y o TTU 1w Tfties aul hl 7T fIRaT |

I UTshaT Sreraldienr (S .31, ara o I 1 Teh 3T 2 |
Froran
<1 v, Taferent, wefir 3k foreem I & F=H A 2 |

Frferfaa swem o1 Tt ek faRau

TThR gRT ST 31T Tfdae ohl B shl TThaT S3eiehtol o I & S ST 2 |
AU

AP YT 1N (3TE.TH. TS, ) I8 HTS & FordehT 323 ST=IgIT SR %1 IR ST B |

ST <h1 STTAIIhdT 3T AT & Tfd THIfdes el ol 31feres IAerf) 991 & fou =18 th

TReAT ST |
e

e shl TUTer | HATrglg &g USHifash gl § AT <l SI=fd =1 I3 Teh 34T
AT |

Wi § wed i Si=fa & fore 1w gama fafew |

frferfiaa o @ fopem o= ATaw’ foran
(a) Ty &R (b) SfpH=S TETE
(c) ITEHIZATY 3T (d) GRHHY AR

= feu Tu He % FeavTi o ufeu 3R Hefed ger o1 am forfau

() 389 ¥ i, faoe 3 giue & fafim sgu@ @ 9 2 |
(i) $Th! B AY WA & |
(ili) ¥ ¥gd TS Bl 2 |

12.

e feu 7T 9 1 HUAT - g HUF (A) IR HROT (R) & &9 A few MU & | HeEi i ufew
3R Tt ferehed o1 w5 hifeT

T2 A (A) : AR Teh 99 AT 7 |

QR) : Trafir, @aa 3T T a1 §H1 Alhad hl HEAT & |

(@) (A) 3 R) I E | (R) T8 T 2 (A) F |
() (A) 3 (R) G Ter £ |

© (AT, TG R) T T |

@ AT, TG R)FEE
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5.  Write the temperature requirement of Maize crop. 1
OR
Write the amount of annual rainfall required for the cultivation of Wheat. 1
6. Business Processes Outsourcing (BPO) is an example of industry
in India. 1
OR
Lime stone, silica, alumina and gypsum are the raw materials of
industry. 1
7. Correct the following statement and rewrite it.
Removing barriers or restrictions by the government is known as
Globalisation. 1
OR
International Monetary Fund (IMF) is an organization whose aim is to
liberalise international trade. 1
8. Suggest any one way to make political parties more responsive to the
people’s need and demand. 1
OR
Suggest any one way to promote the public participation in the Political
Parties for enhencing the quality of democracy. 1
9. Suggest any one way to promote tourism in India. 1
10. Who among the following wrote the Vande Mataram ?
(a) Rabindranath Tagore (b) Bankim Chandra Chattopadhyay
(¢) Abindranath Tagore (d) Dwarkanath Tagore 1

11. Read the features of a soil given below and name the related soil.
(1) It consists of properties of sand, silt and clay.
(11) It 1s described on the basis of age.

(111) It 1s very fertile.

12. In the question given below, there are two statements marked as Assertion
(A) and Reason (R). Read the statements and choose the correct option :
Assertion (A) : Democracy is a legitimate government.
Reason (R) : Regular, free and fair elections are the spirit of democracy.
Options :
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are incorrect.
(¢) (A) 1s correct, but (R) is incorrect.
(d) (A) i1s incorrect, but (R) is correct. 1

O —————
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13. ToREd! Tdl T0U § SHEM % di= A foaml & wfig g &1 frefarfaa & @ &

HI RV TE B 7

(a) & =27 & gfgd foam (b) BUEH I famE

(c) SHarehi e (o) STRBRUT TR (d)  TITETA Fotl ST A SEehT U foraT | 1

14. Toeta fova 35 % gt forieft Tl o = forfiaw | 1
AU
TS (FF3) % 3 & STl % AW fafa, R s g § fomer sfienfies
TSy Tfud fema | 1

15. I~ad 96l 9 § IgRATE! TFATE o foaR & FHefeiiad § & i fehedt § &1 T 7
(a) TS =T TS |
(b) TS 3 G- 3ATTIeh JorTedt F=nfsa <t |
(c) Ao o foTT STSITEY 3R I o THE Fereh! ST |
(d) TSI U 3 TFATE I 54 T | 1

16. ‘I id Bieh oidl & A I¥ Y 3UE H Tehg AT ¢ |” I§ TG Ufed f-faiiad # &
fope a1 ¢
(a) sgEUARFt  (b) et (c) oAerai formmeh (d) <Y THiaTegt 1

17. % T A 1=l €1 T3 & | 3(eI ShIcTshHTIER 568 1 9 T -
1.  HTSHA HHIYH T HRA M |
2. IR TP g % ARR ARSI § ol Tt |t |
3. WRa sfufEm 1919
4. =T GWE

Ta faehed =61 =3 i
(a) 3-2-4-1 b) 1-2-4-3
© 2-3-1-4 d 4-3-1-2 1
18.  f=ferfiad drfetent sl A 3T B €I W 3UgH Ireq fofad §T I IR -
TREE % HIeH
v v v
| P’T || Tf | ?ﬂf |
[om ] [Frem| 7]
!
[ ot | [ B2 | [ sewidm |
1

U ————
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Which one of the following was NOT the reason for the popularity of
scientific ideas among the common people in eighteenth century Europe ?
(a) Printing of ideas of Isaac Newton
(b) Development of printing press
(¢) Interest of people in Science and reason
(d) Traditional aristocratic groups supported it 1
Name the two hostile groups of Second World War. 1

OR

Name the two industrialists of Bombay who built huge industrial empires
during nineteenth century. 1
Which among the following best signifies the idea of liberal nationalism of
nineteenth century Europe ?
(a) Emphasis on social justice
(b) State planned socio-economic system
(¢) Freedom for individual and equality before law
(d) Supremacy of State oriented nationalism. 1
“When France sneezes, the rest of Europe catches cold”. Who among the
following said this popular line ?
(a) Guiseppe Mazzini (b) Matternich
(¢) Otto Von Bismarck (d) Guiseppe Garibaldi 1
Certain events are given below. Choose the appropriate chronological
order :
1. Coming of Simon Commission to India
2.  Demand of Purna Swaraj in Lahore Session of INC.
3. Government of India Act, 1919
4. Champaran Satyagraha
Choose the correct option :
(a 3—-2-4-1 b) 1-2-4-3
) 2-3-1-4 d 4-3-1-2 1

Complete the following table with appropriate terms in places of A and B.

Means of Transportation

v v v
| Land | | Water | | Air |
) fl' i ¢
| Road Inlan | ; |
oadways watefw s Domestic
| Railways | | B-? | | International |

1

O —————
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19. Ty=afafad S 1 ufeu 3 35es foe wes urftes sree forfigu

A Efaem 3793 g amriient <l forefl av <1 et v 3T T=IR ot <hl 3TsIie) <t
2 | IR Ffae o o e W T W aret forefl @t & HewTd i I T 2§ | 1

20. VR T e i umet ifd & gey 1 FefeRaa et w fomm hifsw
(1) &= =t T o T |
(2) Tedt = 3reTman 3= 21 WIS R g A TS T g fe TR R |
(3) &< = Try—Ter TS TSTehIT <HTHT | ITANT <hl ST Hehell B |

frferftaa o & =&t faered &1 === $ifSe
(a) 13MW3 (b) 132 (¢) had 1 (d 1,23MW3 1
TQuE - @ 3x8
21. WA ¥ qiaeh &rfeh Jfereh Hexaqol @41 81 w1 8 ? g i | 3
AT
U g ETSd &7eh sl TTAfiehdT i & STl 8 7 T8 HIfT | 3
22. “3MYfe AT H TOR & & H Seertd <hi Tid oiiel Wl & |7 36 A hi IS Igretvn dfed
iR | 3
Jreran

Ut ufiarg Y 37U TS Uiasd o mear I B 1" s heH h Sgwn Afga g hie 1 3

23. Tehfdeh T I TATGRUT SRS S84 HHT 1T 8 | Heh! TG s & fore 15 fF adieh
GTT 37N 38 T HINT | 3

24. e few v Ea 1 ufew 3R 35 = few T yw=i & 3 ferfta
TS G o ©1 o1 TRl 7 Topell TRg shl AAIshdlizieh e AT o1 el U & | 3R
JMo=ies T &, 37 T&T I 81 & 3T TorHifaes oot ot § | e &1, 3 319 TeTicehi
Pl B A ATHRT 6T TR Sd & | b & A a7 dl SR < § T & W
gt feufa, st smfefer Suwfer iR tort Tepfoal o el # 3 o UH-gER 9
HIH ITAT-ITAT & | T 7 b 37 eoh! SAlhdiizieh IMHT STEAT & Adisi 9 i 3R
TS & A Teh SR S IuCT(sH Bl =8 ghdl SiTe i 3eft e el e st el |
(24.1) TafSr=1 < & <= Al & Tid 3THN T TI8 HIfT |
(24.2) 3TUferq 37T sEaferes TROTE % 3R W Alehddl o fomm @1 w18 $HifvT |

25. WA SRR g 1992 H G o forehiientor < fesm # 331u e, fohel <fiF shemi o1 auig <hifrg |

26. WA 6t 3ATfeh 3R Tifes ferfar w wem fava 3g & fafgare 1 avia i |
3reran
Tl ST A ¥ T fehari ht firept w1 i HifT | 3
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Read the following information and write a single term for it.

The Constitution of India provides freedom to profess and practice any
religion to all its citizens.The Constitution of India prohibits

discrimination on religious grounds.

Consider the following statements regarding language policy of Indian

federation.

(1) Hindi was identified as the official languge.

(2) Besides Hindi, there are 21 other languages recognized as scheduled
languages.

(3) English can be used along with Hindi for official purpose.

Choose the right option from the following :

(a) 1land3 (b) 1and2 (¢) only1l (d 1,2and3

1

Section - B 3x8

Why is the tertiary sector becoming more important in India ? Explain.

OR
Why is organized sector preferrd by the employees ? Explain.
“The pace of change in the communication sector has been rapid in
modern times.” Support the statement with examples.

OR

“Roadways have an edge over Railways.” Support the statement with
examples.

Natural gas is considered an environmental friendly fuel. Suggest and
explain any three ways to make it popular.

Read the sources given below and answer the questions that follow :

Over a hundred countries of the world today claim and practice some kind
of democratic politics: they have formal constitutions, they hold elections,
they have parties and they guarantee rights of citizens. While these
features are common to most of them, these democracies are very much
different from each other in terms of their social situations, their economic
achievements and their cultures. Clearly, what may be achieved or not
achieved under each of these democracies will be very different.

(24.1) Explain the fascination for democracy amongst various countries.
(24.2) Explain democracy on the basis of expected and actual outcome.

Describe any three steps taken by the Indian Government towards
decentralization of power in 1992.

Describe the implications of First World War on the economic and political
situation of India.

OR

Describe the role of poor peasantry in the ‘Civil Disobedience Movement.’

O —————
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27. TAEH! Gl o G YRAT SATIR fohd TehR AU o TTT AT &1 ? T8 IS | 3
AU
I-Nget wdl o qem 1, fsrea & Stied ot o i 3 gl 8 < wfiresan =i
4 7 TE HIf | 3
28. TTHIUT ST H TRl HERIA1 T <l Y{HeRT i TTE HIN | 3
Qug -1
29. I 1 feufd o1 gwTfrd ot 9Tet IR SRRl shl ST SHifNTT | 5
AU
3 ikl ol T8 HIRTT, ek G0 S0 et < ST TGHUT <hl TSR ST &b | 5
30. TATehdifIeh <3N | USHIfdeh el shl STTEIehdT sl IUM <HIfITT | 5
JAra
IR | T getl bl GURA o foTu Jomai o1 9o Hifere | 5
31. “Srfa Torifa # fafay €9 & gendt @ 17 Iergon gfea w8 Hifs | 5
32. “JQyeiehTul s THTE THH &Y H T U1 8 |” IeTe0nl @fgd &8 hifsy | 5

33. = few Tu Ea @1 ufgu 31k 35 = for yeat 3 3o fafae
Hid — 1 : enfifes GUR iR eI ogd
Ig I GHY o1 9 TN R gH-GURH! a1 fig Figanedi & == fauen-ars,
ThHTATE, STV YSiient 3R Afd oo S8 HEi ol oot oSt oigd ot g8 ot | st 8
JH-IY T8 Tell, AR Fgdt qrgrg § YfEashiai 37 @R % ST g -4 & deh
AT o st 3T & |
Hid — 2 : ThIYH & 70 &Y
T3 Tifefcres faumd, Su-fia, serfat, g -TsHifas Tac ® oig, I 99 1! i
i 1 T o T | 31O ST 3T qal H SR e et ST ST e,
3R 37 AT - T ok it W o T fa geht ey @ g o |
Hid — 3 : AT 3R qgut
ffer AT GURi 3R IT=ATEH 3 T8t & A e 3R A3l § feoreredt ¥er o &
oft, gafere wfeemet grr foreh s & smusfit 3 ufa Bqgat ar an & |
Hid — 1 : utfties GuR 3R e agd
(33.1)5W 4 WA H I~&el 9 & W H Ig41 hl Tepfd ! fhd ThR 5¢a feam 7
AT ST | 1

U ————
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27. How had Indian trade been beneficial for the British during seventeenth

century ? Explain. 3

OR

Why did the elite of Britain prefer hand made goods in the mid-

nineteenth century ? Explain. 3
28. Explain the role of Self Help Groups in the rural economy. 3

Section - C
29. Explain the factors which are responsible for location of industries. 5
OR

Explain the ways through which the industrial pollution of fresh water

can be reduced. 5
30. Describe the necessity of political parties in democratic countries. 5

OR

Describe the efforts to reform political parties in India. 5

31. “Caste can take various forms in Politics.” Explain with examples. 5

32. “The impact of globalization has not been uniform.” Explain with
examples. 5

33. Read the sources given below and answer the questions that follows :
Source - 1 : Religious Reform and Public Debates
There were intense controversies between social and religious reformers
and the Hindu orthodoxy over matters like widow immolation,
monotheism, brahmanical priesthood and idolatry. In Bengal, as the
debate developed, tracts and newspapers proliferated, circulating a
variety of argument.
Source - 2 : New Forms of Publication
New literary forms also entered the world of reading lyrics, short stories,
essays about social and political matters. In different ways, they
reinforced the new emphasis on human lives and intimate feelings, about
the political and social rules that shaped such things.
Source - 3 : Women and Print
Since social reforms and novels had already created a great interest in
women’s lives and emotions, there was also an interest in what women
would have to say about their own lives.
Source - 1 : Religious Reform and Public Debates
(33.1) Evaluate how did the print shape the nature of the debate in the
early nineteenth century in India. 1

1.32/3/2. | 11 P.T.O.
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(33.2) 3719 &l % TEH @ b HEUT 5 G-A1 o 3TV % GR @iot IR AFE e 1
farfare foreqa ferawor wreqa foma 2 2
i — 3 : Aige 3R qgut

(33.3) W50 HEfd A3t % Sfaq 3R 7T < fd fope i ae w5 &9 weffa

i ? T8 I | 2
34. fopet <1 o foehmar o AToA 6 foru g, uA €.t g sge ek 1o mueve fohm Wb forva
o 9 =T 2 7 T T | 5
R — g
(wrte= snenfia we)

35. (a) o T A 3R B WRA % TS Wa-wHfs § Jiferd fohu ¢ # | 3= qg=ng
3R 3k He T, Ieh g8 W= 7E {@sn ¢, fafaw
(A) I TAH &l WA TEI - T ST g3 o7 |

(B) o ©IM el it shl @Well e a1t feparmi 2 wreamrg ST femar o | 2
(b) WRA % 3H W@-"Hf # frfafaa @ & fh = = swe fagl @ sifea hifsg

3R 3 A ferfta

@ sfee _ e g T

(i) HrETe —  EiYeS i qreh

(iii) fos=R — 89 39T I g

(iv) T —  3ATUTTreh Sl EA

(v) <&l — 9

(vi) ﬁl"@#ﬂg‘{l{ — mﬂga'réqﬁq 4

e : Frafafaa wwa wae gfanfim udenfo & fore wwa wen 35 & M | 98 B: e

TAFEE | 7(1x6=6)
(35.1) 39 TF &1 M faRge, F&f et 6 Tl a1el fopami 3 gemwg ImEifsa

fepam o |

(35.2) 3 TST 1 AW TRaT, STal W TF R i HTUEeH faamt 1920 § g7 o |
(35.3) 3| T o1 419 frfaw St Sferafaren st gen afed 55 |

(35.4) 3| UsT o1 19 faRaw, &t frearugy s=Righ gam uoa fa 8 |

(35.5) 3| U o1 A9 TR, St arIge SToTfaes Sl w9 fema 2 |

(35.6) TSRIA | feora Afteaat Trenfireh! uteh 1 A1 ferfn |

(35.7) 3| T o1 A9 faaRaw, et araimst ol ua- fRa 2 |

(35.8) TH TAIET 9 3TTd T fopg T | fya B 2

U ————
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Source - 2 : New Forms of Publication
(33.2) To what extent do you agree that print opened up new worlds of
experience and gave a vivid sense of diversity of human lives ? 2
Source - 3 : Women and Print

(33.3) To what extent did the print culture reflect a great interest in
women’s lives and emotions ? Explain. 2

34. How 1s the criterion used by the UNDP different from the World Bank for
measuring the development of a country ? Explain. 5

Section - D
Map Based Questions

35. (a) Two places A and B are marked on the given political outline map of
India. Identify them and write their correct names on the lines
drawn near them.

(A) The place where Indian National Congress Session was held.

(B) The place where Indigo Planters organized Satyagraha. 2
(b) On the same outline Map of India, locate and label any four of the

following with appropriate symbols :

(1) Haldia — Major sea port

(11) Mohali — Software technology park

(111) Vijayanagar — Iron and Steel Industrial Centre
(iv) Naraura — Nuclear Power Plant

(v) Tehri — Dam

(vi) Thiruvananthapuram International Airport 4

Note: The following questions are for the visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions. (1xX6=6)

(35.1) Name the state where Indigo Planters organized Satyagraha.

(35.2) Name the state where Indian National Congress session was held
in September 1920.

(35.3) Name the place where Jallianwalla Bagh incident took place.

(35.4) Name the state where Thiruvananthapuram Airport is located.

(35.5) Name the state where Tarapur nuclear power plant is located.

(35.6) Name the Software Technology Park is located in Gujarat.

(35.7) Name the state where Marmagao sea port is located.

(35.8) In which state the Salem — Iron & Steel Plant is located ?

O —————
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frefeRaa fden =6t sga T @ ufen 3k st arer ik :
(i) ¥o7-97 GR @VS] H [G¥1f5a [T T8 — %, &, 7T & /
3G Jo7 § v %1 97 35 8 | @t 737 7174 B
(i) TUE-a& 7 J97 G&IT1 @ 20 T HATGITRIT IHR 3 J97 & | I 97 1 37 FT 8 |
(iii) GUE-& 7 97 G 21 G 28 7% TYITNT JHR & J97 & | I F97 3 37 F1 & |
e J97 HT I TTHT 80 316g) 7 fo7lew /
(iv) TUE—T 7 97 G&I1 29 T 34 7% FH F09 JHR & J97 8 | I J97 5 b 1 3 |
e 97 7T I TTHT 120 Vgl 7 1o77Ew /
(v) TUE-F J97 G&IT 35 HIHI=F AT J97 &, T8 F97 6 37 FT & | 1 [ 3lasid @
(35 37 - 31 37%) TIT YT (35 & - &R 37%) G TFITE |
(vi) IR GIRTeT &7 I6GaR &1 =TT SR G &1 JRIFT 9155 HIHT BT FJETTHE FIe7 195377 ST7
=IeT |
(vii) Y9797 5 GHY R H3 fabeq 78] & | a9y o 31 4 37iake faweq 7T 10 8 | 08 goai
4 &aeT U & faeheq &7 3w 7w |
(viii) FTTA BT 3771 IR GIerasT & qrd 707 & /|
(ix) 3G JHARF, HTFIHATER, T&F GUE 3K JI7 & GreJ T 1597 3T 10 & /

e - h

1. 59w < Wieaw 9 garses fohed 317 Ue fored w1 e g3, 38eht A faflw | 1
2. hel TR 1 AR FraferRaa & i i e I Far g ¢

(a) W &L s (b) W o s

(¢) YR anforfres s (d) i s 3T gfosan 1
3. Trafefaa a1 wd o fafau

TThR gRT ST 31T Tfdae ohl B shl Tt SYeiehtol o I & S 11 2 | 1

AT

AP YT 1N (3. TH. TS, ) I8 HTS & FordehT 323 ST=IgIT SR %1 IR ST B | 1

4. ‘gfasafke R w1eg i gieTiya SHifv | 1
JrerE
GTEAT ST T6g =h! TR hHifre | 1

RO—————

1.32/3/3. | 2



EE )
= =
General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) The question paper comprises four Sections, A, B, C and D. There are 35
questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B — question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer of each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer of each question should not exceed 120 words.

(v) Section D - question no. 35 is map based carrying 6 marks with two
parts 35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point, also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions have to be attempted.

(viii)Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A

1. Name the ‘Act’ which resulted in the formation of ‘United Kingdom of
Great Britain’. 1

2. Which among the following issues currency notes on behalf of the Central
Government ?

(a) State Bank of India (b) Reserve Bank of India
(¢) Commercial Bank of India (d) Union Bank of India 1

3.  Correct the following statement and rewrite it.
Removing barriers or restrictions by the government is known as

Globalisation. 1
OR
International Monetary Fund (IMF) is an organization whose aim is to
liberalise international trade. 1
4. Define the term Per Capita income. 1
OR
Define the term Literacy rate. 1

1.32/3/3.] 3 P.T.O.
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5. = feu T v < et - g He (A) 3R HROT (R) & w9 feu M | el @1 ufen

IR T fershed o1 == hifvTe

T2 A (A) : AR Th 99 AT 7 |

@Rt (R) : Tafia, was 3R T JAmE! 1 g1 Alshad ohi a1 & |

forerea

(@) (A) M (R) A T&l 7 | (R) Te TIEHWT 8 (A) 7 |

(b) (A) IR R)QH T & |

(© (AT, g R) TATER |

(d) (AT TE 7, W (R) a1 8 | 1
6. Trafafaa d 9 aq faesey =1 == Hifsw

-1 11

(a) HIER (1) dfres &=

(b) TYIM  (2) R b

() ¥es (3) wufieh &=k

(d) s (4) qH &TH 1
7. ST h IR IR T o T Tideh gl bl 3Tfereh ST a9 & ol i Th
T[T GEATST | 1
FAoran

AR <l T H 31l &g TR el § SHEEWITT shl ST <l <hls Teh 3T G3me |
8. WY Tefiy saE ht wmet fifd o gea § ffeiad s w o Hifsw

(1) T =51 Tt 9T TR |

(2) &=t < 3rctman 3= 21 WTWISTH o STEfTA WTST 1 €t fn T g |

(3) Ta<t & T AUSH TSIshIT Sl § 3UFT <Y ST Tehdl # |

o

frafeftaa o @ @@t faseq =1 =@ Hifse
(a) 13R3 (b) 13R2 (c) a1 (d 1,23R3 1
9.  FEAT WIENfTehl o WM ¥ WA H =1 o JaTg o - T & oioht =t T deh Hoted!
T S T D13 Th U TST | 1
10. THIcTRad dTfetshl sl A 3R B THI 9 3Uge ¥1eg foi@d T I ShifoT :
iR % e
{ ! ]
I Wf | | T‘f | | T |
[ g | [omerd) | wq |
I
| i | [ B-2 | [ =g |
1

RO—————
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5. In the question given below, there are two statements marked as Assertion
(A) and Reason (R). Read the statements and choose the correct option :
Assertion (A) : Democracy is a legitimate government.
Reason (R) : Regular, free and fair elections are the spirit of democracy.
Options :
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are incorrect.
(¢) (A)1s correct, but (R) is incorrect.
(d) (A) 1s incorrect, but (R) is correct. 1
6. Choose the incorrect option from the following :
List I List 11
(a) Courier (1) Tertiary Sector
(b) Fisherman (2) Primary Sector
(c) Carpenter (3) Primary Sector

(d) Banker (4) Tertiary Sector 1
7. Suggest any one way to make political parties more responsive to the
people’s need and demand. 1
OR
Suggest any one way to promote the public participation in the Political
Parties for enhencing the quality of democracy. 1

8. Consider the following statements regarding language policy of Indian
Federation.
(1) Hindi was identified as the official languge.
(2) Besides Hindi, there are 21 other languages recognized as scheduled
languages.
(3) English can be used along with Hindi for official purpose.
Choose the right option from the following :

(a) land3 (b) land2 (c) only1l (d 1,2and3 1
9. Suggest any one way to strengthen the flow of information from the
grassroot to the higher level in India through information technology. 1

10. Complete the following table with appropriate terms in places of A and B.

Means of Transportation

v ! v
| Land | | Water | | Air |
[t ] [
Roadw. i
oadways wa;ravr\lfays Domestic
| Railways | | B-? | | Interna,tional |

- 1
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11. i fou mu ger o wtequnt shi ufeu 3R geféa get 1 9 forfen
(i) 39 T T TT AT H AHL T T 2 |

(i) ITHIN T Tg ge Ifieft 37T oraofia 2t 2 |
(iii) 39 g1 § gHE R it <l A w9 B B |

12. Tefaftad o € ferae aw A fomn 7

(a) T MR (b) Sfehas T
(¢) AEHIZAY 3 (d) gGRHMTA HR
13. 3T3Ed Tdl T H FHWT= o o= Infes foami o wfrg g 1 fr=farfaa & & o=
SRR & ?
(a) ¥ = o Gfed fo=m (b) BIUEH T fomrE

(c) SHaHIHE (M) s ProT AR (d)  TRITTa Fefl ST A EehT U foraT |
14. e fova gg & <1 fotieft wggl & 7 forfaw |

sroan
s (SF3) & 39 o STt & I fafay, =i st o @ fawme shenfies
YT TATY foha |

15. 3~ad 98l 39 § IgRATE! TFATE o foaR & Fefeiiad § & i fehedt § &1 T 7
(a) TMETH =T WA |
(b) TS 3 G- AT JorTedt Fnfsa <t |
(c) Ao o foTT STSTE! 3R I o THE Fereh! ST |
(d) TST e I = TFATG ! 7 fea |

16. ‘I 1™ Bieh oidl & A I¥ Y 3UE H Tehg AT & |” I§ TG Ufed ffaiiad # &
fepe gt ?
(a) vgau AT b) Fet@
(c) 3Aierai foremeh (d) g feiedt

17. % U HAE A1 €1 718 § | 30 FIoTshATIER 31 =1 92 HIfT -
1. HTSHA HHIEH T YRA 37T |
2. YRR UL S o ATRR REYH | quf TS <l /i |
3. Ra srfafem 1919
4. T GAWE

el faeney o1 =3 HifSe
(a) 3-2-4-1 ®b) 1-2-4-3
() 2-3-1-4 d 4-3-1-2
18. SIS UfshaT STErEldienor (. 91.31.) Yra | I 1 Teh I 2 |
Froran

=1 v, Taferent, wefirm 3k foreem I F= A 2 |

RO—————
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13.

14.

15.

16.

17.

18.

Read the features of a soil given below and name the related soil.

(1) These soils range from red to brown in colour.
(11) Generally sandy in Texture and saline.
(111) Soil lacks humus and moisture.

Who among the following wrote the Vande Mataram ?
(a) Rabindranath Tagore (b) Bankim Chandra Chattopadhyay
(¢) Abindranath Tagore (d) Dwarkanath Tagore

Which one of the following was NOT the reason for the popularity of
scientific ideas among the common people in eighteenth century Europe ?
(a) Printing of ideas of Isaac Newton

(b) Development of printing press

(¢) Interest of people in Science and reason

(d) Traditional aristocratic groups supported it

Name the two hostile groups of Second World War.

OR
Name the two industrialists of Bombay who built huge industrial empires
during nineteenth century.

Which among the following best signifies the idea of liberal nationalism of
nineteenth century Europe ?

(a) Emphasis on social justice

(b) State planned socio-economic system

(¢) Freedom for individual and equality before law

(d) Supremacy of State oriented nationalism.

“When France sneezes, the rest of Europe catches cold”. Who among the
following said this popular line ?

(a) Guiseppe Mazzini (b) Matternich

(¢) Otto Von Bismarck (d) Guiseppe Garibaldi

Certain events are given below. Choose the appropriate chronological
order :

1. Coming of Simon Commission to India

2.  Demand of Purna Swaraj in Lahore Session of INC.

3. Government of India Act, 1919

4. Champaran Satyagraha

Choose the correct option :

(a 3—-2-4-1 b) 1-2-4-3
(c) 2-3-1-4 d 4-3-1-2
Business Processes Outsourcing (BPO) is an example of industry
in India.
OR

Lime stone, silica, alumina and gypsum are the raw materials of
industry.

1.32/3/3.] 7 P.T.O.
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19. Ty=afafad S 1 ufeu 3 35es foe wes urftes sree forfigu

A Efaem 3793 g amriient <l forefl av <1 et v 3T T=IR ot <hl 3TsIie) <t
2 | IR Ffae o o e W T W aret forefl @t & HewTd i I T 2§ | 1

20. HeH A o foTT 3TTeweh arqaH forfau | 1
JrerEn
g <l Y o foTu SrTavers arfiies ot 6t Amn fafe | 1
g -d 3x8
21. TEdl Od) o SR YA SR fohd TehR 31U o foTu amverrss @1 7 Tas hHifsre | 3
Jreran
S~mdt 7t & "eg ®, fsreT & e ot & < 3 gl | &= i s =i
& 7 wm i | 3
22. WA ¥ qdiaeh &rfeh Jfereh Hexaqul @41 81 W1 8 ? g I | 3
JrerE
U g ETSd &Teh sl TTAfiehdT <1 & STl 8 7 T8 HIfT | 3
23. UZIeT o IUANT bl HH LA o I3 1 JUTT FATIT 3T 38 TIY HINT | 3
24, WA 6t 3ATIw 3R Tifores ferfar w wem fava g & fafgaren 1 avia i | 3
JrerE
Tl ST A ¥ T fehari ht fireht w1 aui HIfT | 3
25. YA H Hefy sawen i fhegl i fereiwanati o1 o Shifr | 3
26. “3MYfieh Tuy § =R o & § Seattd o T i Wi 2 |7 38 YA H IfE e afga hifvw | 3
Jreran

Ut ufiarg Y TUeT TS Uiasd o mear IS B 1" s heH h Sgwn Afga g hie | 3

27. = feu e Ea 1 ufen 3t 3Ees f= for o gwEt % 3 fofaw

TS g o € <1 el A fereft A o1 SAIshdlioreh SAEE T o1 QM hid & | 3%k
3Mu=ies TG ], 39 T&T I 81 8 3T ToHifas gt ot § | Jne &1, F 319 TnTicehi

Bl S FAATE B T TR <d & | Ahad o I qcd al SATUHT < H THH & |
gt feufd, st smifies Sumfelr si T+t Tephaal & et § 3 o Th-gil &
HTHhT T3 & | TIE 8 Toh 37 Taeh! TAlehdiizieh IMET SHAEAT o Tdisll W i 318
TSl & FH Teh SHTE S Sueifsd gl o8 gadl sie i 3¢t e fowl e el el @ |

(27.1) faftr= st & i eliehas & fa TRy w61 w1 hifv | 1
(27.2) 37ufard 37T aTEdfaeh TROm o TR 9 SAlehddl & fo=m sl & hifv | 2

RO—————
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19. Read the following information and write a single term for it.

The Constitution of India provides freedom to profess and practice any
religion to all its citizens. The Constitution of India prohibits

discrimination on religious grounds. 1
20. Write the temperature requirement of Maize crop. 1
OR

Write the amount of annual rainfall required for the cultivation of Wheat. 1
Section - B 3x8

21. How had Indian trade been beneficial for the British during seventeenth
century ? Explain. 3

OR

Why did the elite of Britain prefer hand made goods in the mid-
nineteenth century ? Explain. 3
22. Why is the tertiary sector becoming more important in India ? Explain. 3

OR

Why is organized sector preferrd by the employees ? Explain. 3
23. Suggest and explain any three ways to reduce the use of petrol. 3

24. Describe the implications of First World War on the economic and political

situation of India. 3
OR
Describe the role of poor peasantry in the ‘Civil Disobedience Movement.’ 3
25. Describe any three features of federalism in India. 3
26. “The pace of change in the communication sector has been rapid in
modern times.” Support the statement with examples. 3
OR
“Roadways have an edge over Railways.” Support the statement with
examples. 3

27. Read the sources given below and answer the questions that follow :

Over a hundred countries of the world today claim and practice some kind

of democratic politics: they have formal constitutions, they hold elections,
they have parties and they guarantee rights of citizens. While these
features are common to most of them, these democracies are very much
different from each other in terms of their social situations, their economic
achievements and their cultures. Clearly, what may be achieved or not
achieved under each of these democracies will be very different.

(27.1) Explain the fascination for democracy amongst various countries. 1
(27.2) Explain democracy on the basis of expected and actual outcome. 2

1.32/3/3.] 9 P.T.O.
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28. 3Tk farehmar o forw = <6t yiftrent =l Tow Hif |

wug -7
29. AT Ui H TSI ol shi STTEYTehdT Sl U SHITT |
J1er
IR | T getl bl GURA o foTu Jamai o1 9o Hifere |
30. = feu e Hia 1 ufe 3ik 3w = fou gt & s fafe -
Hid — 1 : enfifes GUR iR eI g8
Ig I GHY o1 9 TN IR gH-GURH! a1 fig Flganedi & == fauen-ars,
ThYeRETE, STV Joliient 3R gfd-q S8 qei i oiet o 569 31 g3 off | e &
- I8F Tell, TR Tgdt d1ere § YfEaehan 3R T@ERI & ST TWE-aiE & deh
THTS % 1= 3T & |
Hid — 2 : ThIYH & 70 &Y
T2 Tifefcres faumd, Sg-1iq, sarat, gt -TeHiides A8el W oig, 3 T6 T3l shi
g 1 foe &9 T | 31O STETT- 3T dal H e A et SR ST e,
3R 37 AT~ T ok et o o T fa geht ey @ g o |
Hid — 3 : Aigemd 31K ggur
=[fep AR PRI R IT=r@l 3 Uget & T Sfied ST a3t 7 feer=redt iy o @
oft, gafere wfgemet grr foreh st & it 3 ufa Bqgat ar an & |
Hid — 1 : T GUR 3R A&k ag8
(30.1)HZ0T 4 WRA H I~TGe T o T § sgdl hl Thfd il foha YR sew feam ¢
TR ST |
Hd — 2 : JHIIH & 0 TG
(30.2) 319 &l % TEH @ b HE 5 G-A1 o 3TV % GR @ict IR AFT e 1
fafae fereqa ferator weqa foram 2
Hid — 3 : Aigemd 31N ggur
(30.3) 50T HEHfd A3t % Sfaq 3R 7T < fd fore i aek w15 &9 weffa
# ? TgE i |
31. “URd H TaAd1 & 9T¢ & Afgenai i feufa § o gur 33m 8, W I onft oft ot & i
8 |7 3T Hfed 39 U <l P <hIfT |

32. “QyeTehTuT s YHTE T &Y H T U1 8 |” IeTe0il @fgd &8 shifsry |

33. JTN <kl Rl 1 T i ATt ITRGTRA Shehi shi ST HITT |
ateran
3 ikl ol T8 HIRTT, FeTeh g1 S0 et < ST TGHUT hl TIERAT ST 6 |

RO—————
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28.

29.

30.

31.

32.

33.

Explain the role of credit for economic development.
Section - C

Describe the necessity of political parties in democratic countries.
OR

Describe the efforts to reform political parties in India.

Read the sources given below and answer the questions that follows :
Source - 1 : Religious Reform and Public Debates
There were intense controversies between social and religious reformers
and the Hindu orthodoxy over matters like widow immolation,
monotheism, brahmanical priesthood and idolatry. In Bengal, as the
debate developed, tracts and newspapers proliferated, circulating a
variety of argument.
Source - 2 : New Forms of Publication
New literary forms also entered the world of reading lyrics, short stories,
essays about social and political matters. In different ways, they
reinforced the new emphasis on human lives and intimate feelings, about
the political and social rules that shaped such things.
Source - 3 : Women and Print
Since social reforms and novels had already created a great interest in
women’s lives and emotions, there was also an interest in what women
would have to say about their own lives.
Source - 1 : Religious Reform and Public Debates
(30.1) Evaluate how did the print shape the nature of the debate in the
early nineteenth century in India.
Source - 2 : New Forms of Publication
(30.2) To what extent do you agree that print opened up new worlds of
experience and gave a vivid sense of diversity of human lives ?
Source — 3 : Women and Print
(30.3) To what extent did the print culture reflect a great interest in
women’s lives and emotions ? Explain.

“In India, women still lag behind men despite some improvement since
Independence.” Support the statement with examples.

“The impact of globalization has not been uniform.” Explain with
examples.

Explain the factors which are responsible for location of industries.

OR
Explain the ways through which the industrial pollution of fresh water
can be reduced.

1.32/3/3.] 11 P.T.O.
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34. WG [ R 2 ? 38 GAhi ohi ST HINT | 2+3=5
g - |
e snenia g9

35. (a) o T A 3R B WRA % TS Wa-wHfs § Jiferd fohu ¢ § | 3= qg=ng
3R 3k He T, Ik g8 W= 7E {@sn ¢ fafaw

(A) I T &l WA TE - T ST 31 o7 |

(B) 9 T &l Hiet ol Wl i et Teore1 3 eamrg STt femam o | 2
(b) YR 3 W-THRA § fAfailaa # & fohdl wr @1 3 fagi @ 3Afeha hifve

3R 37 7 faRa

(i) sfeg —  YqE g9 oo

(i) Hrgred —  HigesRR iR ureh

(ii) ToeER — e 9 35T 3 g

(iv) T —  3ATTfereh Sell HAA

(v) <&l ~  § 9

(vi) foreeduqm - SrigH gars wE 4

e : Fafafea uva wae givanfem wdenfof & fore uva v 35 & @ B | @68 8 W
TARAE | (1 % 6=6)
(35.1) 38 Ts¥ w1 9m faflgy, Sl e i @t w60 9 foraEl 3 gamg sEia

eI

(35.2) 3 TT o1 419 Toifaw, Set Wi UgR i sl SAfeaeH fdamst 1920 § g
o |

(35.3) 3| TJM 1 A fetfau et Aferaiiarett SHT geA1 =fed g8 |

(35.4) 3| UST o1 19 faRaw, &t freauy S=Righ gam uoa fa 8 |
(35.5) 3| U o1 A9 TR, St arIqe SToTfaes Sl w9 fea 2 |
(35.6) ToRIA | feora Afteaat Trefireh! uteh 1 41 ferfm |

(35.7) 3| UsT o1 19 TR, st aratmst gl vae fRa 2 |

(35.8) TH TAIET 9 3TTd T fopg T | fya B 2

RO—————

1.32/3/3. | 12



[EfE OF0)
= =

34. What is Human Development ? Explain its indicators. 2+3=5

Section-D

Map Based Question

35. (a) Two places A and B are marked on the given political outline map of
India. Identify them and write their correct names on the lines
drawn near them.

(A) The place where Indian National Congress Session was held.
(B) The place where Indigo Planters organized Satyagraha. 2

(b) On the same outline Map of India, locate and label any four of the
following with appropriate symbols :

(1) Haldia — Major sea port

(11) Mohali — Software technology park

(111) Vijayanagar — Iron and Steel Industrial Centre
(iv) Naraura — Nuclear Power Plant

(v) Tehri — Dam

(vi) Thiruvananthapuram International Airport 4

Note : The following questions are for the visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions. (1x6=6)

(35.1) Name the state where Indigo Planters organized Satyagraha.

(35.2) Name the state where Indian National Congress session was held
in September 1920.

(35.3) Name the place where Jallianwalla Bagh incident took place.
(35.4) Name the state where Thiruvananthapuram Airport is located.
(35.5) Name the state where Tarapur nuclear power plant is located.
(35.6) Name the Software Technology Park is located in Gujarat.
(35.7) Name the state where Marmagao sea port is located.

(35.8) In which state the Salem — Iron & Steel Plant is located ?

1.32/3/3.] 13 P.T.O.



RO—————

1.32/3/3.]

14




799 9. 35 & foru gmfes
Map for Q. No. 35

WRA T AR HHRE
POLITICAL MAP OF

Kms. Scale : 1:15000.000
10050 0 100 200 300 400 500

O ——

1.32/3/3.] 15



RO—————

1.32/3/3.]

16




- B’
‘Series JBB/4 'SET-1.
(O} 5] [=] ]
T wlieell ie ®l IT-GETH & J@-I8
Roll No. R CtORNC R
Candidates must write the Code on the
title page of the answer-book.
e NOTE

(D o J9 & o o 36 T-99 | qiga
U8 17 + 1 THRH £ |

(D

Please check that this question
paper contains 17 printed pages
+ 1 Map.

(I 9399 ¥ hie 19 shi AR ST 1Y e
TR Wl B IT-YRETRT o6 JE@-I8 |
e |

(ID

Code number given on the right
hand side of the question paper
should be written on the title page of
the answer-book by the candidate.

(IID o S W o fF 30 g9 §
35 7% 7 |

(I1I)

Please check that this
paper contains 35 questions.

question

(IV) P9 5 %1 IR foren gw + 4
Ugel, IAG-UREdhl H U W1 ShHETH
v o |

(Iv)

Please write down the Serial Number
of the question in the answer-book
before attempting it.

(V) 38 999 <l 9gd o fow 15 fime =1
g o T R | UH-u & faa
w@iE H 1015 &9 Rl ST@W |
10.15 991 ¥ 10.30 S b DT had
Y9 1 YTl 3R 3H IE(Y & IH
3 IT-YIEhT W HIE IR & for@ |

V)

15 minute time has been allotted to
read this question paper. The
question paper will be distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will
read the question paper only and
will not write any answer on the
answer-book during this period.

AT fasm

SOCIAL SCIENCE

Time allowed : 3 hours

SfeHaTH 37 : 80
Maximum Marks : 80

P.T.O.




[OE4T)
B

s N
&b

AT 3397 :
HETfTRE 143911 &1 Sigad Graei] & 9igTq 3Rk 3751 G&d] & qIc7 iy :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

3.

J97-95 AR GUS] H G975 137 77 8 - %, @, T U g | 39 JH-97 § ¥ H
g1 35 2 | @t F9T SHIF 7 |

@IS & 4 97 &7 1 & 20 TF 37id TG-IF0T FBR & 97 &, F4% J97 1 3% F
g1/

@Ue @ 4 o7 &1 21 G 28 0% TY-ITHIT FHFR & 97 &, 9P F97 8 3% &
8 | 9% J97 HT I 80 VsG] 8 o7lEw |

GUE T § J97 &I 29 & 34 % FH-3T0T YHR & I B, I IF I 5 Hb H
& | 9% J97 HT I 120 V=gl 8/ foifaw |

TS T Y97 GEIT 35 HET JERT & | I8 I97 6 3% 7 8, 7 1 sldsrag &
(35(a) — 2 37F) TIT TIT (35(b) — 4 37%F) & Falga & |

IR Hlew 79T fagar §iH =Neq K ard & I9gk g HAT FH JIEHT I
FHITT |

Jo7-97 # GHT T HI3 [GdHcT 781 & | adid, FO T 7 HaRkE faHed 15T T
g 1 08 ol 7§ @ @are7 vek 31 faeheq &7 3T foifew |

Tl #1377 IT-GlahT & qrg 09t Fifaw |

3G 3R, EVIFHATIR, JAF GUE IR Jo7 & 1Y TANIT 19697 13T 1T & |

TUE &
freafefaa o @ e 1871 0 S+t =61 wom Tye =nfya fepam o 2 1
(A fafcem vem
B) faferm feda

(C) %siiE faeed vom

(D) het@ focew =gy

YA & B Gfeam TSHIfdh TSl 4 AT 1a1 Tgied o Jfd s 318
Fi T8 fe@mn ? yg@ SR fafeu | 1
Ul I & qd YA H U0 ATl samdeh 39 | =i Aat off 2 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi)  Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Who among the following was proclaimed as the first German Emperor in
18717 1
(A)  William I
(B) William II
(C)  Friedrich Wilhelm I
(D)  Friedrich Wilhelm IV
2. Why were some of the Muslim political organisations in India lukewarm
in their response to the Civil Disobedience Movement ? Give the main
reason. I
3. Why were manuscripts not widely used in India before the age of print ? 1

321411 3 P.T.O.
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4, Who was the author of ‘Hind Swaraj’ ? 1
OR
Who was the author of the novel ‘Anandmath’? 1
5. Fill in the blank : 1
Young Italy was formed by
6. ‘Vellum’ is 1
(A) Printing on palm leaves
(B)  Printing on paper
(C) A parchment made from the skin of animals
(D) Printing on cloth
7. Who among the following said that “Printing is the ultimate gift of God
and the greatest one” ? 1
(A) Louis XIV
(B) Abraham Lincoln
(C)  Martin Luther
(D) Mahatma Gandhi
8. Fill in the blanks of the following table with suitable information : é+ —=
Resource on the basis of exhaustibility
Resource Examples/Type
(A) e Solar and Wind energy
(B) Mineral and Fossil fuels
| .32/4/1) 5 P.T.O.
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39 AYg-uE 1 AW foifae e fasm gras o9 & dgd YR 8 b I

39 gYg1-gaH 1 AW faRae fSeeht o Ridehar @9 & Sgd IR 8 bl
o Tog femam |

10. A MUes ol w3 FHefaiiad § @ fore Tsa 4 oo 2 2

(A) HAlCh
(B) ?ﬁ
(©) e
(D) I I

11. F=faRea ¥ @ @& gafaa I8 1 =79 $Hie .
(A)  HAA dA-&F — TS
(C) TgqX AT ol TIA —  3nfesm
(D) VS A8 3k hl @H  — FNES

12. T Tami 6 gfd HiT
“Met 19 e’ fra™T &1 & TR @ ATHIfad i @ :

Th

% &9 H 3R U

[ N e N aN

13. #fieeh § ffaiad 3 | SH-A1 Sgaeas ot § ?

(A)
(B)
(©)
(D)

aftre
SIS
Toreett
e

HEIH |

14. 91 bl e 1 SO g 2 Teh U WE IV |

AT

T Alhdieeh oo o Yemed # fofag amfse @@l o feed o &l
JTTETIHAT T & ? g Teh HRYT ARG |
15. Sfcsam s ameiiie awet § fefafaa § @ fraes 7eq gan § @@ @ 2 1

(A)
(B)
(®)
(D)
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9. Name the sea-port that was developed to relieve growing pressure on the
Mumbai port. 1
OR
Name the sea-port that was developed to relieve growing pressure on the
Kolkata port. 1
10. In which of the following States is Narora Nuclear Power Plant located ? 1
(A) Karnataka
(B) Kerala
(C) Tamil Nadu
(D)  Uttar Pradesh
11. Choose the correctly matched pair from the following : 1
(A) Kalol Oil-fields — Gujarat
(B) Bauxite Mines — Maharashtra
(C)  Chandrapur Thermal — Odisha
Power Plant
(D) Mayurbhanj Iron Ore Mines — Jharkhand
12. Fill in the blanks : é+é=1
‘Gobar gas plants’ provide twin benefits to the farmers in the form of
and
13.  Which of the following is the majority group in Sri Lanka ? 1
(A) Tamils
(B) Christians
(C)  Sinhalese
(D) Muslims
14. Why is power sharing desirable ? Explain one reason. 1
OR
Why is there a need to give space to diverse social groups in the
administration of a democratic country ? Give any one reason. 1

15. Under which of the following is power shared in the ‘Community
Government’ of Belgium ? 1
(A) Different social groups
(B)  Different organs of government
(C) Central and State government
(D) State government and Community government

| .32/4/1 7 P.T..




16. “vrd gu § sifq g ) ot y=fera 8 17 3@ "Hed e o fow s ue
U FHATIT |
ST

“arg # weft-wef g Srfoet W il s € 17 3w foufa @ geso S
T ST GehdT & ?

17. ffafad 4 & 98 gafaa fases =1 ==@ Hif

&y ] (fE @t 91) Ty 11 (fasra & &87)
(A) TorEm S =t & o — %M L % Al o qun S wwgh
haet aut T fft &
(B)  V[WEH AT gy — Torami = 3R 39S o foIT ST wwele
kSl
(C) U9 % Tgg fRam — fafm s

(D) e =1 &1 T Afearel —  Sfifaeer ursH i gfd

18.  TIfcTh! o1 7L hifT qen =l feu e woq &1 S 4T
BTN, o IR f9ER % 5B T s

o 3ufeufa srgumE
_— Rggg @ ufa | seRaT @ % | (I 100 Afh) AR
1,000 Sk (2016) (2011) TR (MY 14T 15
a¥) 2013 — 14
g 33 82 61
A 10 94 83
for 38 62 43

oA :
foRE TSI T IAR TR TR Haa UM 1 I T8 A & ?

19. YRR NeNfieh HH=niEl 6l 3™ SgH o folu i Ueh aliel sy |

20. XA ¥ JaTeh & a1 HewqUl H 8l @1 3 ? TE HRU TR FHIRT |
AUAT

TSR & ged ¥ grfed & 6 y@ giaen ot Tse Hife |

.32/411 | 8




e 3

16. “Caste system is still prevalant in the Indian society.” Suggest any one
measure to abolish it. 1

OR

“Sometimes elections are all about caste in India.” How can this situation

be avoided ? 1
17. Choose the correctly matched option from the following : 1
Column I (Category of Person) Column II (Development Goal)
(A) Farmers who depend only —  More days of work and better
on rain for growing crops wages
(B) Landless rural labourers —  Higher support prices for their
crops
(C)  Prosperous farmers from —  Regular wages
Punjab
(D) An Adivasi from Narmada —  To fulfil livelihood
Valley
18. Study the table and answer the question given below :
Some Comparative Data on Haryana, Kerala and Bihar
Infant Mortality . Net Attendance Ratio
Literacy Rate % (per 100 persons)
State Rate per 1,000
live births (2016) (2011) Secondary stage (age 14
and 15 years) 2013 — 14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Question :
Which State has the lowest net attendance ratio at Secondary stage ? 1
19. Suggest any one way to increase the income of Indian industrial workers. 1
20. Why is the tertiary sector becoming so important in India ? Explain the
main reason. 1
OR
Explain the main advantage of organised sector in respect of
employment. 1

321411 9 P.T.O.
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21. frfafad sgror =t ufgu ok e = feu e gwai w1 s i 1+1+1=3
|id — IR | TR
HRTeHT el o foraml I TSt ohl STaURon o o) § #egU i 319! e of |
3TEH o ST gl o fOTT STHTd 1 Aaee I8 o foh o 39 Indaniai § S«
T8 -7 Fehd & T8 Ieh! §¢ hish TN AT AT | 39k fTU STATE] kT TS
o foh I 31U Tiial & TYh T UG | 1859 % $ciS SMHINH UF o dgd SNl
H M H I AIIGU ol o FAIA S 8 9@ W Al B T8l gt off,
3N IE AN I focd & o) fierdl oft | 19 389 19ga 3Teiad & aR |
AT 1 BRI ASAGL T AR hl ST i T | I a1H Big fou
3R 3 T ! I feU | 39ep!1 avrar of fop o1@ Wikl U o1 w1 @ sEfau ofw
@ B ol Ma H A e STl | @R 9 1ot Aie W gge 9 |
3R T HI gSATA o HRU 9 T H & B § T | 3% Yferd 4 qhg form
3R ITh! I @ e g8 |
(21.1) 37EH % SR ASGU [T TS I SFFTURUM 1 T HIWT |

(21.2) ST ASIQU I ATAE § a9 o €9 H 1859 % TS IHIRM UHe
! T HINTY |
(21.3) WHGU % JTHSAN G H 50T O & THE IRUMH i T HiT |

22, 3T YAEd % GUH TaUPiE SrefInfErn gRT §a U e YR % YaTEl @

WWl 1x3=3
srUaT

ISRl IAIeC] o 37 H WA o huel Iid H fREe =& J8f 36 2 Tee

HIT | 3
23. THS H GHIYHT o FFEN SR shl HEAT ol 9Ud shifoly | 3

YT

e S o foTw qEmet il STagehdT o1 9uH <hIfST | 3
24, “9Nd # 1@ qNEEd THENS ¥ G 6l 7 |7 ISR Afgd 39 HeH Hi gie

HIT | 3
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SECTION B
21. Read the extract given below and answer the questions that follows : 1+1+1=3
Source - Swaraj in the Plantations

Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj. For plantation workers in Assam, freedom meant the
right to move freely in and out of the confined space in which they were
enclosed, and it meant retaining a link with the village from which they
had come. Under the Inland Emigration Act of 1859, plantation workers
were not permitted to leave the tea gardens without permission, and in
fact they were rarely given such permission. When they heard of the
Non-Cooperation Movement, thousands of workers defied the authorities,
left the plantations and headed home. They believed that Gandhi Raj was
coming and everyone would be given land in their own villages. They,
however, never reached their destination. Stranded on the way by a
railway and steamer strike, they were caught by the police and brutally
beaten up.

(21.1) Explain the understanding of ‘Swaraj’ for plantation workers in
Assam.

(21.2) Explain the Inland Emigration Act of 1859 as a barrier to
freedom of plantation workers.

(21.3) Explain the main outcome of the participation of workers in
the Non-Cooperation Movement.

22, Explain the three types of movement or flows identified by the

international economists in the nineteenth century. 1x3=3
OR

Why did textile exports from India not decline in the late eighteenth

century ? Explain. 3
23. Describe the importance of an equitable distribution of resources in the

society. 3

OR
Describe the need of resources for human survival. 3

24, “Rail transport suffers from certain problems in India.” Support the
statement with examples. 3

321411 11 P.T.O.
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28.

29.

30.

31.

32.

33.

B, %%?
AR | g 3R TSI % o9 g1 o aar I fhal oA famivareti &1 auiq
ﬁﬁm| 1x3=3
AT H AfgeArstl o gfd Sewrd & qliehl &1 9uiH i | 3
STUaT
g YR § Sifd I HEET IR TG g W AW Seedi i guia
%ll\ﬁQI 3
foshra A9 1 T TS o SR (F,A.E.) 1 Aee e e
T T S o Hes © i 3 2 Tase kg | 3
“Irmted & U HTHehl o TRV 3T FEAT Shi IMEYIhdl & |7 39 HeH i
e I | 3
areraT
“Trsht gmrep <t Tifafafemt o1 Tg@ 3w a9 ANId ST 3T 8 |7 36 S B
TR ST | 3
@ug T
UHT T el AT & foh 1830 1 T JUT H WRI HicATSAT <iehl ITRT ? HRUN
! Ts HIfTU | 5
YT

ITHTSIETE 8 et TFATG fohd TR Yo fova I o1 R0 &41 2 ¥ iV | 5

‘rfrfSees Y i foreal ai formanet w1 faeror ifs | 1x5=5
Alehds H TSHITeh Tl shl STTAIIhdT hl JUH <hIfTT | 5
“AThdieh STIEAT TiHIfdeh HMAT W 3NuTid gidl 8 17 3Ieswn gfgd 39
FHIA < gfte KT | 5
“Tou wEIAT Wg T & W TS ohl Tied i H HEg hid & | Serewn
Tfgd s i gfte AT | 5
Ao
“He1 ®1 THUTA gAR ek SiTaA W1 Sgd 8T fewm 7 |7 3Qn |igd S
gfte hifSr | 5
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28.

29.

30.

31.

32.

33.
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Describe any three characteristics of distribution of power between the

Centre and States in India. 1x3=3

Describe the ways of discrimination faced by women in India. 3
OR

Describe the changes in castes and caste system in modern India. 3

On what bases is the criterion used by the United Nations Development

Programme (UNDP) for measuring development different from the one

used by the World Bank ? Explain. 3

“There is need for protection and support for the workers in the

unorganised sector.” Evaluate this statement. 3
OR

“Activities in the private sector are guided by the main motive to earn

profit.” Evaluate this statement. 3

SECTION C

Why is it said that the 1830s were the years of great hardship in

Europe ? Explain. 5
OR

How did nationalism aligned with imperialism become the cause of the

First World War ? Explain. 5

Analyse any five features of Commercial Farming. I1x5=5

Describe the necessity of political parties in democracy. 5

“Democracy is based on political equality.” Support the statement with
examples. 5

“Self Help Groups (SHGs) are the building blocks of organisation of the

rural poor.” Support the statement with examples. 5
OR

“The use of money spans a very large part of our everyday life.” Support

the statement with examples. 5

321411 13 P.T.O.
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frfafaa &rai sl 9feu 3R I = T T Tl 6 I ET

aia A - foesft =R iR aeTRi 6 vkt

STIR % G 8 TGl 1 Th SR 8 G TR H STENEE 8l 2 | SR H
3Tl & foehed og I 8 | € TSR | U & 9% T God UhHWH B ol
2 | 319 QI Q¥ % IcUGeh gl H g9 Hiad g gt ot Uoh-get § laeqdi
T Thd & | 39 TR, foeel =R fafim 2ol o iRl &1 Sired o1 wehiehtor §
HETh Bl 2 |

|id B - IgaieRtu
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|ia C - fava =R &req
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B |
(34.1) € A - faeslt samuR 3R STRI 1 Tehistr
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34. Read the following sources and answer the questions that follows :

Source A - Foreign Trade and the Integration of Markets

With the opening of trade, goods travel from one market to another.
Choice of goods in the markets rises. Prices of similar goods in the two
markets tend to become equal. And, producers in the two countries now
closely compete against each other even though they are separated by
thousands of miles. Foreign trade thus results in connecting the markets

or integration of markets in different countries.

Source B - Globalisation

Besides the movements of goods, services, investments and technology,
there is one more way in which the countries can be connected. This is
through the movement of people between countries. People usually move
from one country to another in search of better income, better jobs or
better education. In the past few decades, however, there has not been
much increase in the movement of people between countries due to

various restrictions.

Source C - World Trade Organisation

Though WTO is supposed to allow free trade for all, in practice, it is seen
that the developed countries have unfairly retained trade barriers. On
the other hand, WTO rules have forced the developing countries to
remove trade barriers. An example of this is the current debate on trade

in agricultural products.

(34.1) Source A - Foreign Trade and the Integration of Markets

How does foreign trade integrate markets ?
(34.2) Source B - Globalisation

How is globalisation expanding human activity across regions
and continents ?

(34.3) Source C - World Trade Organisation

“The actions and methods of the WTO have evoked strong
debate.” Elucidate your views on the statement.

321411 15 P.T.O.
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(b)

&

Qusg ¥

T TIM ‘A’ IR B’ U T WA o TSHITdh @I-AHES (I8 19 W) |
siferd fopu e 2 | 39 Tl B frafafad S 6t e @ vg=iie
3 3Tk Tl T 3k ehe Eidll T2 {@nedi W fafan 1x2=2

(A) I8 ¥IH &l MlS 5 79 Hd arel |
(B) 9§ TN &l WA TS e 1 e gam |

) feu U WRa & UoHifae W@-aHts § Fefafed § 9 feegt o

w1 30 ol § guiey 3R 3Tk T e Ixd=4
(i) TIPS — g

(i) R — Gl 6 3TN g

(iil) IS — TG T

(iv) oM — qlel Td 8T Hl

(v) ST (TS |El) — STisE gars aoq

(vi) 2eUEle — HIFeaIT SIS ITeh

Fie:  [AEliga Jv7 Fac giEETT GhefEl & 77 Jv7 & 35 @ T W

g1
(35.1)
(35.2)
(35.3)
(35.4)
(35.5)
(35.6)
(35.7)
(35.8)
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39 T w1 9 Tofgn ST TSt 3 e e drel |

TSHId o 39 T &1 A1 fafgu St fepami 3 aemrg’ fran |
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where Gandhiji violated the salt law.

(B) The place where the Indian National Congress Session was

held.
(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(1) Hirakud — Dam

(i1)) Kanpur — Coton Textile Industrial Centre
(iii) Kandla — Sea-port

(iv) Salem — Iron and Steel Plant

(v) Amritsar (Raja Sansi) — International Airport
(vi) Hyderabad — Software Technology Park

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 35. Attempt any six questions :

(35.1) Write the name of place where Gandhiji violated the salt law.

(35.2) Name the place of Gujarat where the peasants started
‘Satyagraha’.

(35.3) Name the State where Hirakud Dam is located.

(35.4) Name the State where Mayurbhanj Iron Ore Mines are located.
(35.5) Name the related State to Mumbai High Oil-field.

(35.6) Name the State where Salem Iron and Steel Plant is located.
(35.7) Name the State where Raja Sansi Airport is located.

(35.8) Name the place in Punjab where a Software Technology Park is
located. 1x6=6

17 P.T.O.
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

1. Who among the following was proclaimed as the first German Emperor in
18717 1

(A)  William I

(B) William II

(C)  Friedrich Wilhelm I
(D)  Friedrich Wilhelm IV

2. Why did Gandhiji organize Satyagraha in Ahmedabad in 1918 ? Give the
main reason. 1

321412, 3 P.T.O.
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3. Study the table and answer the question given below :
Some Comparative Data on Haryana, Kerala and Bihar
Infant Mortality . Net Attendance Ratio
Literacy Rate % (per 100 persons)
State Rate per 1,000
live births (2016) (2011) Secondary stage (age 14
and 15 years) 2013 — 14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Question :
Which State has the lowest net attendance ratio at Secondary stage ? 1
4. Choose the correctly matched option from the following : 1
Column I (Category of Person,) Column II (Development Goal)
(A) Farmers who depend only ¥ —  More days of work and better
on rain for growing crops wages
(B) Landless rural labourers —  Higher support prices for their
crops
(C)  Prosperous farmers from —  Regular wages
Punjab
(D) An Adivasi from Narmada —  To fulfil livelihood
Valley
5. Fill in the blank : 1
In 1834, a customs union was formed at the initiative of
Prussia.
6. In which of the following centuries did the printing press come to India ? 1

(A) Seventeenth century
(B) Mid-Sixteenth century
(C) Mid-Fifteenth century
(D) Eighteenth century

5 P.T.O.
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Who among the following Governor Generals had persecuted James
Augustus Hickey ? 1
(A) Lord Warren Hestings

(B)  Lord Irwin

(C)  Lord Dalhousie

(D) Lord Wellesley

8. Under which of the following is power shared in the ‘Community
Government’ of Belgium ? 1
(A) Different social groups
(B)  Different organs of government
(C) Central and State government
(D) State government and Community government

9. Why is power sharing desirable ? Explain one reason. 1

OR

Why is there a need to give space to diverse social groups in the
administration of a democratic country ? Give any one reason. 1

10. Which of the following is the majority group in Sri Lanka ?
(A) Tamils
(B) Christians
(C) Sinhalese
(D) Muslims
11. “Caste system is still prevalant in the Indian society.” Suggest any one
measure to abolish it. 1
OR

“Sometimes elections are all about caste in India.” How can this situation
be avoided ?

12. Fill in the blank :

Large reserves of have been discovered in the
Krishna-Godavari river basin.

13.  Fill in the blanks of the following table with suitable information : é+ é =1
Resource on the basis of exhaustibility
Resource Examples/Type
(A) e Solar and Wind energy
(B) Mineral and Fossil fuels

321412, 7 P.T.O.
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14. Name the sea-port that was developed to relieve growing pressure on the

Mumbai port. 1
OR
Name the sea-port that was developed to relieve growing pressure on the
Kolkata port. 1
15. In which of the following States is Narora Nuclear Power Plant located ? 1
(A) Karnataka
(B) Kerala
(C) Tamil Nadu
(D) Uttar Pradesh
16. Choose the correctly matched pair from the following : 1
(A) Kalol Oil-fields — Gujarat
(B) Bauxite Mines — Maharashtra
(C)  Chandrapur Thermal — Odisha
Power Plant
(D) Mayurbhanj Iron Ore Mines — Jharkhand
17. Why were manuscripts not widely used in India before the age of print ? 1
18. Who was the author of ‘Hind Swaraj’ ? 1
OR
Who was the author of the novel ‘Anandmath’? 1
19. Suggest any one way to increase the income of the Indian household
worker. I
20. Why is the tertiary sector becoming so important in India ? Explain the
main reason. 1
OR
Explain the main advantage of organised sector in respect of
employment. 1
SECTION B
21. “There is need for protection and support for the workers in the
unorganised sector.” Evaluate this statement. 3
OR
“Activities in the private sector are guided by the main motive to earn
profit.” Evaluate this statement. 3

321412 9 P.T..
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22. Describe the ways of discrimination faced by women in India. 3
OR
Describe the changes in castes and caste system in modern India. 3
23. Describe any three characteristics of distribution of power between the
Centre and States in India. 1x3=3
24, “International trade is called the economic barometer for a country.”
Support the statement with examples. 3

25. Read the extract given below and answer the questions that follows : 1+1+1=3

Source - Swaraj in the Plantations

Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj. For plantation workers in Assam, freedom meant the
right to move freely in and out of the confined space in which they were
enclosed, and it meant retaining a link with the village from which they
had come. Under the Inland Emigration Act of 1859, plantation workers
were not permitted to leave the tea gardens without permission, and in
fact they were rarely given such permission. When they heard of the
Non-Cooperation Movement, thousands of workers defied the authorities,
left the plantations and headed home. They believed that Gandhi Raj was
coming and everyone would be given land in their own villages. They,
however, never reached their destination. Stranded on the way by a
railway and steamer strike, they were caught by the police and brutally
beaten up.

(25.1) Explain the understanding of ‘Swaraj’ for plantation workers in
Assam.

(25.2) Explain the Inland Emigration Act of 1859 as a barrier to
freedom of plantation workers.

(25.3) Explain the main outcome of the participation of workers in
the Non-Cooperation Movement.

321412, 11 P.T.O.
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27.

28.

29.

30.

31.

32.

33.

L. EgE
Bt

Explain the three types of movement or flows identified by the
international economists in the nineteenth century. 1x3=3

OR
Why did textile exports from India not decline in the late eighteenth

century ? Explain. 3

“Different people of urban areas have different developmental goals.”
Explain the statement. 3

Describe the importance of an equitable distribution of resources in the
society. 3
OR

Describe the need of resources for human survival. 3

SECTION C

“Self Help Groups (SHGs) are the building blocks of organisation of the

rural poor.” Support the statement with examples. 5
OR

“The use of money spans a very large part of our everyday life.” Support

the statement with examples. 5

Analyse any five challenges faced by the Indian farmers. Ix5=5

Describe the importance of political parties in a democracy. 5

Why is it said that the 1830s were the years of great hardship in

Europe ? Explain. 5
OR

How did nationalism aligned with imperialism become the cause of the

First World War ? Explain. 5

“Democracy is based on political equality.” Support the statement with

examples. 5

321412, 13 P.T.O.
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34. Read the following sources and answer the questions that follows :

Source A - Foreign Trade and the Integration of Markets

With the opening of trade, goods travel from one market to another.
Choice of goods in the markets rises. Prices of similar goods in the two
markets tend to become equal. And, producers in the two countries now
closely compete against each other even though they are separated by
thousands of miles. Foreign trade thus results in connecting the markets

or integration of markets in different countries.

Source B - Globalisation

Besides the movements of goods, services, investments and technology,
there is one more way in which the countries can be connected. This is
through the movement of people between countries. People usually move
from one country to another in search of better income, better jobs or
better education. In the past few decades, however, there has not been
much increase in the movement of people between countries due to

various restrictions.

Source C - World Trade Organisation

Though WTO is supposed to allow free trade for all, in practice, it is seen
that the developed countries have unfairly retained trade barriers. On
the other hand, WTO rules have forced the developing countries to
remove trade barriers. An example of this is the current debate on trade

in agricultural products.

(34.1) Source A - Foreign Trade and the Integration of Markets

How does foreign trade integrate markets ?
(34.2) Source B - Globalisation

How is globalisation expanding human activity across regions
and continents ?

(34.3) Source C - World Trade Organisation

“The actions and methods of the WTO have evoked strong
debate.” Elucidate your views on the statement.

321412, 15 P.T.O.
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(i) R — gl a6 IAT g

(i) HISAT — TG T

(iv) HefH — T8l U9 $EUTq e

(v) STAER (TS |El) — s gars aoq

(vi) 2eUEle — HIFeaIT SIS ITeh

Fie:  [AEliga Jv7 Fac giEETAT GhefEl & 77 FvT & 35 F T W

g1
(35.1)
(35.2)
(35.3)
(35.4)
(35.5)
(35.6)
(35.7)
(35.8)
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39 T 1 AW foafew SeT dge afy foa 2 |

39 TST 1 W TARau T8l 7 olig 3Tk 6l @ e 7 |
s 818 0 & 8 Gaiad TS o1 a9 fafaw |

38 U9 &1 AW foafge aT 4o digr @ 399ra 997 o 2 |
39 T 1 99 TIRgy S8l TS |t gars o €9d 2 |

IS o 39 TIH 1 9 RIU &1 T9aI SIS U oo
7 | 1x6=6
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where Gandhiji violated the salt law.

(B) The place where the Indian National Congress Session was

held.
(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(1) Hirakud — Dam

(i1)) Kanpur — Coton Textile Industrial Centre
(iii) Kandla — Sea-port

(iv) Salem — Iron and Steel Plant

(v) Amritsar (Raja Sansi) — International Airport
(vi) Hyderabad — Software Technology Park

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 35. Attempt any six questions :

(35.1) Write the name of place where Gandhiji violated the salt law.

(35.2) Name the place of Gujarat where the peasants started
‘Satyagraha’.

(35.3) Name the State where Hirakud Dam is located.

(35.4) Name the State where Mayurbhanj Iron Ore Mines are located.
(35.5) Name the related State to Mumbai High Oil-field.

(35.6) Name the State where Salem Iron and Steel Plant is located.
(35.7) Name the State where Raja Sansi Airport is located.

(35.8) Name the place in Punjab where a Software Technology Park is
located. 1x6=6

17 P.T.O.
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viit) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Choose the correctly matched option from the following : 1
Column I (Category of Person) Column II (Development Goal)
(A) Farmers who depend only ¥ —  More days of work and better
on rain for growing crops wages
(B) Landless rural labourers —  Higher support prices for their
crops
(C)  Prosperous farmers from —  Regular wages
Punjab
(D) An Adivasi from Narmada —  To fulfil livelihood
Valley

321413 3 P.T.O.
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(D)  TaTteed!

868 3. W Bl UM hl Fd JUHI J&deh (HHTIRad H | hiH-4T off ?
(&) @Efert

(B) SRWE ¥
(C) =R
(D) ISRl
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2. Why did Gandhiji organize Satyagraha in the Kheda district of Gujarat
in 1917 ? Give the main reason. 1
3. Why is the tertiary sector becoming so important in India ? Explain the
main reason. 1
OR
Explain the main advantage of organised sector in respect of
employment. 1
4, Study the table and answer the question given below :
Some Comparative Data on Haryana, Kerala and Bihar
Infant Mortality . Net Attendance Ratio
Literacy Rate % (per 100 persons)
State Rate per 1,000
live births (2016) (2011) Secondary stage (age 14
and 15 years) 2013 — 14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Question :
Which State has the lowest net attendance ratio at Secondary stage ? 1
5. Fill in the blank : 1
The most serious source of nationalist tension in South-eastern Europe
after 1871 was the area called
6. In early nineteenth century ‘Shamsul Akhbar’ was written in which one
of the following languages ? 1
(A)  Urdu
(B)  Persian
(C)  Arbi

(D) Swahili

7. Which one of the following was the oldest Japanese book printed in

868 AD ? 1
(A) Bible

(B) Diamond Sutra

(C) Kokoro

(D) Kojiki

321413 5 P.T..
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8. “Caste system is still prevalant in the Indian society.” Suggest any one
measure to abolish it. 1
OR
“Sometimes elections are all about caste in India.” How can this situation
be avoided ? 1
9. Which of the following is the majority group in Sri Lanka ? 1
(A) Tamils
(B)  Christians
(C)  Sinhalese
(D) Muslims
10. Why is power sharing desirable ? Explain one reason. 1
OR
Why is there a need to give space to diverse social groups in the
administration of a democratic country ? Give any one reason. 1

11. Under which of the following is power shared in the ‘Community
Government’ of Belgium ? 1

(A) Different social groups
(B)  Different organs of government
(C) Central and State government

(D) State government and Community government

12. Fill in the blank : 1
Coal and Petroleum are sources of energy.
13. Why were manuscripts not widely used in India before the age of print ? 1
14. Who was the author of ‘Hind Swaraj’ ? 1
OR
Who was the author of the novel ‘Anandmath’? 1
15. Choose the correctly matched pair from the following :
(A)  Kalol Oil-fields — Gujarat
(B) Bauxite Mines — Maharashtra
(C)  Chandrapur Thermal — Odisha

Power Plant
Mayurbhanj Iron Ore Mines — Jharkhand

7 P.T.O.



16. U ATvaeh Fett @ ffafea o @ fovm U= 4 feda 2 2 1
(A)  Hich
(B) o
(C) de TTg
(D) I He™
17. 39 9gg-gxH o1 91 foifau feent faem gras 9o % 9gd YR 8 bl 9
o fore fepam T | 1
JAUAT
39 G- T AW fARaw foeent foehtd Shicehrdl 9o o Sgd YR 8 §Ihi
9 o feru fepam I | 1
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16. In which of the following States is Narora Nuclear Power Plant located ? 1
(A) Karnataka
(B) Kerala
(C) Tamil Nadu
(D)  Uttar Pradesh

17. Name the sea-port that was developed to relieve growing pressure on the

Mumbai port. 1
OR
Name the sea-port that was developed to relieve growing pressure on the
Kolkata port. 1
18.  Fill in the blanks of the following table with suitable information : é+ é =1
Resource on the basis of exhaustibility
Resource Examples/Type
(A) e Solar and Wind energy
(B) e Mineral and Fossil fuels

19. Suggest any one way to increase the income of the marginal farmers in
India. 1

20. Who among the following was proclaimed as the first German Emperor in
18717 1

(A) William I

(B) William II

(C)  Friedrich Wilhelm I
(D)  Friedrich Wilhelm IV

SECTION B

21. Describe any three characteristics of distribution of power between the
Centre and States in India. 1x3=3

321413 9 P.T.O.
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26.
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Describe the ways of discrimination faced by women in India. 3
OR
Describe the changes in castes and caste system in modern India. 3
“There is need for protection and support for the workers in the
unorganised sector.” Evaluate this statement. 3
OR
“Activities in the private sector are guided by the main motive to earn
profit.” Evaluate this statement. 3
“Railways in India bind the economic life of the country as well as
accelerate the development of the industry and agriculture.” Support the
statement with examples. 3
Explain the three types of movement or flows identified by the
international economists in the nineteenth century. 1x3=3
OR
Why did textile exports from India not decline in the late eighteenth
century ? Explain. 3

Read the extract given below and answer the questions that follows : 1+1+1=3

Source - Swaraj in the Plantations

Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj. For plantation workers in Assam, freedom meant the
right to move freely in and out of the confined space in which they were
enclosed, and it meant retaining a link with the village from which they
had come. Under the Inland Emigration Act of 1859, plantation workers
were not permitted to leave the tea gardens without permission, and in
fact they were rarely given such permission. When they heard of the
Non-Cooperation Movement, thousands of workers defied the authorities,
left the plantations and headed home. They believed that Gandhi Raj was
coming and everyone would be given land in their own villages. They,
however, never reached their destination. Stranded on the way by a
railway and steamer strike, they were caught by the police and brutally
beaten up.

321413 11 P.T.O.
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31.

32.

33.
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(26.1) 38| % I AFAGU o Y T 1 TGgRON i w5 HIT |

(26.2) T FAGU I AATAE § a1 o €9 § 1859 & oS IEHRH UHe
! T FHINT |
(26.3) HVGU  HHSAN IMaieH H o601 o o Y@ IR i s HifT |

3rENfires JGuU fohE TR qATeRUl i &ffd UGl & ? $Eeh! Ushd o Toheal

YT <! T HIT | 1+2=3
AT H TETYAT o ~ETd Scal shl HEHT okl JUF <hIfVT | 3
AU
A4 Sftad o fIq TETeT bl STa9dehdl i U9 <hIfT | 3
ECLER|
“ATehdi=eh STIEAT TSHIfder AT W uTid gidl & 17 3Ieswon gfgd 39
HIA i gfte KT | 5
R teferaeen 3 U # Y % ArrgH 1 faverso Hife | 5
YA § Al cliehasd hl HiTAT bl G A o fohegl diar IR 1 a0
Eﬁﬁﬂll I1x5=5
“T3 HErIaT Tqg U0 & o TR bl SIS i H HEg hid 7 |7 SeTEvn
afgd s i gfte Hiflvw | 5
e
“HeT 1 T gAR Qe STTad o1 95d 81 58 @ |7 ISl Higd e i
gfte =hIfT | 5
UHT 1 gl ST & Toh 1830 T G JUT H WK HISSAT Tioht TR ? HROT
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AT

THTSIATG & ISt TTATE ohd TR o fovd g o1 R0 a41 280 il | 5
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(26.1) Explain the understanding of ‘Swaraj’ for plantation workers in
Assam.

(26.2) Explain the Inland Emigration Act of 1859 as a barrier to
freedom of plantation workers.

(26.3) Explain the main outcome of the participation of workers in
the Non-Cooperation Movement.

How does industrial pollution harm the environment ? Explain any three

o
|

measures to minimise industrial pollution. 1+2=3

Describe the importance of an equitable distribution of resources in the

society. 3
OR
Describe the need of resources for human survival. 3
SECTION C
“Democracy is based on political equality.” Support the statement with
examples. 5
Analyse the contribution of agriculture in the Indian economy and
employment. 5
Describe any five measures to eradicate shortcomings of inner democracy
in India. Ix5=5
“Self Help Groups (SHGs) are the building blocks of organisation of the
rural poor.” Support the statement with examples. 5
OR
“The use of money spans a very large part of our everyday life.” Support
the statement with examples. 5
Why is it said that the 1830s were the years of great hardship in
Europe ? Explain. 5
OR
How did nationalism aligned with imperialism become the cause of the
First World War ? Explain. 5
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34. Read the following sources and answer the questions that follows :

Source A - Foreign Trade and the Integration of Markets

With the opening of trade, goods travel from one market to another.
Choice of goods in the markets rises. Prices of similar goods in the two
markets tend to become equal. And, producers in the two countries now
closely compete against each other even though they are separated by
thousands of miles. Foreign trade thus results in connecting the markets

or integration of markets in different countries.

Source B - Globalisation

Besides the movements of goods, services, investments and technology,
there is one more way in which the countries can be connected. This is
through the movement of people between countries. People usually move
from one country to another in search of better income, better jobs or
better education. In the past few decades, however, there has not been
much increase in the movement of people between countries due to

various restrictions.

Source C - World Trade Organisation

Though WTO is supposed to allow free trade for all, in practice, it is seen
that the developed countries have unfairly retained trade barriers. On
the other hand, WTO rules have forced the developing countries to
remove trade barriers. An example of this is the current debate on trade

in agricultural products.

(34.1) Source A - Foreign Trade and the Integration of Markets

How does foreign trade integrate markets ?
(34.2) Source B - Globalisation

How is globalisation expanding human activity across regions
and continents ?

(34.3) Source C - World Trade Organisation

“The actions and methods of the WTO have evoked strong
debate.” Elucidate your views on the statement.

321413 15 P.T.O.



35. (a)

(b)
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(35.1)
(35.2)
(35.3)
(35.4)
(35.5)
(35.6)
(35.7)
(35.8)

321413 |
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39 T w1 9 Tofgn ST TSt 3 e e drel |

TSHId o 39 T &1 A1 fafgu St fepami 3 aemrg’ fran |
39 T 1 A foaflaw st dge afy foa 2 |

39 TST 1 W TARau T8l 7 olig 3Tk 6l @ e 7 |
T g8 0 & 8 Gaiad TS o1 9 fafen |
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39 TF 1 99 TIRaT gl TS |t gars o 69d 2 |

IS o 39 TIE 1 9 [IRIU &1 A(Fead SIS I ferq
7 | 1x6=6
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where Gandhiji violated the salt law.

(B) The place where the Indian National Congress Session was

held.
(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(1) Hirakud — Dam

(i1)) Kanpur — Coton Textile Industrial Centre
(iii) Kandla — Sea-port

(iv) Salem — Iron and Steel Plant

(v) Amritsar (Raja Sansi) — International Airport
(vi) Hyderabad — Software Technology Park

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 35. Attempt any six questions :

(35.1) Write the name of place where Gandhiji violated the salt law.

(35.2) Name the place of Gujarat where the peasants started
‘Satyagraha’.

(35.3) Name the State where Hirakud Dam is located.

(35.4) Name the State where Mayurbhanj Iron Ore Mines are located.
(35.5) Name the related State to Mumbai High Oil-field.

(35.6) Name the State where Salem Iron and Steel Plant is located.
(35.7) Name the State where Raja Sansi Airport is located.

(35.8) Name the place in Punjab where a Software Technology Park is
located. 1x6=6

17 P.T.O.






[OE4T)
B

[OF0]
&b

For question no. 35

”’
-
ST URA T {QGT-TT WA Tereh )
" Y
4 o e . . oy
- 1r 3 Outline Map of India (Political)
.- !
A7 M
: )
i .
{ T
g & {
":) ; b ANT4
(. \
LS RN
g N \\
. oy A
- ; pX \\" .
- 4 - ) ; 'y e -' ;{\ AN
P - A R - ¥ A
,./ Lo e "\.\‘ Vot o h /, g \_'f' o "\\'
‘. A B tal ! \' 4 & : Tv,
- L ) N L 1
,“4 2 3 Nelan oW A ?,
{ 1 i . Moy X % 3TN
i 5 ‘-“; s ~ ‘~_,.a-—"." / I.
g G A ; I iy
- - . N » o, ' - Le* o~ oA DR
N ) - A" . o 4 J
S 3 ~ el ',, 8_te %y
Ci“ @ | DR D e L O
1 L ! TR g Pl W
\ ; o Ty /—4 » N
A E 5 \ \e
'f/‘.':-A i : / ey
P ¢ ‘k"k
: - N P 3
%“ f I T "y . <J
1 - ¢ o
% ‘ R —/ \
; o Vi ,g,b“
i A /_/ (2
1 o
', Y (/"J
’\\ : % .
; \. o f }2.
Cow B g
S \\ ".'.,' ) x .C’;:
:. ° X L, J
\} L a
§ AT v .'s b
\ ,’ * t\‘
} &\ ¥
| )
¥

| .32/413]

19



- B’
‘Series JBB/5 'SET-1.
(O} 5] [=] ]
T wlienell el ITYETH & J@-I8
Roll No. R CtORNC R
Candidates must write the Code on the
title page of the answer-book.
e NOTE

(D o J9 & o o 36 T-99 | qiga
U8 17 + 1 THRH £ |

(D

Please check that this question
paper contains 17 printed pages
+ 1 Map.

(I 9399 ¥ hie 19 shi AR ST 1Y e
TR Wl B IT-YRETRT o6 JE@-I8 |
e |

(ID

Code number given on the right
hand side of the question paper
should be written on the title page of
the answer-book by the candidate.

(IID o S W o fF 30 g9 §
35 7% 7 |

(I1I)

Please check that this
paper contains 35 questions.

question

(IV) P9 5 %1 IR foren gw + 4
Ugel, IAG-UREdhl H U W1 ShHETH
v o |

(Iv)

Please write down the Serial Number
of the question in the answer-book
before attempting it.

(V) 38 999 <l 9gd o fow 15 fime =1
g o T R | UH-u & faa
w@iE H 1015 &9 Rl ST@W |
10.15 991 ¥ 10.30 S b DT had
Y9 1 YTl 3R 3H IE(Y & IH
3 IT-YIEhT W HIE IR & for@ |

V)

15 minute time has been allotted to
read this question paper. The
question paper will be distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will
read the question paper only and
will not write any answer on the
answer-book during this period.

AT fasm

SOCIAL SCIENCE

Time allowed : 3 hours

SfeHaTH 37 : 80
Maximum Marks : 80

P.T.O.




[OE4T)
B

HTHTT (3397
HETfTRET 143971 &1 Siga @raei] & 9igq iRk 37571 a&d] & 1T Hifg :

(V)

(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

J97-95 AR GUS] H G975 37 77 8 - %, @, T T g | 39 JH-97 § ¥ #H
eI 35 3 | @t 397 AT & |

GUE & 7 97 &7 1 G 20 7% 37d TG-F709 TR & 7 &, JAF 397 1 3% H7
&/

QU & I Jv7 &1 21 @ 28 TF TY-IHIT YPR & 9T &, IAF J97 3 3P FH
& | Fedeh o7 T I 80 ¥eg] § o7y |

QU T 4 Yo7 G&IT 29 @ 34 TF H-IHIT YER F I 8, JAF I 5 3F HT
& | Jei% 97 %7 I 120 vis5] 7 ol |

TUg g 4 Jv7 G&IT 35 AT SERT 8 | T8 I97 6 37F H 5, 7l 1 lasg g
(35(a) — 2 37%F) TIT YIIT (35(b) — 4 37%F) & Galea & /|

I GGG T fAGaR §iH FMeY R ard & I9YE TG AT F JAqEGT GAT
HITT |

Y97-97 7 GHT T HI3 [GHcq T8 8 | a9, o T 7 Ak fadey 13T T
g 1 08 3991 4 @ @are7 U g1 fakeq &7 I oif@w |

HIfeIT 1 37971 FTR-GIEiewT & arg 04 Hiorg |
g AR, HEAFIFATAR, Y% @IS 3N J97 & Gr9 Foiferd a9 30 70 & |

©usg <h
frafafea & & @& gufaa g 1 === i . 1
(A) e a foeAreh — S
(B) Ui —
(C) 3w Heledl — %™
(D) & TS — geat

.32/5/1 | 2



o
T

[OE4T)
B

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viit) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

1. Choose the correctly matched pair from the following : 1

(A) Otto Von Bismarck — Germany
(B) Napoleon — Spain
(C)  Giuseppe Garibaldi — France

(D)  Bourbon Kings — Italy

| .32/5/1 3 P.T.O.
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Identify the appropriate reason from the following options, for the
non-participation of industrial workers in the Civil Disobedience
Movement. 1

(A) Industrialists were close to the Congress

(B)  British offered them good salaries

(C)  They were reluctant towards the boycott of foreign goods
(D)  Growth of Socialism

3. Name the book published by Raja Ram Mohan Roy. 1
OR
Name the author of ‘Amar Jiban’. 1
4, Examine the significance of the Statue of Liberty in Frédéric Sorrieu’s
paintings, “The Dream of Worldwide Democratic and Social Republics’. 1
5. Name the two main leaders of ‘Khilafat Committee’ formed in the year
1919. 1

6. Why did the Simon Commission come to India ? Identify the correct
reason from the following options. 1

(A)  To control the campaign against the British in cities
(B)  To look into the functioning of the British
(C)  To initiate salt law in India
(D) To suggest changes in the functioning of the constitutional system
in India
7. Who invented the Printing Press ? 1
OR

Who brought the knowledge of woodblock printing technique to Italy
during the 13th century ? 1

8. Which one of the following is a private sector industry ?
(A) BHEL
(B) TISCO
(C©) OIL
(D) SAIL
9. Give one example of the main commercial crop cultivable in laterite soil. 1
OR

Give one example of the Community Owned Resources. 1

| .32/5/1 5 P.T..
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12.

13.

14.

15.

16.

17.
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gaehl ghg & fon
N SEEIR ruferd aTam
WA (feaht #)
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A | 1Y | T @IEl i FE161 ¢ 1 his Teh U FITSW |

FAfiad e 1 T8 Y, 3aN ARaT :
g TS el (.78 H.) T TS TS o Aded H g3 |
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10. Complete the following table with correct information for A and B : 1

. Temperatur
Annual Rainfall ) © .pe atu .e
. Climate required for its
Sugarcane required .
growth (in degrees)
Crop
Hot and
A-? : B-?
Humid

11. Suggest any one way to enhance pilgrimage tourism through Indian

Railways. 1
12. Suggest any one measure to promote handspun khadi in India. 1
13. Correct the following statement and rewrite it : 1

Bahujan Samaj Party (BSP) was formed under the leadership of

Mayawati.
14. Give any one example of economic development in dictatorial regimes. 1
15. Fill in the blank : 1

Castes and Caste system in modern India have undergone a great change
because

OR

The Indian Constitution provides to all individuals and communities
freedom to profess, practise and propagate any religion because

16. What percentage of reservation is given to women in local administration

in India ? 1
OR
Which institution has been created in each State of India to conduct
Panchayat and Municipal elections ? 1
17. Fill in the blank : 1

Human Development Index (HDI) level in India can be improved through

| .32/5/1 7 P.T.O.
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20.

%

qRA T ATIhT & Il o T H & HYT HT T HINT

I  ufEgs Senfieh § gur |

1. facsht s o fogeft fem @1 Seriet |

1. fofaa <or & gaT § 9Ra o 9id fova SR @ed & 31gga e |
fr= feu 7T S 9 © HE foshew w1 = hif

(A)  had IR II

(B) ohad I 3R III

(C) ohad IR III

(D)  ad III

~

H= g wem fou MU E R geshed (A) 3 wRuT (R) & &9 § fafed ferem
2 | AT ! Yfeu IR &l faehed o1 ==[ I | 1

ZEHIT (A): WG H TR fohaml ¥ A qod W 715 3R F@a @lied! 2 |

FRU(R): WISk &5k 1Y faemmd d Je= a1 ? |
faweg :

(A) (A IR (R) AT €&l & 3R (R), (A) 1 ¥&l =11 2 |

(B) (A) 3R (R) 3! W&l &, Wed (R), (A) ! HEl =411 & 2 |
(C) (A& 2, 9 (R)Teid 7 |

(D) (AT 8, W (R) €&l 2 |

Fw fiehe % ©d § FY Fofgk & ®T H §gd HH Hog W HM B 2 |
IS SHR T84 T AT IHER 7 Forelt a9l W @4 & o fou ot 38 &l
AT TSl B | T 38 5 Ifowra Aifeeh ST o W RN <Al 8 | IdHE § 39
el % T 5,000 4 7 |

S & TS RO FIEAT k1 fogeryur hifsre | 1
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18. Choose the correct statement about factors regarding globalization in

India : 1
I Improvement in transportation technology.
I1. Liberalization of foreign trade and foreign investment.

III. Favourable rules of WTO towards India in comparison to
developed countries.

Choose the correct options from the codes given below :
(A)  OnlyIandII

(B) Only I and III

(C)  Only II and III

(D) Only III

19. Given below are two statements marked as Assertion (A) and Reason (R).

Read the statements and choose the correct option. 1

Assertion (A):  The Government of India buys wheat and rice from
farmers at fair price.

Reason (R) : Public sector contributes to the economic development.
Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

20. Krishna is working in a neighboring field with very less wages. Expenses
on sudden illnesses or functions in the family are also met through loans.
The landowner charges an interest rate of 5 percent per month. At
present she owes the landowner ¥ 5,000.

Analyse the credit arrangements given above. 1

| .32/5/1 9 P.T..
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21. 9§ AW HE o YA GWehi H UL Tehal ¥ H(9d fo=m Sl IgRATG
=1 fommem ¥ forg IohR e T SieT T 2 Tase hifT | 3
22, = fau mu 3o ot ufeu 3t e = feu Tw el w1 s i 1+2=3

StEel wd hi @S B § Uil TEell i Wkl SEE! I ST TH o |
AAT-AHT THg MUHARS T H & © agadl 8 g gL, 94 H
HI-3THT =ATE UM W R A | TS @1 Hiope Gf-faret hi st e gu
3TH YR dT8d ¥, TEih $9 T AHI-GUThI & dehl & GaTh @8 I | A
TR are-feare fie 4, wtemm ufees # g | B g3 gieaest 3R eTEeri 4 4
hadl U faami &1 JER-YER R, dfcew e 988 & y9a ft @ Y | =
ghl | A SH-aqe™ ot fewe o |ehar o, 319 Ha FIfel hL Hehdl o7 | 39
TE o AA-AATR ¥ ¢ fo=m W | I8 98 99 o1 & FH 3T gH-Fahi qei
femg wleatiedi o 9 foauan-gr, Thyerars, & e R gfd-qen S€
HEl I TRt O 989 1 g3 off | A § SE-5E 989 Fell, AR Sedt a1erg
H gfeaehiatl 3R @RI o TR TE-TE % qoh TN & e I ol | F16
Y SATET AN O U5 o ©ATA 8 375 3T Sicrarel hl WINT H BT T |

(22.1) GTfHeh HHAT W g3 989 o (! Teh Yg I [Owe¥0l HIT |
(22.2) 3 wgEl ¥ fe fifgan i yftem 6t wa Hifvw |

23. “@fs guR Sfaa & smafgrd w8 17 39 sua i gl dfgd ge e | 3

Jrere
“Gf S 3 T | 9T ST § 17 38 A <l IgTevn Afgd gte hifTT | 3

24, YN R GRI HY o &7 H 33T ¢ fohdl IF FEAFG awi &1 U
HIfT | 1x3=3

25. WRA H YT TSl oHawdT shi Fehid i qUH hHIT | 3
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SECTION B
21. How were the ideas of national unity in early nineteenth century Europe
closely allied to the ideology of liberalism ? Explain. 3
22. Read the extract given below and answer the questions that follow : 1+2=3

From the early nineteenth century, there were intense debates around
religious issues. Different groups confronted the changes happening
within colonial society in different ways, and offered a variety of new
interpretations of the beliefs of different religions. Some criticised
existing practices and campaigned for reform, while others countered the
arguments of reformers. These debates were carried out in public and in
print. Printed tracts and newspapers not only spread the new ideas, but
they shaped the nature of the debate. A wider public could now
participate in these public discussions and express their views. New ideas
emerged through these clashes of opinions. This was a time of intense
controversies between social and religious reformers and the Hindu
orthodoxy over matters like widow immolation, monotheism,
Brahmanical priesthood and idolatry. In Bengal, as the debate developed,
tracts and newspapers proliferated, circulating a variety of arguments.
To reach a wider audience, the ideas were printed in the everyday,
spoken language of ordinary people.

(22.1) Analyse any one issue of intense debate around religious issues.

(22.2) Examine the role of print media in these debates.

23. “Minerals are an indispensable part of our lives.” Support this statement
with examples. 3

OR

“Minerals occur in various forms.” Support this statement with examples. 3

24. Describe any three institutional reforms taken by the Indian Government
in the field of agriculture. 1x3=3

25. Describe the nature of the Panchayati Raj system in India. 3

| .32/5/1 11 P.T.O.



26. fafaudrst = gEREISG 0§ Sfco@d o Afed & dwl ol 9uF hINT | 3
3AUAT
a1 bl grger) § &fas y=afea Ty w1 quia kit | 3
27. WM FH fohE ThR HgT o Ul &N ! HHIRA fhU BU & ? T HWT | 3
3AUAT
IYNETAT 3UR ad AT A RUMYR hl AT I} hid 3 ? T ity | 3
28. PN h &F H 37T SUSHIKI hl HH i o ohlg dH IUTH FTST | I1x3=3
@|UE T
29. T fova Fgow Sdiea | sied g8 el il fieht ol Tase HIfT | 5
STUaT
3 TRl 1 e i Ses gra feifew Fmfaret 4 avgul 9RdE sT9R W)
el i o Y Tt | 5
30. WRAE @ ST < oo fq&d i JWIfad i acl Y-3Tehideh X AT(H
hTTeh] ohl JU9 <hIFVTT | 5
3AYAT
g qNEe hl el Wedl Sl U HIT | 5
31. ‘Torifas T wree ol giiivg Shifo | WG § UoHifdes @l shl STa9aehdl
3TEWN o Y T8 il | 1+4=5
32. “TAlohdd AR shl AT TR ITHET bl SGTET el & |7 hed shl I0g hIfWT | 5
TUaT
“HArehds SgaR TR 24 % ToTe e Ius & |7 e sl T <hifsu | 5

33. “Ymr 3 meft geqgeni 3R Harsh Wl & Wi Wehal 3 | S Sitad @ fow
AT & |7 he hl ¥ Hifvu | 5
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27.

28.

29.

30.

31.

32.

33.
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Describe the elements of Belgian model for accommodating diversities. 3
OR

Describe the horizontal power sharing arrangements. 3

How do demand deposits have the essential features of money ? Explain. 3
OR

Why do lenders ask for collateral while lending ? Explain. 3

Suggest any three measures through which underemployment in

agriculture sector can be minimised. Ix3=3

SECTION C

Explain the role of Bretton Woods institutions in post-Second World War

settlement. 5
OR

Explain the ways through which British manufacturers attempted to

take over the Indian market. 5

Describe the physical and economic factors that influenced the

distribution pattern of the Indian Railways network. 5
OR

Describe the growing importance of road transport. 5

Define the term ‘Political Party’. Explain with examples, the need of

political parties in India. 1+4=5

“Democracy promotes dignity and freedom of the people.” Examine the

statement. 5
OR

“Democracy is best suited to produce better results.” Examine the

statement. 5

“Money cannot buy all the goods and services that you may need to live

well.” Explain the statement. 5
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34. = feu U GGl i gfeu 3t 319 geafod g & I fafegu - 1+2+2=5

TIa A — SveehTur 3R TR eTefegeren

IS o fova H, IUYIAT & &9 H 89 § ° $S o A Jegll 3R Faieli
foeqa faeped 2 | fava & sfivey fafmiarent g ffda fefvea o, Aemsa
®H R efifaeH o FefiMan Aied gAR ol gaw § | gUs 9Rd 6l 9ehi W
Mgt 3 ¢ Aiged 3@ S Thd 3 |

Hrd B - faesft samum iR ST 1 Uehientur

facell SR Se] TN HAT 319 9 % IHR § SRk SN H g5 %
T IcuTEeR! Rl Tk ITEH UM HAT § | IcUIesh shad 3194 <1 o ST9 | &
U IS A& 99 Hehd &, diceh (U9 o 3T <20 o o H ot Tfcqet &
Tehd § | 391 TR, gL S0 H Icaried g3l % AT § GUEER % HHE 3
G o TR ITE & 3 faehedt o1 foed® g 2 |

Hid C — =ITEETd Sveientur & fore wed

fora 3 aul 4, 98 AN IR SFETeA! % iR 7 fova SR @ %
2R 3R fraw & gefua eyt fof & wwfaa R 2 | 9% vefsfa w2
o6 Sar off =T Aot o HuY § HEwaqul iRt e |kt 7 |

(34.1) €T A — A9THRI0T TR HRATT srdfeaarean
Jodliehtul T UWTE ITHRAIST W Y fo@ms vear & 2

(34.2) &Ed B — farasft samuR 3R STSRI ST TehTaRor
forgeft SATIR ISR 1 T8 SRR Tehishd AT @ 2 T8 IV |

(34.3) &M@ C — ATIETA AYSAHIUT o ToTQ Hoe
T YRl % THY H AN hdl HEwqUl el fWTd § ? T
HIVT |
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34. Read the sources given below and answer the questions related to
them : 1+2+2=5

Source A — Globalisation and the Indian economy

As consumers in today’s world, some of us have a wide choice of goods
and services before us. The latest models of digital cameras, mobile
phones and televisions made by the leading manufacturers of the world
are within our reach. Every season, new models of automobiles can be
seen on Indian roads.

Source B — Foreign trade and integration of markets

Foreign trade creates an opportunity for the producers to reach beyond
the domestic markets, i.e., markets of their own countries. Producers can
sell their produce not only in markets located within the country but can
also compete in markets located in other countries of the world.
Similarly, for the buyers, import of goods produced in another country is
one way of expanding the choice of goods beyond what is domestically
produced.

Source C — The struggle for fair globalisation

In the past few years, massive campaigns and representation by people’s
organisations have influenced important decisions relating to trade and
investments at the WTO. This has demonstrated that people also can
play an important role in the struggle for fair globalisation.

(34.1) Source A - Globalisation and the Indian economy

How is the impact of globalisation visible on consumers ?

(34.2) Source B — Foreign trade and integration of markets

How does foreign trade integrate the markets ? Explain.

(34.3) Source C - The struggle for fair globalisation

How do people play an important role in the struggle for fair
globalisation ? Explain.

| .32/5/1 15 P.T.O.



35. (a)

(b)

&

Qs ¥

T TIH A’ AR B’ TGT T wRa W TeHiTaeh @A (I8 19 W) |
3iferd fopy T & | o TuFl 1 fEfead e s wEEd @ ggEe

3R 3Tk T A 3o fehe Wil TE T@ren w fafeu 1x2=2
(A) T8 TIM &l WA TG Hid 1 1927 H SRR Fo77 o |

(B) 9 TN &l SN Tgie i &8 o o die & ek v |

3t feu MU WRa & qeHifde taraates § Fefafeaa § 9 fet ww

I ITYH Toal | gWET 3 3k 1 fafen Ixd=4
(i) Bl —agdl oe

(i) GO — HFCAIT TS ITeh

(iii) THeE — 8T @ $9d 99

(iv) SRR — 3TTfUeeh ol TI=

(v) BHE —aMY

(vi) sfeq mieft gamg oo — AT 718 U

Fig:  HECTRIT J97 A gIRETEAT GhenieEr & 1o/ Jv7 & 35 & T T/

g/

(35.1)
(35.2)
(35.3)

(35.4)
(35.5)
(35.6)
(35.7)
(35.8)

.32/5/1 |

a5t B: Fo1 & I foifEm
39 U9 &1 9 fafge g fria f ©dt =@ 9 foeam 3 g9@amre
foram |

39 UT k1 AW fafgu g 3@ e &1 B9 & o 9 8
UehT T2 |

39 TIE H1 AW fafaw Jgf IR ¥ S0d w1 1927 § AfyayH
3T |

39 TF 1 99 TIRaT el gfeean dqg 7o @ 7 |

39 TSI 1 A fARgT 8T qo1 ArFea=k doiarsil 9reh f6d 7 |

30 T 1 AW faRau S|t wreumn enfoas St a9 feda 7 |

39 TS o1 T faReaw s&f dugps afg @ g |

TR o a8 I AT g8 I o1 719 feafay | 1x6=6
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where the Indian National Congress session was
held in 1927.

(B) The place where the Non-Cooperation Movement ended
abruptly due to violence.

(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(i) Haldia — Sea-port

(i1) Pune — Software Technology Park

(ii1) Bhilai — Iron and Steel Plant

(iv) Kakrapara — Nuclear Power Plant

(v) Hirakud — Dam

(vi) Indira Gandhi Airport — International Airport

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 35. Attempt any six questions :

(35.1) Name the State where the Indigo planters organized Satyagraha.

(35.2) Name the State where the Non-Cooperation Movement ended
abruptly due to violence.

(35.3) Name the place where the Indian National Congress session was
held in 1927.

(35.4) Name the State where Haldia sea-port is located.

(35.5) Name the State where Pune Software Technology Park is
located.

(35.6) Name the State where Kakrapara Nuclear Power Plant is
located.

(35.7) Name the State where Hirakud Dam is located.

(35.8) Name the northernmost International Airport of India. 1x6=6

17 P.T.O.
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(iii)
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(v)
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(vii)
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(ix)

o7~ AR GUEl § [T 1997 T & - &, @, TG F | 3G Jo7-97 F Jo7] Bl
qEI1 35 & | @t 3o sifAardt &

GUE & 7 97 &7 1 G 20 7% 37d TG-F709 TR & 7 &, JAF 37 1 3% F7
&/

QU & I Jv7 &1 21 @ 28 TF TY-ITIT YPR & 9T &, IAF Jo7 3 3P
8 | yi% Fo7 BT I 80 Veg] H 1o7&T |

@Ug T 4 Yo7 G&IT 29 @ 34 TH H-IHIT YER F I 8, JAF I 5 3F HT
& | FeI% 97 %7 I 120 Vgl 7 ferfee |

TGUg T 7 Y97 GEI7 35 HAET RT & | I8 J97 6 3 H7T 8, 71 1% 3lasa @
(35(a) — 2 37%F) TIT IIT (35(b) — 4 37%F) & Falda & /|

IR &l&g a97 [6gar g4 FeY SR &g & I9Yh g AT FT JUqrGHE e
HITT |

yo7-97 7 GHy T HI3 HHcq T8 8 | agid, o g 7 ke fawey 157 T
g 1 08 3991 4 @ @are7 U g1 fadkeq &7 I o7f@w |

HIfeIT 1 37971 FTR-GIEiewT & arg 04 Hiorg |
3G A, HEAFIFATAR, Y% @IS 3N J97 & G19 Foiferd [Ha9 130 70 & |

@usg <h

Fom ke % @d H HY A % FY H 9gd HH AWGH W HMH Kl @ |
A SHT US4 T AT IHaR § et a9iie W ©9 w4 & e oft 38 &
T gSdT B | YEAr 38 5 Sfdwrd ATféeh ST @ WX kT 21 § | gdHH o 3H

et % T 5,000 3 § |
S A} S SR FGEAT T fagersur hifsru | 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

1. Krishna is working in a neighboring field with very less wages. Expenses
on sudden illnesses or functions in the family are also met through loans.
The landowner charges an interest rate of 5 percent per month. At

present she owes the landowner ¥ 5,000.

Analyse the credit arrangements given above. 1

3252, 3 P.T.O.



f= @ wem fou mu E 9= gesheH (A) 3R FRW (R) & &9 # Fafea foran o
2 | el gfeu 3wt foehey w1 =m hifse |

ZEHIT (A): WA H THR fopaml ¥ A qod W 717 3R I6d @ligd! 2 |
HRU(R):  Eresiieh &eh 3nies foshrd o e oar @ |

fasey:

(A) (A3 (R) AT @&l & 3R (R), (A) T TE =8 7 |

(B) (A) 3R (R)THI T&l 7, T (R), (A) i T =& 8 2 |

(©) (A)FE R, =g (R) T4 & |

(D) (A)7Td 7, 9 (R) T&1 2 |

A H AT R0T o hehl o GaY § Hal o ol TAT i :

I ufaet Srifeh § guw |

1. focsft samur otk faesh faw =1 Sedien |

III. foonféa <ol sl gart # 9Rd o Sid fava IR §eq & fehd oM |
fr= feu 7T i 9 © HE foehew w1 = hifv

(A)  haar [ II

(B) whadt I3 II1

(C)  <haet II 3R III

(D) hadt III

TRd H T J9me 8 gigensti sl fordan gfaerd smeeror fean smar @ 2

AT

YA § T TS § J9RIa 3R TRATicteht 9A1d i @ 7w SiF-E geen o
TR ?
‘A3’ IUATE & @k T AW faRay |

ﬁ?ﬁ?ﬂ'ﬁﬁqﬁ?ﬁm:
aMYgfTeh YA | SIfd shl TEAT 3R FMid Fawe § 9 Jgard 3T=1 g Fifh
|

HAAT

I Afage gt ArTient 3R sggrRi @i fohet ff g1 &1 e 3 T=R
T I IAAE <l & Hi(h |
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2. Given below are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option. 1
Assertion (A):  The Government of India buys wheat and rice from

farmers at fair price.
Reason (R) : Public sector contributes to the economic development.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

3. Choose the correct statement about factors regarding globalization in
India : 1
I. Improvement in transportation technology.

I1. Liberalization of foreign trade and foreign investment.

III. Favourable rules of WTO towards India in comparison to
developed countries.

Choose the correct options from the codes given below :

(A)  OnlyIandII

(B)  OnlyI and III

(C)  OnlyII and III

(D)  Only III

4. What percentage of reservation is given to women in local administration

in India ? 1
OR
Which institution has been created in each State of India to conduct
Panchayat and Municipal elections ? 1
Name the author of the novel ‘Anandmath’. 1
Fill in the blank : 1
Castes and Caste system in modern India have undergone a great change
because
OR

The Indian Constitution provides to all individuals and communities
freedom to profess, practise and propagate any religion because

321502 5 P.T..
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10.

11.

12.

13.
14.

ffafaa s =1 w8 Y, e fafa
g TS 91 (1.8 H.) T TS ARSI s Aged H g3 |

frfefiaa arfereht @1 A 3R B & foiw @€t Seeeil & @ne qu Shifse

5k g & fore

ey | i e et ENEIRH FUTRFA ATHH
et (ferft #)
A-? I IR 3G B-?

YT 3 o WIEm & tef WA I 9¢H H1 hI3 Teh adiehl 13T |

ffiad 4 9 |8l guiad Sg 1 =3 HINT

(A)  3Tier afq foemmh — S

(B) ~uiferm — =

(©) SgEU Hercdl — %™

(D) &I Tl — gt

ek s 1 gfd hife

YA # A fohE gasis (TA.81.9T8.) o1 &R % Wew 9
U ST Tl 3 |

IRA T YeHT &1 ITN i TG ¢ 1 hIg Ueh qliehl ST |

AR 9TEA | af1ffes faemma 1 &I U Iergw faflan |

F= feu U faemet A @ gfoaw 191 STeiad § fenfies gfient i A-wrflerd
o 3fua s i gg=e HifSu |

(A) TNUfd HE F w9 I
(B) 3T 3 32 3T=aT I TEaTed foham
(C)  d foreeft e < wfeshr & wfd stf=ge o

(D) HHIEE &l ™
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Correct the following statement and rewrite it :

Bahujan Samaj Party (BSP) was formed under the leadership of
Mayawati.

Complete the following table with correct information for A and B :

. Temperature
Annual Rainfall . .p .
) Climate required for its
Sugarcane required .
growth (in degrees)
Crop
Hot and
A-7? . B-?
Humid

Suggest any one way to enhance pilgrimage tourism through Indian
Railways.

Choose the correctly matched pair from the following :

(A)  Otto Von Bismarck — Germany

(B) Napoleon — Spain
(C)  Giuseppe Garibaldi — France
(D)  Bourbon Kings — Italy
Fill in the blank :

Human Development Index (HDI) level in India can be improved through

Suggest any one way to promote jute textile industry in India.
Give any one example of economic development in dictatorial regimes.

Identify the appropriate reason from the following options, for the
non-participation of industrial workers in the Civil Disobedience
Movement.

(A) Industrialists were close to the Congress

(B)  British offered them good salaries

(C) They were reluctant towards the boycott of foreign goods
(D)  Growth of Socialism

o
|
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16.

17.

18.

19.

20.

TS TH AT T ¢ Tehii3rd ferdre =1 9 fafgu |
YT
‘3787 a7’ Terde o oi@eh &1 9 faflgu |

Bigh g & o Tovgeadt ySmaibes it amifses wrs w1 @ °
AT Shi IfqdT o HEwd hl W@ HIT |

qreud HHIYE YRd § =1 31 o 2 fefafaa faemedt § 9 o) SR ) vg=e
HifSu |

(A) S & foeg weU & tfRm 1 fFEfa @ & fog

(B)  3TUS % SHIHHN T &H & & aQ

(C) 9RA H 90 I hl IRH HH o foQ

(D) 9RA § FAgTeh ST i HRRiel § IRadd o g3d o o g

ffen 95 1 srifasehr forgq fopam o 2
AT

el SraTedt % SN, $ecit H Jeactich dTelt BUTE shi qehieh b1 T hid ol
T ?

fFrfafaa & @ H-a1 T 550 &5 1 3T 2 2
(A) #.TE3.Td. (BHEL)

(B) T&=RI (TISCO)

(C) 3W.3AE.TA. (OIL)

(D) ¥ (SAIL)

T YT § HiT Y& STGHTIh BEe 1 Teh ITe0 A |
ateran

T TaTiied dTet HETERT 1 s Ush 3gawl fafan |
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16.

17.

18.

19.

20.

it

Name the book published by Raja Ram Mohan Roy. 1
OR
Name the author of ‘Amar Jiban’. 1
Examine the significance of the Statue of Liberty in Frédéric Sorrieu’s
paintings, “The Dream of Worldwide Democratic and Social Republics’. 1
Why did the Simon Commission come to India ? Identify the correct
reason from the following options. 1
(A)  To control the campaign against the British in cities
(B) To look into the functioning of the British
(C)  To initiate salt law in India
(D) To suggest changes in the functioning of the constitutional system
in India
Who invented the Printing Press ? 1
OR
Who brought the knowledge of woodblock printing technique to Italy
during the 13th century ? 1
Which one of the following is a private sector industry ? 1
(A) BHEL
(B) TISCO
(C) OIL
(D) SAIL
Give one example of the main commercial crop cultivable in laterite soil. 1
OR
Give one example of the Community Owned Resources. 1
9 P.T.O.
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Qs @
21. HIEE A H Th AH{Eh IgAH hi AT TS B oh ToT B shifoepti
2RI 331U U fehegl i shedi ohl ISIPR hifvT | 1x3=3
22. = fou T 3gTor o1 ufew 3 3 i fou Tu gyl w1 3 i 1+2=3

SEel wdl hi @S B § Uit TEell i Wkl SEE! I ST TH o |
AAT-AHT THg UHARS q0e § & ©@ agadl 8 SEd gL, 9H H
-7 ST AW W w® ¥ | FD q Hise Gfg-farsi B smetre s e
3TH GUR 9780 ¥, Tl $9 T AHI-GUNh! & dehi & GaTh @ I | A
TR are-fyarg fie #, Wemm ufsers & gu | ol g2 gfciett o smee 1
shad U fomm 1 TER-gER fRa, Sfeeh 3R 988 H wea Wt 9F h | A
ghl | A H-aqe™ ot fewe o |ehar o, 319 Ha FIfel hL Hehdl o7 | 39
TE o AA-AATR ¥ ¢ fo=m W | I8 98 99 o1 & FH 3T gH-FaTehi qei
g wlearical o 9 fauargE, Thyatars, sae qodan 3 qid-qen 9
el I TRt O 989 1 g3 off | A § SE-SE 989 Fcll, AR Sedt a1eig
T gieashiatl SR STl o WRY TE-aE & dh GHIE o o AW ol | FQl
Y TG AN qoh Tga o AT § $wo 3T SeraTel hl Wi § S191 74T |

(22.1) GTfHeh HHAT W g3 989 o (! Teh Yg I fOeiv0l HINT |
(22.2) 3 9gql | e wifean &t fiewr i 7@ HivT |
23. “@fs guR Sfaa & smafgrd w8 17 39 sua i g dfgd ge e | 3

YT

“Gf S o T H 9T ST § 17 38 A <l IgTEv Afgd gite hifTT | 3

24, AT HRR G HY o &F § AT TC TR GERI 1 J0H HIT | 3

25. GHaTe i fohral oA fommwarett <1 aviw Fifve | 1x3=3

26. fafauarst = gamEIfG @ § SfcoEm & Afed & dwl 1 9ui9 KT | 3
YT

ool <l wreier § &fas y=ifeld Tsg w1 9ui hifvy | 3
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SECTION B

21. Highlight any three measures and practices that French revolutionaries
introduced to create a sense of collective identity among the French
people. Ix3=3

22. Read the extract given below and answer the questions that follow : 1+2=3

From the early nineteenth century, there were intense debates around
religious issues. Different groups confronted the changes happening
within colonial society in different ways, and offered a variety of new
interpretations of the beliefs of different religions. Some criticised
existing practices and campaigned for reform, while others countered the
arguments of reformers. These debates were carried out in public and in
print. Printed tracts and newspapers not only spread the new ideas, but
they shaped the nature of the debate. A wider public could now
participate in these public discussions and express their views. New ideas
emerged through these clashes of opinions. This was a time of intense
controversies between social and religious reformers and the Hindu
orthodoxy over matters like widow immolation, monotheism,
Brahmanical priesthood and idolatry. In Bengal, as the debate developed,
tracts and newspapers proliferated, circulating a variety of arguments.
To reach a wider audience, the ideas were printed in the everyday,
spoken language of ordinary people.

(22.1) Analyse any one issue of intense debate around religious issues.
(22.2) Examine the role of print media in these debates.

23. “Minerals are an indispensable part of our lives.” Support this statement
with examples. 3

OR
“Minerals occur in various forms.” Support this statement with examples. 3

24. Describe the technological reforms taken by the Indian Government in

the field of agriculture. 3

25. Describe any three features of federalism. 1x3=3

26. Describe the elements of Belgian model for accommodating diversities. 3
OR

Describe the horizontal power sharing arrangements. 3

3252, 11 P.T.O.



27. | FHT fohE ThR g1 o HEweUl &N ! HHIRA fhT BU & ? T KT | 3

T

SURSAT IR ¢d THY THfh KOMLR <t HITT RN Hd & ? TIE HIfT | 3

28. 3rENfed & % ARl I WU ¥ T &% AT HIg i A TS | 1x3=3
@ug N

29.  “rehas TAMTERT <l TREAT 3T AT Rl Fgrar qa1 B |V HeA H @ Hw | 5
T

“HAreha St IO 3 & foTT Te@ 3us B |7 e il @ i | 5

30. = feu MU Al 1 ufgu SR 3@ efed yw % I fafaw 1+42+2=5

HId A — gTeRuT 3TR HRAT STeeTaeaT

IS o fova ®, IUYIAT & &9 H 89 U ° $S o A9 J&gll 3R a1l
faega fasen € | fava & fivey fafmiaret g B fefvea Fm, Aema
B 3R TEAIITH o TdHad Hisd gAR folt gAY § | gU9T 9RA sl gl T
mieAT % T Hised <@ T Tohd & |

Hia B — faevit samaR 31 STARI kT UehiaiuT

et SR =i IR AT A o % TN Y e % G H 9ged 6
fTu 3cuTeehl Bl Ueh ITTET YT Hidl & | 3cdIcsh shadl 379+ <31 o ST | &
9 I & 99 Tehd B, Sfceh (99 & 37T <3 o sl § off Ifaeqet e
Thd @ | 3H YRR, gEL oIl H IcUTied SEg3Tl o TR § Wliaarl & qHey 3
FEG3T o =] IcqTET & A foeheul o1 foedr gar B |

Hid C — ~ATIETd Syttt o foru ded

forra &0 aut 4, 98 AR 3R SHETeAl & iRt 9 fave SR wea &
R 3R fraw & gefua mgwyet fof & swfaa R 2 | 98 vefsfa w2
Top St oft =IrETa Jvdieter < TuY U HEwaqul fHeet e wehdt 7 |
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28.

29.

30.

[=ligm
L]
How do demand deposits have the essential features of money ? Explain. 3
OR
Why do lenders ask for collateral while lending ? Explain. 3
Suggest any three ways to save workers of unorganized sector from
exploitation. Ix3=3
SECTION C
“Democracy promotes dignity and freedom of the people.” Examine the
statement. 5
OR
“Democracy is best suited to produce better results.” Examine the
statement. 5
Read the sources given below and answer the questions related to
them : 1+2+2=5

Source A — Globalisation and the Indian economy

As consumers in today’s world, some of us have a wide choice of goods
and services before us. The latest models of digital cameras, mobile
phones and televisions made by the leading manufacturers of the world
are within our reach. Every season, new models of automobiles can be
seen on Indian roads.

Source B — Foreign trade and integration of markets

Foreign trade creates an opportunity for the producers to reach beyond
the domestic markets, i.e., markets of their own countries. Producers can
sell their produce not only in markets located within the country but can
also compete in markets located in other countries of the world.
Similarly, for the buyers, import of goods produced in another country is
one way of expanding the choice of goods beyond what is domestically
produced.

Source C — The struggle for fair globalisation

In the past few years, massive campaigns and representation by people’s
organisations have influenced important decisions relating to trade and
investments at the WTO. This has demonstrated that people also can
play an important role in the struggle for fair globalisation.

3252, 13 P.T.O.
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32.

33.

34.

35.

%%?

(30.1) A A — STeRIUT R ARAT sTefegaeen

TSR T THTE ITHIHIST T 8 fe@ms e § 2
(30.2) &ETa B — faresft SaUR 3R START AT TehTehur

forgeft SATIR ST9RT 1 fohE SRR Tehishd whidT § 2 T8 hINT |
(30.3) HId C — =ATTETA Ayeteriur < foTu T

IRETA AvThUl & T9Y H AN Y eyl fHehl FHud § ? T

i |
“HArhad T TUTE ITHRT o @ b O THITaeh qal ol g AT ol
HTHAT T ST 8 |7 36 59 ohl 3eTeLvll Higd samedn iy | 5
YA @ I o faaor afasw 1 ywifed e ol Y-3Tehlaeh 3R Teieh
hTTeh! ohl U9 <hIFT | 5

YT
Hgh UREE <l Sed! Hedl 19U HIT | 5
gt 1 fow foshm < fow weaqut =i 7 2 v Hifvw | 5
o fova JgIok Sgied § S g8 |EHi hl YHehT Sl Tt HINT | 5
YT
3 TRl 1 R HIR Ses gra foifew Fafarst 3 avqul R I9R ®
el A b TIH ThU | 5
LCLERo]

(@) & TIM A’ 3R B fiu v wra % Tifos W@rAmtE (98 19 W) |

3ferd fopu T 2 | 39 sl w0 ffafad Sl ) ggrar 9 gg=nte

I ITh T&I AW Ieh Hebe Wik T8 Waredi | fafgu 1x2=2

(A) I% TIH 8 AAE TS Hidg H1 1927 | AR 53T o |
(B) 98 TAM W&l THINT e bl &1 o rur = § TehAT U |
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(30.1) Source A — Globalisation and the Indian economy

How is the impact of globalisation visible on consumers ?

(30.2) Source B - Foreign trade and integration of markets

How does foreign trade integrate the markets ? Explain.

(30.3) Source C — The struggle for fair globalisation

How do people play an important role in the struggle for fair
globalisation ? Explain.

“Political parties need to face certain challenges in order to remain
effective instruments of democracy.” Explain the statement with

examples. 5
Describe the physical and economic factors that influenced the
distribution pattern of the Indian Railways network. 5
OR
Describe the growing importance of road transport. 5
Why is the issue of sustainability important for development ? Explain. 5
Explain the role of Bretton Woods institutions in post-Second World War
settlement. 5
OR
Explain the ways through which British manufacturers attempted to
take over the Indian market. 5
SECTION D
(a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where the Indian National Congress session was
held in 1927.

(B) The place where the Non-Cooperation Movement ended
abruptly due to violence.

o
|



(b) 3 fou U wra % oo taiamt @ fafafaa § @ et
I ITYH gl A gty 3 3k am fafeu Ix4=4
(i) ®feean —@Hg oo
(i) YU — WFE TFTATS ek
(iii) TreTs — 8T wd sedTa |
(iv) SHIHUINT — 3T Sl JI9
(v) BNHE — MY
(vi) $feu Tieh gamg qo — STauisdid gaTs I

Fig:  FAEkiiad 3o Fac gRaraa qaanaar & 77 397 61 35 & 9 T/
g | fgl &: yol & 3¢ forfem :
(35.1) 38 Ts¥ 1 9W fafge i fid i @l @ ot forae 3 gaamwg
foram |

(35.2) 39 US¥ o 9 fafeu S8 19gaim T =l Za & wro o= 8
kT TS |

(35.3) 39 TUM 1 7 faiRgu a7 wrdla afe g w1 1927 § AfteyH
7o |

(35.4) 39 TSY o1 AW foaifaw &7 sfeqan Tl oo+ fedma 2 |

(35.5) 38 TS 1 AW foAfagu S|t qor Aited=m oIetrst uTeh Ed @ |

(35.6) 3 TSF o1 1 TIRaT ST&T HIehtamr ATfvaeh ol G fed 7 |

(35.7) 39 USA 1 AW faRaw J&T Egpe oty feda 7 |

(35.8) WA o T8 I AT §a18 o 1 AW fAfay | 1x6=6
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(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(i) Haldia — Sea-port

(i1) Pune — Software Technology Park

(ii1) Bhilai — Iron and Steel Plant

(iv) Kakrapara — Nuclear Power Plant

(v) Hirakud — Dam

(vi) Indira Gandhi Airport — International Airport

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 35. Attempt any six questions :

(35.1) Name the State where the Indigo planters organized Satyagraha.

(35.2) Name the State where the Non-Cooperation Movement ended
abruptly due to violence.

(35.3) Name the place where the Indian National Congress session was
held in 1927.

(35.4) Name the State where Haldia sea-port is located.

(35.5) Name the State where Pune Software Technology Park is
located.

(35.6) Name the State where Kakrapara Nuclear Power Plant is
located.

(35.7) Name the State where Hirakud Dam is located.

(35.8) Name the northernmost International Airport of India. 1x6=6
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HTHTT (3397
HETfTRET 14971 &1 Siga @raei] & 9igq iR 377 ad] & e HIrg :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

o7~ AR GUEl § [T 1997 T & - &, @, TG F | 37 Jo7-97 H Jo7] Bl
e 35 3 | @yt yo7 AT & |

TUE & 4 Fo7 &I 1 & 20 T 37fd TY-IF0T FBR & 97 &, F4® Jo7 1 3% F
g1

QU & I Jv7 &1 21 @ 28 TF TY-IHIT YPR & 9T &, IAF J97 3 3P FH
& | Y% Y97 &7 3R 80 Vsgl H [l |

GUE T 7 J97 &I 29 & 34 7% FH-3T0T YHR & I B, IJAH I 5 Hb FH
8 | Jed% T %7 IR 120 ree] 7 forfaw |

GUE g 7 97 G&IT 35 HIAlGT STIIRT & | I8 F97 6 37% &7 &, 7 1% Flagra
(35(a) — 2 37%F) TIT IIT (35(b) — 4 31%F) & Galea & |

I GGG T fAGaR §iH FMeY R ard & I9YE TG AT F JAqEGT GAT
FHiforg /

Jo7-97 7 GHT W HIF [FHcT T8 & | adit, FO T 7 akeE fahed 157 T
g 1 °8 ol 7§ @ @are7 vek &1 faeheq &7 3T foifew |

T #1377 IT-GIahT & qrg 09t Hitarg |

3G 3R, EVIFHATIR, JAH TGOS R Jo7 & TII JIeId 14657 13T 1T & |

WUE &
FTTRad dTferehl 1 A 3R B oh TOTT &6 SRR o &1 T T : 1
saehl gig & fer
e | e el aut SNEIRH ERIERIELIE
ki (%)
A-? I IR 3G B-?
TR YT § HiT Y& TGHTRIS BEe 1 Teh I8 A | 1
3T
TTYETReh TTHca el THTEHT 1 I3 Teh 3aTayl e | 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C — Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Complete the following table with correct information for A and B : 1
Annual Rainfall . Terr'lperatux:e
) Climate required for its
Sugarcane required .
growth (in degrees)
Crop
Hot and
A-? B-?

Humid

2. Give one example of the main commercial crop cultivable in laterite soil. 1
OR

Give one example of the Community Owned Resources. 1

32153 3 P.T.O.



(A)
(B)
(&)

(D)

fafeafigd § 9 SiF-a1 T S &9 o1 ST & 2

#t.ta.3.vd. (BHEL)
fewhl (TISCO)

3. 3718.Td. (OIL)
T (SAIL)

4.  Tufen g9 1 snfaser feraa fopam o 2

Tl YATedl % SN, 3eell § gescish dTel BUTS hl deheieh 1 [ i o=

g1 ?

5. 1930 § . «fl.3(R. ITEH g cferdl & fow o918 78 wEiyuem &1 AW

HAAAT

forRem |

6. T=faRad wua 1 w8 L, g fARaT :

g TS 9l (.78 H.) T TS ARSI o Aged H g3 |

7. F9N e % @d H HN WA %k FY H 9gd A AWGH W HM Kl @ |
A SHR US4 T AT IHaR § ThEl a9iie W T9 w4 & e oft 38 &
AT ggaT B | EET 3§ 5 iR WTfEeh ST g WKl ¢l @ | IqHH § 39

el % T 5,000 4 7 |
S & TS RO FIEAT k1 fogeryur hifsre |

321503 |

-



i
4|
EHE
=]

&
~

Which one of the following is a private sector industry ?
(A) BHEL

(B) TISCO

(C) OIL

(D) SAIL

4. Who invented the Printing Press ? 1

OR

Who brought the knowledge of woodblock printing technique to Italy
during the 13th century ? 1

5. Name the association formed by Dr. B.R. Ambedkar for Dalits in 1930. 1

6. Correct the following statement and rewrite it : 1

Bahujan Samaj Party (BSP) was formed under the leadership of

Mayawati.

7. Krishna is working in a neighboring field with very less wages. Expenses
on sudden illnesses or functions in the family are also met through loans.
The landowner charges an interest rate of 5 percent per month. At

present she owes the landowner ¥ 5,000.

Analyse the credit arrangements given above. 1

| .32/5/3] 5 P.T..
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10.

11.

12.

13.

= @ wem fou mu E 9= gesheH (A) 3R FRW (R) & &9 # fafea foran o
2 | el gfeu 3wt foehey w1 =m hifse |

ZEHIT (A): WA H THR fopaml ¥ A qod W 717 3R I6d @ligd! 2 |
RO (R):  HESIeh &5 3eies forepa o e <ar @ |

fa&ea:

(A) (A3 (R) AT 7&l § 3 (R), (A) T Tl =ame 7 |

(B) (A) 3R (R) M W&l 7, W=q (R), (A) ! Hel SATEAT T8 & |

(C) (AW 8, g (R) T & |

(D) (AT 8, W (R) €&l 2 |

WG | S0l & hIehl o TaY H Tgl HIYF ol TAF hIT :

I.  ufEed WeEnfieh § gan |

1. faesh s o fogeft frasr =1 3erieo |

1. fofaa <or & gom § 9Ra o i fova SR @ed & 31ga o |
Fra fau U e O @ @t foshed w1 T HifSu

(A)  ohad IR II

(B) hael I3 III

(C) whad II AR III

(D) e III

e oM i gfd i
YA # A fohE gaeis (T9.81.3T8.) 1 &R % Wew 9
W ST Thell 2 |

YA H ST SIGEAT Tl SEAR S h1 his Teh U YN |

YA § Tehieh 119 o IUANT ! SGIH 1 g Teh IUTH FITST |

WRA H TAF T § Aigeati i foha fasr sTRer fem S 8 2
HAUAT
YA § T TS § J9RId 3R TRATietsh! IH1d i o e ShiF-Hf geen o

TR 2
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Given below are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option. 1

Assertion (A):  The Government of India buys wheat and rice from
farmers at fair price.

Reason (R) : Public sector contributes to the economic development.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

9. Choose the correct statement about factors regarding globalization in
India : 1
I. Improvement in transportation technology.

II. Liberalization of foreign trade and foreign investment.

III. Favourable rules of WTO towards India in comparison to
developed countries.

Choose the correct options from the codes given below :
(A)  OnlyIandII

(B) Only I and III

(C)  Only II and III

(D)  Only III

10. Fill in the blank : 1
Human Development Index (HDI) level in India can be improved through

11. Suggest any one way to improve the postal system in India. 1
12. Suggest any one way to enhance the use of Natural Gas in India. 1

13. What percentage of reservation is given to women in local administration

in India ? 1
OR

Which institution has been created in each State of India to conduct

Panchayat and Municipal elections ? 1

| .32/5/3] 7 P.T..



15.

16.

17.

18.

19.

20.

T s 1 gfd i -
agfTeh YA § Sfd sl TCadT 3R F1id o § i 9gaE 7R § Hifh
|

AT

IR Fiae™ gyt arTient 3R ageri o fohell oft o 1 9o i 3R T=R
S < ATATET <A1 & TR |

Fr= feu U foeheut # 9 Gfoy 39T 3Tl § it gfHenl sl TR-wrferd
% 3fua SRV H ggEH T |

(A)  ITNULT S W Hid 9

(B) 3! 7 3% oD dad TdTferd foman

(C) o fogsht 9mM & sfgshr & Jfd Af=gs o

(D) HHISETE 1 foehm

high Ay & fog Tovgaardt St ik gl WSS w1 W@ °
TqAAT <hl T & Ag hl T@ i |

qreud HHIYE YRd § =1 31 o 2 fefafiaa faenedt § 9 o) o ) vg=e
HifSu |

(A) 3 & foeg Wl # I w1 e = & foo

(B) 37Ul % HHKS T &IH 24 & fou

(C) WA § 8% T hl IAXH HH o T

(D) 9G¥ T sya i Hrkelt § afeadd & gama ¢ & fog

TS A HIgT T ¢ Teh1ierd ferdrel =61 9 fafigu |

U
‘3787 a7’ TeordTe o Ti@eh 1 A1 fAfgu |
AETITE 9 § 37T fIehm@ =1 <Rl Ues 3ergt fafeu |
frafafea & & @& gufaa g 1 === Hif .
(A) A I foqrer — S
(B) SiforRH T
(C) =guu Wefedl — %M
(D) §& T — Zeelt
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15.

16.

17.

18.

19.
20.

[OF40]

L]
Fill in the blank : 1
Castes and Caste system in modern India have undergone a great change
because

OR
The Indian Constitution provides to all individuals and communities
freedom to profess, practise and propagate any religion because
Identify the appropriate reason from the following options, for the
non-participation of industrial workers in the Civil Disobedience
Movement. 1
(A) Industrialists were close to the Congress
(B)  British offered them good salaries
(C) They were reluctant towards the boycott of foreign goods
(D)  Growth of Socialism
Examine the significance of the Statue of Liberty in Frédéric Sorrieu’s
paintings, ‘The Dream of Worldwide Democratic and Social Republics’. 1
Why did the Simon Commission come to India ? Identify the correct
reason from the following options. 1
(A)  To control the campaign against the British in cities
(B)  To look into the functioning of the British
(C)  To initiate salt law in India
(D)  To suggest changes in the functioning of the constitutional system
in India
Name the book published by Raja Ram Mohan Roy. 1
OR

Name the author of ‘Amar Jiban’. 1
Give any one example of economic development in dictatorial regimes. 1
Choose the correctly matched pair from the following : 1

(A)  Otto Von Bismarck — Germany
(B) Napoleon — Spain
(C)  Giuseppe Garibaldi — France
(D)  Bourbon Kings — Italy

32153 9 P.T.O.
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21. UY & fomm & i & Twpfd 3 s rEm yfiek fpa yer fvR 2 stered
IMATeE! o JUAREH EHMHETE % Ted § 98 HINT | 3
22. ‘@S gOR Sfad o iR um § |7 39 e i 3gewn afgd g fifs | 3
AT
“@f S 3T T 1 9T STd § |7 39 A hi IS0 Afgd gfve I | 3
23. = fou v IgTor i ufew 3R 3Hes e fou U ywAl 1 I G 1+2=3

SHEd v I yESI | oiftieh THAll I ookt dgdl I SR TH ol |
AAAA T el T § & @ Sg@El ¥ S gy, uH
HOI-3TO AT U= T8 ¥ | F© Al WISl Qfd-Namsii 6l STer=H1 $id 8¢
I YR ATEd ¥, TEfh $S AT TUIS-JUNhI o qohl & gaTh @ o | I
TR Ae-fedng e 4, wterm ufeeh H g | B g3 GRdeist 3R TRl A 1
shad U fomml 1 TER-gER fan, Sfeeh 3R 98T h weda Wt 9F h | A
Sl | =TIk H-aggE ot feedn of Wehar o, 319 WA Wit L Tehdl AT | 39
TE o AA-Adal ¥ U fomam W | I8 98 99T o7 9 FHN 3T g -Frehi qen
g wleanical o o9 fauargE, Thyatars, Sa qoan iR qid-qen 9
HEl I ARt a9 o] A1 g3 off | A H HE-99 959 T, TR Tl daG
T gREqeRIst 3R SR % JNY TE-ME & qeh IS o s M TR | TG
Y TG AN qoh Tga o AT § $wa 3T Serael hl Wil § S1a1 74T |

(23.1) wfifer Foe W g 99 & fopel T g 1 foverwor Hifw |
(23.2) 31 wgdl | Tiie wfifean 61 yfiewr i w@ Hif |

24, 9WRA § T I g i fohegl o fomwansti 1 Seor@ hifv | 1x3=3

25. YA ® gudre 6l forgl 9 foRiwarst =1 Scag iy | 1x3=3

26. HIT T fohE TR HET o AEwIY0l AI&UN i EHTIGd [T BT & ? T hIT | 3
HAUAT

IYREIAT IUR od THI FHeh RUMLR hl HIT T HLd & ? T HINT | 3
321513 | 10
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SECTION B

21. How did culture play an important role in creating the idea of the
nation ? Explain in the context of European Romanticism of the

nineteenth century. 3
22. “Minerals are an indispensable part of our lives.” Support this statement
with examples. 3
OR
“Minerals occur in various forms.” Support this statement with examples. 3
23. Read the extract given below and answer the questions that follow : 1+2=3

From the early nineteenth century, there were intense debates around
religious issues. Different groups confronted the changes happening
within colonial society in different ways, and offered a variety of new
interpretations of the beliefs of different religions. Some criticised
existing practices and campaigned for reform, while others countered the
arguments of reformers. These debates were carried out in public and in
print. Printed tracts and newspapers not only spread the new ideas, but
they shaped the nature of the debate. A wider public could now
participate in these public discussions and express their views. New ideas
emerged through these clashes of opinions. This was a time of intense
controversies between social and religious reformers and the Hindu
orthodoxy over matters like widow immolation, monotheism,
Brahmanical priesthood and idolatry. In Bengal, as the debate developed,
tracts and newspapers proliferated, circulating a variety of arguments.
To reach a wider audience, the ideas were printed in the everyday,
spoken language of ordinary people.

(23.1) Analyse any one issue of intense debate around religious issues.

(23.2) Examine the role of print media in these debates.

24, State any three features of Rabi cropping season in India. Ix3=3

25. State any three key features of federalism in India. Ix3=3

26. How do demand deposits have the essential features of money ? Explain. 3
OR

Why do lenders ask for collateral while lending ? Explain. 3

32153 11 P.T.O.



27. Tafauast = gamnfa @ § sSfcsam & Afed & dwl &1 9uiH hif | 3
HAAAT
g1 bl grger) 1 &fas y=afad Taeg &1 9uF ki | 3

28. HEd TW W A &7 hl gad o8 o-H o T HiE dH U™
IR I1x3=3

Que T

29. = feuw U Edi W ufeu 3t 319 gefid gt & I fafgu 1+2+2=5
HId A — FTeRT 3TR HRAT STeTaeaT

IS o fova ®, IUYIAT & &9 H 89 U ° $S o A9 J&gall 3R a1l
foeqa faeped 2 | fava o sfivey fafmiarst g i fefea oM, A
% 3R efifasH & iy ufsa AR fofe oy & | g0 9Rd i Tgh W
MfSAT & ¢ Aied <@ ST Hehd B |

A B - faesht SR iR SRl w1 ehie

facell SR Se] STHR AT, 319 ¥ % IWRI ¥ S8 %k SN H qged %
T IcuTEeR! Rl Tk TG UM KAl § | IHTCHh had 394 < o S0 | &l
U 3ICUTE T8I 99 Hehd &, diceh (U9 o 3T <20 o I H ot Tt &t
Thd @ | 3H YRR, gEL oIl H IcUTied SEg3Tl o TR § Wliaarl & qHey 3
A o T ScuTed o I farehedl w1 forear gian ? |

|d C — "ATAEIA Jytehiul o foTe s

fora 3 auil 4, S AN IR TSl o AT = fova SR §eq &
=R iR Faw & gefa mewaget ol & gwfaa e 2 | 97 wefsia e 2
fop Sar off =T JvefieRtor o Hud § HEwaqul iRt T ekt 2 |
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27. Describe the elements of Belgian model for accommodating diversities. 3

OR
Describe the horizontal power sharing arrangements. 3
28. Suggest any three ways to improve the condition of the public sector at
grassroot level. Ix3=3
SECTION C
29. Read the sources given below and answer the questions related to
them : 1+2+2=5

Source A — Globalisation and the Indian economy

As consumers in today’s world, some of us have a wide choice of goods
and services before us. The latest models of digital cameras, mobile
phones and televisions made by the leading manufacturers of the world
are within our reach. Every season, new models of automobiles can be
seen on Indian roads.

Source B - Foreign trade and integration of markets

Foreign trade creates an opportunity for the producers to reach beyond
the domestic markets, i.e., markets of their own countries. Producers can
sell their produce not only in markets located within the country but can
also compete in markets located in other countries of the world.
Similarly, for the buyers, import of goods produced in another country is
one way of expanding the choice of goods beyond what is domestically
produced.

Source C — The struggle for fair globalisation

In the past few years, massive campaigns and representation by people’s
organisations have influenced important decisions relating to trade and
investments at the WTO. This has demonstrated that people also can
play an important role in the struggle for fair globalisation.

32153 13 P.T.O.



30.

31.

32.

33.

34.

35.

%%?
(29.1) A A — AYATRITT R HRATT refegaeen
STATRTTT ST YT IUHRRIS W Hy fogrs st & 2
(29.2) € B — faevit saMUR A IR A1 TehTemtor
forgeft SATIR STSRT 1 T8 SRR Tehishd LAl § ? T8 IV |
(29.3) & C — ATTETA A9 1eh0T o foru wod
IRETA AvThUl & T9Y H AN Y eyl fHehl FHud § ? T
sifo |
TRA 1@ T o I Sideq &l THTfed i aTel Y-3Tehideh 3R 3T
hTTeh! ohl U <HIFT | 5
YT
g Uiag sl gl Wedl i avid HifT | 5
“HArehaa H TSR g U Hew@qul iR v € 17 wem i i s
afga ST | 5
fodar fova Fgior Seea | sied g8 eI hl et S T8 HITVT | 5
YT
3 alieni hl =T Hife fes g feifewr fmfaret 7 vl wRd 99k ™
HesTl i o YA TohU | 5
“fafire o o foeeE o fofie @e 81 8 17 39 U o W i | 5
TR ATTIERT <hl AT TR TSI sl dgaiedi g | wH H w@ hiw | 5
YT
“HArehds SgaR TR 24 % ToTe e Ius ] |7 e sl g <hifu | 5
Qs 9
(@) & TH ‘A’ 3R ‘B’ fgu U wRa W TeHifas W-AERE (I8 19 W) |
3iferd fopT 7T 2 | 3 Tl o1 Fefafigd Seeer) < w'rd 9 qgENe
IR 3T TE T 3h Hehe Wi 12 T@ren w fkay - 1x2=2

(A) I% TIH 8 AAE TS Hidg H1 1927 | AR 53T o |
(B) 98 TAM W&l TGN et bl &1 o ST sfig § Ueha1 ST |
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30.

31.

32.

33.

34.

35.

32153 15 P.T.O.

(29.1) Source A — Globalisation and the Indian economy

How is the impact of globalisation visible on consumers ?

(29.2) Source B — Foreign trade and integration of markets

How does foreign trade integrate the markets ? Explain.

(29.3) Source C — The struggle for fair globalisation

How do people play an important role in the struggle for fair
globalisation ? Explain.

Describe the physical and economic factors that influenced the

distribution pattern of the Indian Railways network. 5
OR
Describe the growing importance of road transport. 5
“Political parties play an important role in democracy.” Support the
statement with examples. 5
Explain the role of Bretton Woods institutions in post-Second World War
settlement. 5
OR
Explain the ways through which British manufacturers attempted to
take over the Indian market. 5
“Different people have different goals of development.” Explain the
statement. 5
“Democracy promotes dignity and freedom of the people.” Examine the
statement. 5
OR
“Democracy is best suited to produce better results.” Examine the
statement. 5
SECTION D
(a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where the Indian National Congress session was
held in 1927.

(B) The place where the Non-Cooperation Movement ended
abruptly due to violence.

o
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(b) 3E fou U WA & TG War-uetas | FefaRea @ 9 fet ww
I ITH Rl | gEIisy 3R Ik 19 faRaw Ixd=4
(i) ®feqan — wHgt o=
(i) YU — WFE TFTATS ek
(i) Toremms — =ier vd sedrd i
(iv) HTHUIRT — 3ATf0I Foll T
(v) BNHE — MY
(vi) $feu Tieh gamg qo — STauisdid gaTs I

Fie:  HElad Jv7 9 g gheniaal & /g 7 691 35 F T W/
g | gl &: 3991 & 3 fo7r@ -
(35.1) 39 US¥ 1 W fdAfgu i@l fid hl @dl w1 I fora il 9 gaang
femam |

(35.2) 39 US¥ o 9 fafgu S@f 19gaim T i Za & wro = 8
b1 ST |

(35.3) 3T TN 1 AW fARGu &l YR T H0E &1 1927 H AfGayH
BT |

(35.4) 38 TSI &1 AW TG 8T glegan Fqg 9o+ &@ 7 |

(35.5) 3 TSY o1 A fARGW &7 YOI | SFTaisi uTeh fed 3 |

(35.6) 3T T=T o AW TARGT &7 U A1fvaeh Soft & fed 7 |

(35.7) 3 TSY 1 AW faIRaT &l g afyg fe3d 7 |

(35.8) YA o TH Il I=AUST BATS U bl A fARGU | 1x6=6
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(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(i) Haldia — Sea-port

(i1) Pune — Software Technology Park

(ii1) Bhilai — Iron and Steel Plant

(iv) Kakrapara — Nuclear Power Plant

(v) Hirakud — Dam

(vi) Indira Gandhi Airport — International Airport

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 35. Attempt any six questions :

(35.1) Name the State where the Indigo planters organized Satyagraha.

(35.2) Name the State where the Non-Cooperation Movement ended
abruptly due to violence.

(35.3) Name the place where the Indian National Congress session was
held in 1927.

(35.4) Name the State where Haldia sea-port is located.

(35.5) Name the State where Pune Software Technology Park is
located.

(35.6) Name the State where Kakrapara Nuclear Power Plant is
located.

(35.7) Name the State where Hirakud Dam is located.

(35.8) Name the northernmost International Airport of India. 1x6=6

17






[OE4T)
B

[OF0]
&b

For question no. 35

- /"d\
\‘-
(_‘ 'y
- - -
iy Lo
7
~
3
i
\
1 :
~) s
ps e b o
r) \
; 3
- -\
7 5\ f
e ]
Pt L
i '
p g
7 '
.,"x..- <
s
{ h
f .
" o
- ’
\. "4
‘ - 1ta,
£ ! s\
g b - )

n -\
e '.’-vl ()
'y o ;{;\/\
. s t
\vLJ oo ‘. /
’ S e N
\f,\...‘t [/ v . ,-\,
R 7. 14 <L
P2 < 4 ~
RS TR PO % !
- o Ui Y T '
v TN~ F -
- 1 4 ~*¢
- S SR S T 3
4 - v s /
0! | g
-. g, ¢ !
v =y A Ny
A D Co= )
> o f 359
? §\_ - 1
- ] (e \

WA o1 {ET-UHE (Wi )
Outline Map of India (Political)

.l
1
o
?
ias
. ¥
8]
o
.. 1
-
&x

321503

19



